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"The Struggle you're in Today will definitely develop the strength you need for Tomorrow.

A. SIVAMOORTHY, Government High School, Perumbakkam, Villupuram District.
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MESSAGE TO TEACHERS

First and foremost I would like to express my

who took much effort so

hearty gratitude to all th@maths handling teachers

to bring the SSLC public
result in the 10th Place in State Level last year.

I am very happy to here that more than 85% of
the question were asked only from our District Level
Maths Material and more over the question papers
used for the preparatory through out the Academic
Year 2023-24 were more helpful for the students to

show their victory without any hindrance.

I need the same kind of co-operation cent percent
from the teachers’ side in this academic year too. In
my point of view a dedicated and service minded
teacher is always blessed by the God ever. Hence
the teachers are asked to devote more time for the
upliftment of poor rural pupils as education is the

process of acquiring knowledge and skills.
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This material has been prepared in accordance with The TamilNadu
Government State Board Syllabus. I am very happy to inform you that by practicing
all the problems in this material thoroughly will definitely make the students to
score more than 60 percentage of marks in Mathematics in the Public Examination.
I am in a position to express my hearty gratitude to our respected CEO Sir and
DEO Madam for having encouraged my serious attempt to prepare this material

for the welfare of the students. Constructive criticisms and valuable suggestions

are always welcome.

A. SIVAMOORTHY,
Government High School,
Perumbakkam,

Villupuram District.
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6\LDMSHS LDSILIGWIEOTEH6IT 10 20 50 16
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y |2 |3]|4]6]|8]|12 26
24—
2. wrmur(:
EAYINELICY i
20
3. &werur(): i
xy=k
xy=12x2=24 i
xy =24 i
it
4. yereflser:
(12,2), (8,3), (6,4), (4,6). 3,8), ]
(2, 12) i
5. grey: i :
suenTLLSFeIBhbs! i i
i) x=23etexlled, y =8 2 E
i) y =6 eteviled, x =4 oF 0 0 0 0 A A i i B
X A et AR S ol R R AR, S P
Y’
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Stage - 1
EER

7. y= %x ereorp Cuflw FweturL g6 /FriLiler euenruLLd euenrweayw. allflgsn wrifleflenw ewLwrerd

sewt(h), T aumTLLFILer sfluriss. Cueib (i) x =9 erafled y @& srewts. (ii) y = 7.5 erefled x
5 STEWTS,

giray: 1. S| L euenewr:
X 2 4 6
y 1 2 3 4 5 6 7 8

o0
—
[e)
—
\®]
—
N
—
[@))

2.  wrmur(: L4
Crirormun® 10 o
. x-21§860 — 1 Qg8 — 1 Zjev8
3. &werur(): 9 V-2i5860 — 1 Q.18 — | sjeve
y = kx, o]
i B B S R e A B
vl -
x 2
1 6
= —X
YT s
4 ereflg:err: 4] 5 v o
. 4 : Gl

(2,1),(4,2),(6,3),(8,4),(10,5),
(10, 5), (12, 6), (14, 7), (16, 8)

)
|

5. diray:
auenTUL_SHedHhg! I
i) x=9 etetfled, y =4.5
i) y=71.5, eteeled x = 15 XEBLE 5 3 8 4 b e i Y

A

8. @m Gsriyew Blriug GCsemeauwmer
Gyrusaflar aavtenflaamsuyn mal aHSss Osmerenwd Crrepw UeTamw I L cuememruiled
Qar(ssLuL(heTerg.

| @rusefler erentenflsans (x) 2 3 6 9
| 105315 Qamerenwd Cryw (Y) Blbl_Eisefled 45 30 15 10
CuHaETEmIDd FSTa|SHEHSHE aIMTULLD aleThHIl, 46
() 5 @yrisemer uwaTLu(HSSleTTed, QST I BIFOL 44
(5815 CarateriiuL CrrSamags srewrs. B ;:::::::Szfi?'i units
(ii) 9 Pfl_risefled QFmL 1q BlybLilermed, i
vweTUHSSULL L Griseflet z::
eTewTeuuflGensens: SrewTs. e
Siap: 1. S| Leuenevr: :z_
Gpmuigeest e
cTeseTeseTS6ma: (X) 21305169110 a2
61(0 & 3150\ EmeTEHLD % |
Cpid (1) BiB-60 4513018 15|10 9 z(z):
2. wryur@®: edimommun@ 18
3. swerur(: 16
xy=k 14
xy=2x45=90 12
xy =90 hh
4. yereflsenr: iR
(2,45), (3, 30), (5, 18), (6, 15), (9, 10), (10,9)  °7 |
5. Sirey: - ]
1) 5 @pnisener LwaTL(OSSlenTed, QHm g | |
Blirbu e1(05818 GlsemenLd sreowd = 18 X'Y? bzt b did 6T 8 4 1pfripiX
Blfl_Eiger. Stema

1) 9 Bi_misefed Qs L. BlbLilesmed, LwWSTLHSSILL L Grussher srewtenisans = 10 @priser
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10 Spib QuGLIL - Hewflgd (14]

9. e ueteflurerg), GMILLLL Heo CurLi1gsEH&E, Uflas CgTansullener eredeor LEICHHLITETITSEHSHEGL
Uereuporm swiwors Ufl5s eupri@agns aq;ﬁlaﬂaaﬁl;ggg

umGsnHurerirsefler srewrenflsams (X) 4 6 8 10

eeaieur@m uEGspHurerflear Qgrens X (1) 180 90 60 45 36

(i) ellflz&w wrrfleflenws srewts.

(ii) Cupsreyid FTOHEHHES amTULL aamrbgl, 12 uRCsHuUTTHT LECSHSFS CSHTERTLTed
saiGleur@p LEGsHuTeT@BL QUMD Lflsd CFZTMS aTalame] TRTLMSS HTERTS.

giray: 1. S| L cuenever: B s
uriGapLrenitaefiles . e I

emiteméane (x) 214|168 |10]12 iz_
elQeun(m LRIGsHLIT 160
?nmm Q;:m_’ . 5) 180( 90 | 60 | 45 | 36 [30 | ]
2. wrmur: =
EAMYINELICY (.;% ZZ:

3. &swerur(: E j0-

xy=k E 100
xy =2 % 180 = 360 P
xy =360 :g i
4. L|6fl'67ﬂ56fl‘: % 60—
(2, 180), (4, 90), (6, 60), (8, 45), (10, 36), (T2, 30) & 5o+
5 drey: ke
i) el whed k = 360 it
i) 12 umGanuneriser LEIGC&HSSHS C\HMETTL_T6D, 10
@@an@ uréj@&gburrﬁn@Lb ngjlb u'ﬂﬁg’ X1 (? I N I
Ogrens < 30 Y

10. Gumpng Bleweowd HHCH 2 ater Y FHST EUTSHETLD oAl e
BmiSsIsl_$3led QupLILBHIL S L ewrg CFrens LeTaimomm):

Cryib (wewflulled) (x) 4 8 12 24
sLLewrg Qgrens X () 60 120 180 360
QupLLIL S L ewrs CFrensrarg aursard BImssuubw Crrsdlng Chir wrmur_iq.ed 2 eTeTg
3|6060F)] T\ LOTMILIML_Iq.60 2_6TETSIT 6TRT TS, QST(HSSLILL L ST HmeT UL SS6d GnlsaayL.
Gueyd, () BimiSsOw Crrw 6 wewfl arafled, sLLamrsosransamwus srewrs. (i) T150 » sLLwrs
Qgremsunsé Ceiss) BwmbsTed, BMSsuULL Crrsdler siereneas srewrs.

girey: 1. o1 cusmenr: sl o T
Gryd (wewfulled) (x) 4 | 6 | 8 [ 10| 12| 24 P

sLLemis Qgrens T () | 60 | 90 [ 120 [ 150 [ 180|360 | 1]

’60)

300

2.  wrmur(: e
Crimormur® Sy@Lb. e
3. swerur(: ZZ:
y= kx £ 200
Y 60 8180
LTl =
y= 15x L
4. yereflser: izz_
s f;', 60), (6, 90), (8, 120), (10, 150), (12, 180), (24, 320) i
. drey: i
1) Bnussiu@w Crrw 6 we ereev, jz_
s L ew1s Cgrens = 90. 20-
i) T 150 g s Lew15 Qnenswns Cleas5H DmboTed, < SEEEEE BN SRR R
@nggul_";l_ @Eﬂ'gﬁsﬁ é.lm@_l — 10 LDGUUﬂ GEITL'D, XY, A5 L SRR L R 105"13‘.6 1416 718720 2212426
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

&

1. LMOYSGHID SiTiiLISGmLD

2 B WICLIGHISH 6T

1.

AxB={3,2),(3,4),(5,2), (5, 4)} eresfled

A wpmb B-gy srewis. (e&11.20 ) (@y5.22 )
gijey:

AxB={@3,2),3,4),(5,2),(5,4)}

A=1{4 x B -Wl&r pged 2 wsblgneneoe,

2 miLiLsefent sewtid }. etevrGeu A = {3, 5}
B = {4 x B -ulles1 @rewiLnd o wiS5blgnenevey

2 mitiysefest sewid | . etesiGeu B = {2, 4}
A= (3,5} wpmub B = {2, 4}
Hereumeucreunnfling 4 X B, A X A wHmd
B x A @& srewis.
i) A={2, -2, 3} wpmd B = {1, —4}
i)A=B=1{p,q} ii)A={m,n};;B=0

girey:
i) AxB ={2,-2,3}x{1,-4}
= {(2’ 1)9 (29 _4): (_2v 1)7 (_29 ‘4)3
G, D, G4}
AxA ={2,-2,3} x{2,-2,3}
= {(2a 2)a(25 72)5(27 3)7(725 2)3(72a 72)’
(_23 3)5(37 2)9(39 _2)9 (3a 3)}
BxA ={1,-4} x{2,-2,3}
= {(1’ 2)’ (1: _2)7 (19 3): (_47 2)a
(—4,-2), (-4, 3)}
i) A=B = ip.g)
AxB = {p,q} *{p,q}
= {@.p), . 9.(q,p). (g .9)}
AxA4 = {p.q} *p,q}
= {.p). . 9. (4. )9 .9)}
BxA4 = {p,q} * {p,q;
= {@.p), . 9).(q.p). (q.9)}
iii) A={m,n},B=0
AxB = {(mn)x{}={}
Ax4 = {(m,n)} > {m,n}
= {(m, m), (m, n), (n, m), (n, n)}
_____ Brd T Adxwmml
3. A={1,2,3} womw B = {x|x ererug 10 -z

afl_é& Al usr erewt} eTafled, 4 X B wHmjbd
B x A gyflwaihenns smevwrs.
giey:

A={1,2,3}, B={2,3,5,7}

AxB= {123} x {2,3,5,7}

|

= {(1,2), (1, 3), (L, 5),(1,7),(2,2),
(2,3),(2,5),(2,7),3,2),(3,3),
(3,5), (3,1}
BxA= 123,57 x{1,2, 3}
= {2, 1),(2,2),(2,3),3, 1,3, 2),
(3,3),(5,1),(5,2), (5, 3), (7, 1),
(7,2),(7,3)}

B x4 ={(-2, 3), (-2, 4), (0, 3), (0, 4), 3, 3),
3, 4)} erefled, 4 wHMID B YHweuHenms
STERTS.
A = {B x A-uilesr @revsL_meug
SHUWSOFTEN6V6| 2 MILIL|S6T6T SHevoTLd §
eteorGeu, 4 = {3, 4}
B = {Bx4-ulevt (pged 15 Clgnenevey
2 mLIL|Seflest SHewrid |
etei@eu, B = {-2, 0, 3}
ste0iGeu, A = (3,4}, B= {-2, 0,3}

. UL§Zled s LUl (heTer (LULID) SBL&ESM

uLionerg P womis O SewTEISEHSST6T
2_peneus GHlsHarnsl. D65 2 neeal
p Q

(i) sewr sL_LewLIL (penm

(ii) uLigwed wenmaefled eT(psIs.

(iii) R-er UL WHMID aIFFH5mBEH
STE0TS.

R uilevt S6w01 HL_L_6mLOLIL (LPEDMD
=iy |y=x-2,xeP,yeQj

R ullest LiL"1qu160 (Lpewm
=1(5,3),(6,4),(7,5)}

R Wllest wdliiusid = {5, 6, 7} woHmIbd
R Wevt ef&gabd = {3, 4, 5}

X=1{1,2,3,4}, Y=1{2,4, 6,8, 10} wpmb
R ={1,2), 2,9, (3, 6), (4, 8)} ererfled, R
SOTG R FTTY eTerd ST_(hs. GCueyd
SIF&T LIILILSD, Flenewr WLIILILSLD LHMILD
al5es5m36 SrewTs.

X R Y
2

l;‘
’8
10
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10 Spib uGLIL - Semfigid 161
S
UL 5860 R @lsasLiLL (HeTeng. 10. f erevrm &Y f(x) = 3 — 2x T UHTWMISSHLI

eeubleun(h x € X-&@ 1, 6T e v € ¥ 2_miiiy
LW SlewL_sSmg,.

e16uG6u X~ 63T 676060 2 MILIL|SHEHEHGLD V-60
@G e Hlped 2_(1F 2_aTeng).

61651Geu R- L6818 62(1H FIMTL| h(GLD.
wdliusw X = {1, 2, 3,4}

glemevet s Y= {2,4,6,8, 10}
eS&sabd =12, 4, 6, 8}

7. A={1,2,3,4,..., 45} wHpmid R eTestm 2_mey
“A-wler 1831, e erewTenfledt QS eTewr
QuETWMIHSILLLTed R -g5 AxA-ullest
2 L SenTions e1(pgls. Cuoad R-&smer
wIHILSSHSWLD, TFEESMHSULD STRTs.
A=1{1,2,3,....,45}

R={(1,1),(2,4),(3,9), (4, 16),(5,25),(6,36)}
R oyevigl (4 x A) ullest 2 L sewid eTevLIg)
Qgefeurdlng,. |:
wdiusn = {1,2,3,4,5, 6}
Sssan = {1,4,9, 16,25, 36}

8. R erevrm e 2-mey {(x,y)/y=x+3,xe{0,1,
2,3, 4, 5}} etenrs Qar(ssUuL(heterg e
wlussmsuw alFess5mIULD semrnfls.
x=10,1,2,3,4,5}

) =y=x+3

A0) =3 A1) =4 2) =5;

£3)=6:fi4) =T: 5)=8
~R=1(0,3),(1,4),(2,5),3,6),(4,7), (5, 8)}
wdliusw = {0, 1, 2, 3,4, 5}

Ssemb = {3,4,5,6,7,8)

9. Qem@&suuLLL &miy f : x — x> — 5x +
6, erafleo, (i) fi-l) (ii) f2) pFueupep
walif@Hs.

Qrig x> x*-5x+6
=>Ax)=x*-5x+6

i) A1) =1 -5-1)+6

= 1+5+6
=12

ii) f2) = (2 -5(22)+6

=4-10+6
=0

u@®&msl. fix?) = (fix))’ erafled x ;& smewis.
fix)=3-2x
Qar®&suL (Haterg) fx*) = [f(x)]?
3-202 = [3- 2P
= 3-2x =9+4x>—12x
3-2x*-9—-4x*+12x =0
= —6x*+12x—-6=0+-6
X-2x+1=0
-1 (x-1)=0=x=1,1

. A=1{1,2,3,4} wmd B =N eretirs.
Guepid f: 4 — B e flix) = x° eteor
aueTunSEsILHEInG erefled, (i) 1 -uller
alfess5mazs srenrs. (i) [ aalams ey
TGOS SITCITS.

A=1{1,2,3,4,B=N
fiA— B, flx)=x°
AD=P=1  A2)=@2)=8;
fB3)=0B)Y =27, fi4)=4)y =064
i) eSesan={1,8,27, 64}
i) ef&gaLb # glemewwt L ILIGLD 6TETLIGTED
B3l @ 2-61 &1L HGD.
5 WwIILIEIH6T

1. A={1,3,5), B={2,3} ereslled
(i) 4% Buwpmw B x 4 - srewrs.
(ii) 4 x B =B x A gy@wr? Bedeneolesfled

eTeuT?
(iiii) n(4 % B) = n(B x A) = n(4) x n(B) eremré;
s ([H\&.
gijey:

QanssLiu’ (ereng: 4= {1, 3,5}, B= {2, 3}
i) AxB={1,3,5} x{2x3)
=1{(1,2),(1,3),(3,2),(3,3),(5,2),(5,3)}
e (1)
BxA=1{2x3}x{1,3,5)
={2,1),(2,3),(2,5),G,1),3,3),3,5)}
— ()
ii) (1) wmHmid (2)-6v1 epeoons 4 X B# B < A
e0eseriled (1, 2) # (2, 1) wHmiLd
(1,3)# (3, ...
iii) n(4) = 3; n(B) =2
(1) wHmibd (2)-eSlmbel Brd srewrLg),
nAxB) =nBxA)=6;
n(A) xn(B)=3x2=6
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

25Ceu, n(4 x B)= n(B x A)
= n(4) x n(B)

2. A={xeN|1<x<4},B={xeW 0<x<2}
wpmiwd C = {xe N | x < 3} erers.
(i) AxBUO)=A*xB)U(Ax*C()
(i) A x (BN C)=(4 x B)n (4 x C)
aTeTLeTaUDDE SFFlLITTSHS.
gier:
A={xeN|1<x<4}=1{2, 3},
B={xeW|0<x<2}={0,1},
C={xeN|x<3}={1,2}
i) Ax(BUC=Ax*xB)udxC()
BuC ={0,1} U {1,2}=1{0,1,2}
Ax(BuUC) ={2,3} x{0,1,2}
= 12,00, 2, 1), (2,2),(3,0), 3, 1), 3, 2)}

—- (1)

AxB = {2,3} x{0, 1}
=(2,0),(2,1),(3,0), 3, 1)}

AxC =1{2,3}x{1,2}

={2,1),(2,2),3,1),3,2)}
(AXB)u (AxC)={(2,0),(2,1),(3,0),(3,1) }u
{(2.,1),(2,2), 3, 1),(3,2)}
=1{(2,0),(2,1),(2,2),(3,0), (3, 1),(3,2)}
— )
=@
DAX(BUC)=(A4*xB)u (4 xC) etetiug
gfunfssiuL L g).

i) AX(BAC)=UxB)N(AxC)
BAC=1{0,1}~{1,2} = {1}
AX(BAC) = (2,3 x{1}
- {2, 1), 3, )} e (1)
AxB = {2,3} x {0, 1}
=1{(2,0),(2,1),(3,0), 3, 1)}
AxC=1{2,3Vx (1,2}
={2,1),2,2),3,1),3,2)}
(AxB) N (A*C) = {(2,0), (2, 1),(3,0), (3, 1)}
{2,1),2,2),3,1),3,2)}
={2, 1,3, 1} - (2)
(H=(2)
JAXBNO)=AXB)Nn(AxC)
eTevTLIg) SRUMTSSLILL L g).

3. A=1{56},B={4,5,6},C=15, 6,7}, erefled
AxA=(BxB)n(CxC) etenns sr_(Hs.

Siey:
A=1{5,6},B=1{4,5,6},C=1{5,6,7}
LHS:
AxA = {56} % {5,6)
= {(55 5)7 (5’ 6)5 (6’ 5)5 (65 6)} T (1)
RHS: (BxB)(Cx C)
BxB = {4,5,6} x {4,5,6)
{4, 4, 4, 5), 4, 6), (5, 4), (5, 5),
(5, 6), (6, 4), (6,5), (6, 6)}
CxC = {5,6,7) % {5,6,7)
= {(5,5),(5,6),(5,7), (6, 5), (6, 6),
(6,7),(7,5),(7,6), (7,7}
L(BXB)N (CxC)={(5,5), (5, 6), (6, 5), (6,6)}
—Q)

- (1) b (2) eSmig LHS = RHS.

4. A={1,2,3}, B={2,3, 5}, C = {3, 4} wopmid
D =1{1, 3, 5} etefled (4 N C) x (B N D) =
(A4 x B) n (C x D) etatLig) 2 emTenowm 6Teur
Gengdlssab.
giiey:
AnC=1{1,2,3} n{3,4}
AN C={3}
BAnD=1{2,3,5} n{1,3,5}
BnD={3,5}
(ANnC)x(BND) ={3} x{3,5}
={3,3).6,%} -1
AxB = {1,2,3} x{2,3,5}
{(1,2), (1, 3), (1,5), (2, 2), (2, 3),
(2,5),(3,2),(3,3),3,5)}
CxD = {3,4} x {1,3,5}
= {3, 1),3,3),(3,5),(4,1),(4,3),(4,5)}
AxB)n(CxD)={3,3),3,5} (2
(1) oHmibd (2) swibd.
AN C)yx(BND)=A*xB)n(CxD)

eTeuTLIG FRLMTSSLILIL L g).

5. A={xeW|x<2},B={xeN|1<x <4}
womww C = {3, 5} aafled, SCp CarH S
UL (heTer gwaTUT(Hisemers sflUnyss.

(i) AxBUO=A*xB)u(dxC()

(i) AXx(BNC)=(4xB)~(Ax C)
(iii) (4 U B) x C= (4 x C) U (B % C)

giey:

A={xeW/x<2}=>4=1{0,1}
B={xeN/l<x<4

= B=1{2,3,4};C=1{3,5)
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i) AxBuUO)=AxB)uAxC().
BuC=1{2,3,4, u{3,5}
BuC=1{2,3,4,5}

AXx(BuO)={0,1} x{2,3,4,5}
= {(0,2),(0,3),(0,4),(0,5), (1, 2),
(1’3)5(174)’(175)} T (1)
AxB={0,1} x{2,3,4}
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4);
AxC={0,1} x {3,5}
= {(0,3),(0,5), (1, 3), (1, 5)}
LAxB)yu(AxC)=1{(0,2),(0,3),(0,4),
(0,5),(1,2),(1,3),
(1’ 4)’ (1’ 5)} T (2)

(1) =(2) eted1gy EfUMTESSLILL L G).

i) AXx(BNC)= (AxB)~(AxC)
BAC=1{2,3,4'~{3,5 = {3}
Ax(BnC)=1{(0,3),(1,3)}
AXxB=1{0,1}x1{2,3,4

=1(0,2),(0,3),(0,4),(1,2),(1,3),(1,4)}
AxC=10,1} x {3,5}

=1(0,3),(0, 5), (1, 3), (1, 5)}
LAXB) A (A X O)=1{(0,3),(1,3)}

S (1) =(2) etev1gy #flunissLLL L g).

iii) (AUB)xC=(AxC)U(BxC)
AUB ={0,1} U {2,3, 4}
=1{0,1,2,3,4}
~(AUB)x C=10,1,2,3,4} x {3,5)
=1{(0,3),(0, 5), (1, 3), (1, 5), (2, 3), (2, 5),
(3,3),(3,5),(4,3),(4,5)} -
AxC =101} x {3,5)
={(0, 3), (0, 5), (1, 3), (1, 5)}
BxC =12,3,4} x (3,5}
= {(52),}3), (2,5),3,3),3,5),(4,3), (4,
L@ x O uBxC0)={(0,3),(0,5),(1,3),
(1,5),(2,3),(2,5),
(3,3), (3, 95), (4,3),
4,5)} - (2)
- (1)=(2) LHS = RHS

A eeug 8-z allsé @Geopeurer Fuied
aewiseflar sewrd, B ereiug 8-m efls
GoDeureT LT eTewiseflor sewrd wHMW C
= etaTLg DPULenLLiLenL LST eTewTserler
sewTid eTeulle0, SpaenT_cunenns Fflumiss.

HANB)x C=(Ax O (BxC)
(if) AX(B ~C) = (4xB) — (4xC)

(1)

)

~ (1)

|

diey:
A=1{1,2,3,4,5,6,7)
B=12,3,57 C=1{2}
HlemL158 Gouewsrig.wig:
ANB)xC=A*xC)n(Bx0)
ANB = {1,2,3,4,5,6,7) (2,3, 5,7}
= 2,3,5,7)
(ANB)x C=1{2,3,5,7} x {2}
S(ANB) X C=1{22),(3,2), 5, 2), (7,2}

— (1)
AxC =1{1,2,3,4,5,6,7} x {2}
={(1,2),(2,2),(3,2),(4,2), (5, 2),
(6,2),(7,2);
BxC ={2,3,57 x {2}
={(2,2),(3,2),(5,2), (7, 2)}
(AxC)(B*O)
= {(23 2): (3’ 2)5 (5’ 2)’ (7a 2)} - (2)

- (1) wHmub (2) eSwHal, LHS = RHS.

}ii) AxB-0)=A*xB)-(Ax*x0)
B-C=1{2,3,5"7 - {2} =1{3,5,7}
Ax (B-C)=1{1,2,3,4,5,6,7}x{3,5, 7}
=1{(L,3),(1,5),(1,7),(2,3),(2,9),
(2,7),(3,3),3,5),(3,7),(4,3),
4,5),(4,7), (5, 3),(5,5), (5,7),
(6, 3), (6,5),(6,7),(7,3),(7,5),
(7, 1)} - (1)
AxB=1{1,2,3,4,567T} x {2,3,5,7}
={(12), (1,3), (1,5), (1,7), (252), (2,3),
(2,5), (2,7), (32), (3,3), (3.,5), (3,7),
(42), (4.3), (4.5), (4,7), (52), (5.3),
(5,5), (5,7), (642), (6,3), (6,5),(6,7),
(32), (7,3), (7,5), (7,7)}
AxC={1,2,3,4,5,6,7}x{2}
={(K2), (2), (32), (42), (572), (6:2),
(32)}
(AxB)—(4xC)
={(L,3), (1,5), (1,7), (2,3), (2,5), (2,7), (3.,3),
(3,5), (3,7), (4,3), (4,5), (4,7), (5,3), (5,5),
(5,7), (6,3), (6,5), (6,7), (7.,3), (7.5), (7,7()})
(2
=)
AZAX(B-C)=UxB)—(AxC)

eTeuTLIG FRLMTSSLILIL L g).

A=1{3,4,7, 8} wpmud B = {1,7, 10} ereslled £1p
2 ater SewrEIZefled eTemeu A eSlBHSH B-5d
ST 2_meneus; GnlSHaTng)?
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

® R, ={G3,7,4,7),(7,10),8, 1

(i) R, ={G, 1), (4, 12)}

(iii) R, = {3, 7), (4, 10), (7, 7), (7, 8), (8, 11),

8,7, (8, 10);
Siey:

AxB={3,1),3,7),(3,10),4,1),4,7),

(4,10),(7,1),(7,7), (7, 10), (8, 1),
(8,7), (8, 10)}

i) R, c4 x B etetiLensg s snemreontd. eresiGe,
R, etes1LIg) 4 -eS(BBGI B -&6@ L6 2-mey
SO,

ii) @mi@, (4, 12)eR,, syevmed (4, 12) ¢ A x B.
e1e51Geu R, oyev1g A-ed(mibgl B-6@ 60
2 mey Pevemev.

iii) @i, (7, 8) e R,, oyevmmed (7, 8) ¢ 4 x B.
e1651Geu, R, oy em1g) A-60\(bHHgI B-5@ 60
2 _mey Pevemev.

8. A=1{1,2,3,7 womw B = {3, 0, -1, 7},
ereumeusreumnmiled steneu A eSl(pi5 B-&a e
2_MeysHeTm(EL? |:
® R, ={2, 1,7, D} (i) R,={(-1,1)

(iii) R, = {(2, -1), (7, 7), (1, 3)}

(iV) R4 = {(79 _1)9 (03 3)9 (39 3)5 (Oa 7)}

Siey:
A=1{1,2,3,7} womubd B={3,0,-1, 7}
nAXB ={1,2,3,7} x {3,0,-1, 7}
=1{(1,3), (1, 0), (1, =1), (1, 7), (2, 3),
(2’ O)a (27 _1)5 (2> 7): (3a 3)5 (37 O),
(39 _1)7 (37 7)9 (79 3)3 (77 0)7 (77 _1)9
(7,7}

l) Rl = {(25 1)’ (73 1)}a (2’ 1) ERI
opeummed (2, 1) g A x B
-~ R, @ 2-mey 606v.

ii) R2 = {(_13 1)}5 (_19 1) € R2
Speommed (—1, 1) g A x B
~ R, @@ 2-mey j606v.

iii) R3 = {(2’ _1), (77 7)5 (1’ 3)}3 R3 gA X B
Ry @@ 2-pey.

iV) R4 = {(79 _1)5 (09 3): (35 3)9 (0, 7)}7
(0, 3),(0,7)eR, etev1L181 A X B 60 2_mLiL}
S|6V6V.

"R, e 2-mey 606v.

9. QSMESSLLLL 2 paset @aiGaITaTapLD
(1) oysEGM LLLb (2) euenruLLd
(3) uLliqgwed (enmuiled GHnfléa.

@) {Cp) [x=2y,x€e{2,3,4,5},y € {1,2,3,4}
(i) {C, ») [y = x + 3, x, y QFluemen Quied
eTesrser < 10}
Siey:
() {x,y)|x=2y,xe{2,3,4,5},ye {1,2,3,4}
x=2y
M) =35 f)=35=1: f3) =3

=22 5-2

1. ouysEGM uLLb 2. euemrLULLd
A
4_
X TR Y Y
- 2 +(4,2)
’ Hooe@
1 I 1 =
1 2 3 4

3. aflens Cemg
{2, 1), (4,2)}

(ii) {(x,p) |y =x+3,x,y spflweney Pwied eTewrs 6T
<10}
fx)=x+3;
=4, 2)=5; fB)=6;, i(H)=T,
A5)=18;/6)=9

1. SuwysH@G L Lb: 2.euemrLL_Lb:

O *(6,9)
| 5,8
xR~y 8 . %)
1 1 7 *(4,6)
2 2 6 «(3,6)
3 3 5 .(275)
4 o S IR
5 5
6 6 3
7 7 ey
8 '8 15
T T 1 >
J J 01 2 3 4 5 &

3. auflens Gamg:
{(1,4),(2,5),(3,6),4,7), (5, 8), (6,9}
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10. e mBmeersgled 2 sellwrerjsear (4),

L A={1,2,3, 4} vpms B = {2, 5, 8, 11, 14}

aupdziaer (C), Gueorerjser (M) wHmd
Blfeundlser (F) opflw mrarg Uifleysefled
uesflurerjser 2 eterery. A, C, M wHmId
E Jfley uvesflurerjsens@ eagdlumiser
weopGu I 10,000, I 25,000, T 50,000
womw I 1,00,000 sy@w. A, 4,, 4;, A,
womw A, HHACury o gefllurerjser C,,
C,, C,, C, F8uny erwpsziser M,, M,,
M, <oHACuriser GueomeriseT  LOHMILD
E,, E, o#Cury mljeundlser speuf. xRy
aerm 2. mailed X eTATUS y TATUAIHSHESHS
Qar@&suuL L. 2afluw eefled R-6rerm
2 pemal, aflmss Gsmgser eYPeLTSHAID
SbLSEGM UL eevwrsa|b GOILLIHs.
giey:

a) euflens Gamg:

{ (10000, 4,), (10000, 4,), (10000, 4,),
(10000, 4,), (10000, 4,) (25000, C,),
(25000, C,), (25000, Cy), (25000, C,),
(50000, M,), (50000, M,), (50000, M,)
(100000, E,), (100000, E,) }

b) sSbLSGM) LLLb:

ZFP)<

—_

O 000
N VS N S

222

w

leslies
o=

eTeTLIeT @ SewTEIS6T 6Teis. f: A — B eTgpd
griL f{x) =3x—1 ereors Qar(HsasLILL (heTers.
Qéeriileners Clamewt(H
(i) SWwysSSGM uLLd

(ii) L L_cuemevor

(iii) uflenss Gamqsafler sevwrid

(iv) suemruL1d gFlweunenms Gnilss.

|

L 1

gio:

A=1{1,2,3,4},B=1{2,5,8,11, 14}
fix)=3x-1
fAH=3(1)-1=3-1=2;
fi2)=32)-1=6-1=5£3)=33)-1

=9-1=8§;

fA=34)-1=12-1=11

gmiy R = {(1, 2), (2, 5), (3, 8), (4, 11)}
i. ouYysHGM LLLb:

X

AR

2 5

3 > 8

4 > 11

14
ii. QL L_euemevr:

X 1 2 3 4
y 2 5 11

iii. auflens Gamg:
{(1,2),(2,5), (3, 8), 4, 1)}

iv. euemrLIL_LD:
A
12

10—

12. f: N — N etetp smijuresg) f (x) = 3x + 2,

X € N etewr euemuUMISSLILILL_Te0

(i) 1, 2, 3-uflest Bliped 2_(HEZMETS SHTEwTS.

(i) 29 wHmID 53 -ullesT (e 2 (HESMmeTS
STEoTS.

(ii) errilesr euemsmws SrewTs.

f i1 N — N etetip anijuneng f(x) = 3x + 2 etewr

auenunISsLILL (h6Teng).

x=1eefe0, (1)=3(1)+2=5

x=2 etetle0, f(2)=3(2)+2=38

x =3 eterllov, (3)=3(3)+2=11

1,2, 3 -uflewt Sliped 2 (méaei (pewmGuwi S5, 8, 11

SSLD.
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i) 29-ullest (pesr 2K X 61686V, f(x) = 29. eT6vTG6U
3x+2=29;3x=27=x=09.
Beng1GLTeGeu, 53-68T (L6t 2_(1h X 6T6rTleV,
fx) = 53. etee1@eu, 3x +2 =153
3x=53-2=3x=51=x=17
eteurGeu, 29 MHMID 53 -ullewt (Lp6vT 2 (HSS6i
peomGui 9 wHmd 17 oy @Lb.

iii)

2 _6ITET6UT.

5o f US| QRETMISE) QEITDNET SMTLINEGLD.
S -ullest gremeser wliLigomesig) N.
efggad f= {5,8, 11, 14, 17, ....} sypevg
N-611 (8 2 L _S6wTIDm@)Ld.

e1651Ge, f g6zl CoedaniyL| Bevenev.
SISMeug|, f 2 L &L S @Lb.

e1651Geu, [ oG] REITMISHE) RESTDNEST LHMILD

2 L &MY @ELW.

13. /= '{'('i;'z'il'('z'l'z'il'('él'iil'(?il'éil'('éllii'}"s}élf}io'"ﬂ

griilener (i) QdLSEGSM) LILLb

(ii) oJL_L_euemever (iii) euenTLLLD eeVLDTSHE
GDssa|d.

siey:

i. QWYUSGM LLLb:

ii. QL L _euemevor:
X 1 2 3 4 5
fx)| 2 2 2 3 4

iii. euewyLL_LD:
A

N -wilesr QeueiGoum) 2 MILILBEHSHES Sien6woT
wHILSESHe OGeuaiGoum Hliped 2 (HSS6IT

14. f: A — B erevtp snijUTSTS)

x—

S =73
PrE, 4=1{2,4,6,10,12}, B=1{0,1,2,4,5,9}.
25 DmeEweurg Friy f-g Uera@mw
wermaeafled Gnlés.

i) euflengs Camgsaflar sewrd

ii) QL L euenever

iii) QUSEGM LLLb

iv) euenruL_1D

gie:
foy =31

x=2=f2)=1-1=0
x=4=fH=2-1=1
x=6=f6)=3-1=2
x=10=>A10)=5-1=4
x=12=f12)=6-1=5

i) auflmeé Camgsefler sewro:
/=12,0), (4, 1),(6,2),(10,4), (12, 5)}
ii) L L euemewwr:

X 2 4 6 | 10 | 12
fx)| 0 1 2 4 5

iii) bL&GM) LIL1b:

1 ereor euemTWMISSLILHISE DS

~N_ S

4 >1
6 >
10 4
12 5

iv) euemuL_Lb:

A
6
5 +(12,5)
4 «(10,4)
3
2 '(672)
1_ ’(4’ 1)

2,0) o
0 I I I I [
2 4 6 8 10 12
% %
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22
* * Py * 4.
2. 6TGIS (G1HLD leﬂ.ﬂﬂ!lf@E&@lD
o el Lo
1. a’ x b* =800 eresrmeurm jemwowjd R Wens
P(p&s6T a HMIL b gy sTewrs.
Sieu:
800=a®xb" 2 |800
2 [400
2 [200
2 [100
2 [50
5 [25
5
800=2x2x2x2x2x5x5=2%x5
~a=2,b=5(e060g) a=5,b=2 5

2. 252525 wpmib 363636 ereirm erewraeafleur

15.Qur.6u SrevwTs.

,
2

3

3

3

7

13

37

363636

181818

90909

30303

10101

3367

37
1

481

252525
50505
10101
3367
481

37

1

252525 =3 x 5% x 7 x 13 x 37
363636 =2% x 33 x 7 x 13 x 37

252525 wpmid 363636 Gevr 15.Clum.6u

=3 x7x13x37

3. 13824 =2 x 3" ereufled, a opmyid b-uflevr i1y

STEoTS,

_ 2
Siey: 5
2
2
2
2
2
2
2
3
3
— 13824 =2°x33
sa=9,b=3

13824
6912
3456
1728
864
432
216
108
54

27

=)

W

g LILIenL eTewvTevuflied CznmsmzLi
uweruhSs) 408 wimib 170 eresrm erewraefleur
15.Qum.1o WHMID L5.CLIT.C1 STEwTs.

2

4082|170
2[204 5|85
2[102 17
351
i
408 =23 x 3 x 17
170 =2 x5 x 17

408, 170 @ev1 15.Qlumeu =2 x 17 = 34
408, 170 @evr 15.8.10= 2% x 3 x 5 x 17
= 2040

owm Osr_jauflmsuler Curg 2.muy
Uereumorm susnyumissiuGElng.

{n(n +3);
a,=

n’+1;

neN i e eTewt

neN e @r e erewt
11-eug) 2-mjy wHmd 18-eug) 2 MILIL srewTs.
n=11 616511 RMHEND 6TEWT ETETLIGN6EV, 1|, SevT
i srever n = 11 616wt

a,=n (n+3) ulled ArdluilL_,

l1-eugi e miiiy a,, =11 (11 +3) =154

n =18 e1681L1g) QL enL_LILienL 6T6w5T
TETLISN6Y, ¢ B6vT Sl Srevot

n=18 etewr a,= n* + 1 uled ArHui_

18 eugl 2 mitiy a, = 182 +1=325

Spss et g jaflenssereeaitlarsarlew
n-eugl MmUY Csrssuur(Herergl. iFled
GO Heter 2 mILILSmeTs STewTs.

. n . .

i) a,= " a; wppid a,

(i) @, = —(n* — 4); a, LOOID a,,

giey:
S5n
i. a =
" on+2
6 8 4’ 13 15

ii. a,=—(n*—4)
a,=— (16— 4)=—12
a, =— (121 - 4) =117
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n* -1
n+3’
n e
2n+1
eeTugl n-eugl 2-mi eresfled, ay LHMID @,
SITETTS.
Siiey:
n @rLenL e16vled ag Gevt mﬁuq
64-1 63
ag =
111 )
n @Denm 6Terled a, s Bevt LI
(15) 225
T 30+1 31

11, -15, -19, .. eaim Fal (NG OSTLN
aflesuilar 19-a1g| 2 miLienus srewis.

Sooy:
Ll (DS L6t n-6ug) 2 miLiL

t, =a+(n-1)d
—11;d=-15+11=-4;,n=19

“11 + 18(-4)

=—11-72

=-83

16,11,6, 1,... erestm sa L (HS QFTLTeurflenguiled
—54 eS| ETSSENETWITEUS] 2 MILIL|?

Sirey:
= [Z—a]+l
d
a=16; d=11-16
_ -54-16

of @r_eeaewt necN

neN

Q@I 61 enM 6T6vTT

n’—1
+3

2n+1

a

t19

54

=-5; [=
=70

+1 =—+1

.9, 15, 21, 27, ..., 183 eieip &Sal (S
Qgrru‘mnﬂm&uﬂsu’r B0 2-NILIL|SEHETS HTERTS.

9,
it
\02

,d 6,/=183

)

o 15 peugl 2 mitigw 16 gyeug 2 mitilw kb
2_MIUL&eTm&Lb.
t,=a+n-1)d

Stis=a+14d L6

=9+ 14(6)
=9+284
=93

a=

+1

8 174

1—?+1 29+1=30

=qa+ 15d
=9+ 15(6)
=9+90
=99

|

.93, 99 eresiLien @ &8aL (DG ClGmiy
auflenaullest B 2 ML ILSeTTSLD.

11. 3+ k, 18 — k, 5k + 1 arsfruenat @@ Sal -0\
Qzr_ireuflenguiled 2 ererewr eresfled, £k uflewr
SIS SrewTs.
3+k 18—k, 5k+ 1 etesieneu
R FaL_(D5 OFT_Teuflens

t—t =t,—t,
(18— k)~ (3+k) = (5k+1)— (18— k)
15-2k =6k—17

2k -6k =—17-15
8k = -32
k=4

. @ Sleflor grEifler (psed arflmsulled 20
Dmemssepnd Owrszw 30 aflossepn
2_efemeur. OS50S saibleunm
aflesullib 9150 Phamsw auflemsmuai
Qrewi(n) DmEMmEsAT Fa(HDFHEOTS 2_6TETERT.
soLdl aflmeulled asFmer Qmsmsser
BDmEEWw?

gie:
Ps60 2 My a =20
Qung) eflgHwngd d =2
. &enL_8& euflengulled 2_een R (moHena:saert
sresvienidens ¢ =a+ (n—1)d
tyy=a+29d
=20+ 29(2)
=20+58="78

. @360 2-miLiy 20 sysab Qurg ellslursw 8
SFa|b Csren saL_(hS CsT_Tauflensenw
TIPSO,

W360 2 miLiL a = 20; Glung) elgSlwngw d = 8
Ll (D& CFTiTeuflengullesr Clung) euigeuld

a, atd, a+3d, ...

Bis Hlepaled Brb Clumieug

20, 20+8, 20+2(8), 20+3(8), ...

c1eeiGeu, Caemeuwines anl” (HG OFT_Teuflens
20, 28, 36, 44, ...

.3,6,9,12, ..., 111 eresip Sal" B
Qgrjeuflensuiled 2_ater 2 miLiseflest
TG ORI GHENTHENILIS &TEwTS.
(P60 2 iy a =3,
Clung) ellgHwnsd d =6 -3 =3
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=

senL & 2 miiy /=111
/-
n= (Taj + 1 et6v1 BMD HMGeuLD.

= (1“3_3)+ 1=37

eTeriGeu, Qibss dnl (HS CFTL_Teuflenagulled

37 2_mIliLs6iT 2_eierent.

15. £8p OQar@ssuu(Heter WSO ML
wHm Curg ellfsw 2w QUHBSESGS
Qgr_jeuflssuiler (560 epaTn 2 miLiLsener
TS5,

() a=6,r=3 (i)a=+2,r=1+2
(iii) @ = 1000, r = %

i. Qumglenqend G.P.= a,ar, ar’, .....
a=6,r=3
G.P. = 6, 6(3), 6(3)°...

=6,18,54, ....

ii. GP. =>a,ar,ar, ......
a=2,r=2 i
G.P.= 2, 2(J2). \2(2)

=42, 2,242

iii. G.P.=a, ar, ar’,.....

2
a=1000, r=—
5

2 2\?
G.P. = 1000, lOOOXE, 1000x% g
G.P. = 1000, 400, 160, ....

16. 729, 243, 81,... eretp OQUWBSSHS OSTLIT
aflmsuler 7-a1gl 2-miLlienus SrewnTs.

QUBEES C\SML_{les 1 SLeug 2 ML
t,=ar’
243 1
= 2 = —-——— =
a=T29,r= =3 T
1 7-1 1 6
£, =729 x (_j 729 x (_]
3 3
t=129x L Ll Ll
33 3 3 3 3

17.x + 6, x + 12 wpmd x + 15 etevruer e
QUGS CsrTafleguiler QFm_F&fwimer
eperm 2-miuiLser eTefled, x-uller wFHLiewLs
STEWRTS.

X+ 6,x+ 12 woHmibd x + 15 erevtLiest
R LBEGS Car_Teuflens

L _h
C
x+12 _ x+15
x+6 x+12
(x+12)* = (x+6) (x + 15)

X +24x+ 144 = x>+ 21x+ 90
24x - 21x = 90— 144

3x =-54
X = - 4 =-18
3
18. Ueteu@md (pypepr Csrijseflar &n(HFed
STV, 28
D9+3+ 1+ ()2 +14+ "5+
gie: i
i. 9+3+1+....@r§1@a=9,r=?
(c—1<r<1)
g-_a _ 92 _27
3

i, 21+ 14+ ?+...@@@a=z1, r=2z
2
col<Z <]
( 3 )9
s =2 ="_=¢63
l-r 2
3

19. e® uapr QumESS Osrflar e
2.muy 8 wHMID IO 2 MILILSET euenIy

o (D560 32 gefled Siper Qurg alldlgw
SIS,
Sirey:
G.P. a=38, S, = ?
? = S, = 8 _32
1-r -7 3
= 24=32-32r .
=32r=28 =>r= 8 _1
32 4

20. e CQuBmEGS QT_Feauflensulled S, = 4095
wHmd r = 4 erafled, JFaT (PS5O 2 MILIHLIS
STEwTS.

Clung) ez =4 > 1,
P30 6 2 miiLsefles sn(hged S, = 4095

eteiGeu, S = M = 4095

r—1
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25
. . a(46_1) n=-37 evevg n =36
r =4, e1etLIZ 6D a1 4095 n+-37 (n#-37 gNH&555556060)
=36
= ax 399 — 4095 e
. . _3 26. sa(hged sTERTS.

S e S @) 2+4+6+....+80

21. @iy srewrs. 1 +2 +3 +...+50 (i) 1+3+5+.....+55
siyeay: Sirey:

1+2+3+...+50
1+2+3+...+n=—”(n2+1)

6T63TM
&SSTSmSL LWTTLOSS
50 x(50+1)
1+2+3+.....+50= 5 =127
. Fa(HB) SHTEvTS.
1+3+5+..... to 40 2 muLseaT eueniy
1+3+5+.... + n 2_mILILS6T eueniy
Fn(D\G60 = 1’
1 +3+5+.....+40 2 miysem eueni
Sa(D&6d = (40)* = 1640
. 8a(HB60 srewis. 17+ 22 + ... + 197

1P+27+ ... +19°
_a(n+D)(2n+1) _ 19x(19+1)(2x19+1)

6 6
_ 19%x20x39 ~ 9170
6
sa(Hze0 srewis. 1° + 23+ 33+ ... + 16
..... )
P+ 434 +16° [16“7}2
2
= [136]°
= 18496
.1+2+3+...+n=666 eresfled, n-ullesr iy
STEoTS,
Siey:
1+2+3+ ... +n =666
n(n+l) — 666
n®+n=1332
n’+n—1332=0

(n—36)(n+37)=0

i. 2+4+6+.....+80
=2 [1+2+3+..... +40]
) {_”(”; l)} =40 % 41 = 1640
il. 1+3+5+.....+55
Bns 2 niLiLsefe sesmrensens
O&r(hSsLILLalledensy. HLD
2_mLiLsefert eTestTensengenut 6T68Tm
GSITSmSL LTSS sreswtGLmLD.
_ (5D
" N +1=28

eT6o1Genl,
1+3+5+....+55=(28)>=784

() 1+2+3+....+60
(ii) 3+6+9+....+96
(i) 1+4+9+16+..... + 225
(iV)1+3+5+....+71

Siey:
i 1+2+3+....+60 = ”(”2+1) _ 6O>2<61

= 30 x 61 =1830

fi. 3+6+9+....+96
=3(1+2+3+...+32)

2
:3{32;33} —3 %328 =1584

1+4+9+16+....+225
=1P+22+ 32+ 42+ . +15
_n(n+1)(2n+1) _ 15(15+1)(2x 15+1)

6 6
15x16x31 _

iii.

iv. 1+3+5+....+71=n?
=1—a+1:>[71—1)+1=36
d 2

1434+5+....+71=36>=1296

n
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28.

1+2+3+..+ k=325, etefled 13 + 23 + 3% +
..... + I Wiesr w&liy srevwis.
14243+ +k= k(k;l) — 325
P+23+33+...+F
2
:{M} ~ (325)2 = 105625
L3+ 23+ 3+ L+ B = 44100 erenfied,
1+2+3+....+ k uller iy srewrs.
2
1423+ 34+ = 44100 = _k(k”)}
1e243+ . 4 k= KEFD o

2

LB+ 22+ 3+ L erein Qe er$geneu

2 mULsmeTs Fallgermed Sa(hizged 14400
SenL_&@GLb?
Sirey: 2
P+22+3+ .+ = {M}
2
= 14400

= M:M =120
k(k+1)2= 240
K+k—240 =0
(k—15)(k+16) = 0
k=+15 60608 k=—16

Ba QunmHSTS.
k=15

5 1DSWICLICHIBHET

P xp, xpyt xpt = 113400 @Iﬂ@ Dy
Py P D, oTesiuen emieuflnsuiled jemwobs
LIS 6TEWI&6T LOMHMID X, X,, X3, X, 6TEUrLIGT
@@$5dr ereufled P15P2 P35 Py "DDQ"'D X9 Xp9 X3y
x, SpFlweunnfler LGS STewTs.

2 [ 113400

56700

28350

14175

4725

1575

525

175

35

7

N D W W W W NN

|

113400 = 2% x 3* x 52 x 7!
. P/=2, P,=3, P,=5,P,=7

a,=1,a,=1wHpmd a, =2a,  ta,,n=3,
n € N, erefled Qzr_ieuflansullear psed mi
2 MILILSE6TE SHTCITs.

a,=a,=1wombd a, =2a, , +a, , 616515,
ay=2a,ta,=2(1)+1=3
a,=2ay,+ta,=23)+1=7
a;=2a,+ta,=2(7)+3=17
ag=2as+a,=2(A7)+7=41

x, 10, y, 24, 7z eTewiuemen M ol (HS
Qzr_jeuflensulled 2 eferer ererfled, x, y, 2
S Flweunfier L srewts.
giey:
x, 10, y, 24, z ereviLien dal (D& Cgm_ieuflens
6TEUTLIST6D ) 6T6UTLIG)
10, 24 Qevt (D 2 MILILINGLD.
iy y— 10H24 34
2 2
AP=x,10,17,24,z
d=17—-10 =7 ereviigy) Qi@ Clgefeundlng.
Lx=10-7=3
z=24+7=31

17

5+55+ 555 + ... ereirm CFrFeuflensuiler
w360 n 2miuLseflear Fa(HFed Hrewis.

S =5+55+555+ ...+ nemlyser euenr

S[1+11+ 111+ ..... + n 2 piyseT euenr]

[9+99 +999 + ...+ n 2 milser euenr]

5
9
3 [(10-1)+ (100 - 1)+ (1000 — 1)+ .... n
9 2_MILIL|S6T elemi]

5
9

[(10 + 100 + 1000 + ....)
—(1+1+1+...)]

A. SIVAMOORTHY, BT. Asst. GHS, Perumpakkam, Villupuram Dt.

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.Trb Tnpsc.Com

6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

5. Jeraumw Ggrijseflar n e muiyser eueny

Fa(HB6O SHTEVITS.
(i) 0.4+0.44 +0.444 +.....
(i) 3+33+333 +
i. 04+0.44+0.444+
_ 4 44 444
= —t—t+—
10 100 1000

I 11 111

= 4| —F—+——

[10 100 1000
4

4[9, 9 999
10 1000

n 2 MIULSaT eueniy

+..n2_ml qassfr}

+
9 100
_ 4 1 1 1 . i
= 5{[1—Ej+(l—m]+(l—m]...nagjuq5m:|
4
= —[(I1+1+]1+... n 2 miiyseT) —
{ 1 11 111
—+
10

——+——+...nemiysen
(i
L NNV

+..n2_mi qam}

100 1000

=3(1+11+111+..... + n 2 miisen)

— % (9+99+999 + ... + n 2_miyseT)

= 3 ((10-1) + (100-1) + (1000-1) +

n 2_mILIL|56T)
=3 (10+100+ 1000 +
(RIS
3( (10"—1\ \

=30 qop_1y- 31
81( n—1) 9

6. 3+6+ 12 + ... + 1536 etesrp QUBSHESHS
Qzrifler saHSH60 STewrs.
3+6+12+....+ 1536
a=3,r=2

t = 1536
ar' = 1536
32 = 1536

n 2_MIUILS6T euenly

|

+n 2_miliser)
.. T ne_miliyser)

|

iy srewrs. 16+ 17 + 18 +
16+ 17+ 18+ ...+ 75

(1+2+3+....+75)—
(1+2+3+ .0,

n(n+1) B n(n+1)
2 2

75(5+1) 15015+1)
2

=2850-120=2730

+15)

2

gijey:
9P +10°+....+21°
=(13+2°+3%.. +215) - (1°7+23+ 33

Y {n(n;l)} _[ (n+l)}

2

_ {21x(21+1)}2 B [8><(8+1)T

2 2

= (231)> - (36)* = 52065

Hereumd Qgriseflar sa(Hsameos srewrs.

i 6*+7*+8+...+21%

(i) 10+ 113 + 123 + ..... + 20°

i 62+ 77+ 8+
(12422432

..... +21%) -
(12+22+32
n(n+l)(2n+1) B

6
_ 21x(21+1)(42+1)

6
21x22x43

6
3311 —55=3256

n(n + 1)(2n + l)

6
5x(5+1)(10+1)

6

_ Sx6x11
6

103+ 113 + 123 +
=13+23+33+

ii. 10°+11°+12° + .....
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B

[

_[20x21T {9x10}2
6 3

= [210]% — (45)? = 44100 — 2025

10. wse0 n Qued ecrewrseflesr sewrmisaflesr
Fa(H)F60 2025 eterfled n-wierr i sremwrs.
(PS60 11 G160 6TEwBTSH6NN6TT 61TSSMBIGEM6TT
Fa(hze0 = 285

12422+ 32+ ...+ n* =285
n(n+1)(2n+1) s
2x3
n(n+1)(2n+1) _ Hes
6
n(n+1) 2n+1) =285 x 6 --__(1)[
(PS60 11 QU160 6T688T&6M6TT He6vTRIS 66N Fon (D FH60
=2025
P+23+33+ .. +n’ =2025
2
{—”("”)} — 2025
2
—”(”;1) = 2025 =45
n(ntl) =45x%x2 ----(2)
O _ n+D(2n+1) _ 285x6
() n(n+1) 45%2
2n+1 =19
2n =19-1
= 2n =18
n=9

. Gramailwy 10 Qs.5, 11 Q&.5, 12 Qs.S...,
24 Qe.f eteip LGS jerayeter 15 FZIy
Qllgal aQIERTERTS STHgmEseT 2 aterer. PHS
QuewTERTS STHlGEISMmeTs ClETewT(H fTalaleTeay
urLienU w53 SomSflHs (piqLjbd?

Sirey:

QarsaLiLL(hesr 15 &5 aulg.6 eUETTETS
SNEFEISNETT LISS 6116 SH6T
10Q&.18 + 116l&.18 + 12Q&.15 +
SIS6VT LITLIL] = 102+ 112+ 122+

=(12+22+32+ ...
—(124+22+....
_ n(n+l)(2n+1) B n(n+1)(2n+l)

6 6
_ 24x25%x49 9x10x19

6 6
4900 — 285

4615 Q.52

* Kk

3. Swn&enfgd

2 wplQuasiselr
1. Jeraimeaustaunmlng 15.61um.o sremrs.
@) 4x%y, 8x’y?
(i) 9a’b*, 12a*b*c
(iii) 16m, 12m*n?, 8n*
@v)p*-3p+2,p*—4
(V) 2x*—5x—3,4x*-36
(vi) (2x? = 3xp)%, (4x — 6y)%, 8x° - 27y°
giey:
i. 4x%, 8x3y?
22x%y
82 = 23?2
- (4x%y, 8x*y?) -ev1 15.Qum.o =2°x)% = 8x°)?
ii. 9a°b*, 12a*b*c
9a°h* = (1)(3)? a’b?
12a°b’c = 2> x3xa*x b xc¢
- (9a°b?, 12a%bc) -e61 18.Qum.1o
=(1)x22x32x @® x b* x ¢ =36a’b*c

4%y =

iii. 16m, 12m*n*, 8n?

16m = 2*xm
12m?n* = 22x 3 xm?xn?
8n? = 23 xp?

- (16m, 12m*n?, 8n?) -6 18.Qlum. 10

=2%x 3 x m? x n? = 48m*n’®

pP-3p+2,p*—4
pP-3p+2 = @p-D@p-2)
P-4 =(p+2)(p-2
(PP =3p+2,p7—4) -ein 18.Qum.o
=@-DP@+t2) (p-2)

v. 2x>—5x-—3,4x*—36
22 -5x-3 = (x-3)(2x+1)

iv.
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vi.

2

4> -36 = 4(x+3)(x—-3)
5 (2x2 = 5x - 3, 4x* — 36) -ev1 18.Qlum.1o
—4(r—3) (x+3) 2x + 1)

(2x% = 3xp)%, (4x — 6y)°, 8x> —27y°
(2x* = 3xy)? = x*(2x —3y)?
(4x —6y)* = 23(2x-3y)
8x*-27° = (2x)*-(3y)?
(2x — 3y) (4x* + 6xy + 9)?)
S (2% = 3xp)%, (4x — 6y)°, (8x° —27)°) -ewr
5.6lum.o
=23 x x2x (2x = 3y)? (4x% + 6xy + 9?)
= 8x%(2x — 3y)* (4x? + 6xy + 9?)

&(H&SS.
i) 4x’y o X%
272 20
2 _ '+ p-12
ii) p —10p+21 P *Pp .
p-7 (p-3)
2 3 3
4x*y " 6xz _ 3x’z

772 20y 5y°
2 2
p -10p+21  p’+p-12

il

p=7 (p-3)
_(p=7)(p-3) _ (p+4)(r-3)
(p=7) (p-3)
=(p+4)
sl s Ly
xX—-y y—-x
Siey:
¥ ) y3 x3_y3
X—=Yy y—x x—y
(¥ + x4+ 7 )(x-»)
(x=»)
= X2+ xy+y?

Uereumd Careneusefler afleossiui L
iy srewrs.
j) x+10 Tp+2

8x 8p*+13p+5

giiey:

x+10
8x

8x =0 (31606081) x = 0 e1emOCLING)

aUEMTWNISS QUeOTSSHTHMS).

23Geu aflevgaliuL L Sl 0 g@Lb.

i. etev1D Camemeuwinesg

Tp+2

ii. — =  erevim Cammemeuwimest
8p° +13p+5 P e

8p*+ 13p + 5 =0 ggneug

Bp+5) (p+1)=0eadmHa

p= %S,p =1, eremdCung Canemeu

QUMTWNISHS PWeONTSSHTHMS).
steriGer, allevdasLILIL L oI ser

_—SLD' w—1
3 DD

Spsaemi.  Comamaisens@ alloossiu
wdliyser @oLllar Seunemns Srewnts.

y . t
) ¥ —25 ST
i x*+6x+8 ) x’-27
X' +x-2 X’ +x'—6x
giey:
i. yszS ste5in Camemeuwimeotg) > — 52 =0
P52 =0
(V+5) (r—5) =0
p+5=0,9-5=0

y =-5,y=5
eTeIbCLIng) Careneu auenTWINI&HS
BueongsnHmg,.
- ellevdsliuL L wdUiLseT —5 wHmib 5.

ii. ﬁ erevn Canemeuwinenay
£-5t+6 =0
£-5t+6 =0
(t—2)(t—=3) =0
t-2=0,t-3=0
t =2,t=3

e1em)bGLITg Camenel euemTwnISHS

BQueorasrSmg,.
- ellevdasliuL L wdlliygeT 2 wpmb 3.

X6x+8 _ (x+4)(x+2) _ x+4
Cax-2  (x+2)(x-1)  x-1

x+4

erevtgy) X — 1 = 0 e1embGLINg)

x—1
QUEDTIMISSHLILIL_a16d6mev.
ellevsasliuL L wdliyger 1.

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

10 Opib QIGLIL - Sewfigid

www.Trb Tnpsc.Com

e ———
------ T ) |5 comiaston st wph Gubasin
iv. = > QsrMssiuL([HeTerg. Smuig&
x*+x* —6x X (x tX- 6) SLORTLIT(HSENETS SHTEwTS.
_ (x— 3)(x2 +3x+ 9) @®-9,20 (@) é, 4
G+-2) Sier ’
3X3 _227 __ 6'I'6!§TI_I§] x3+ x2 —6x=0 i. 79’ 20
X +x"—6x Caemeuwnest @mLilg sesTUn(H)

6169 bGLING) euenWnISaLILL 6ledemev.
> x+3)(x—2)=0
= x =0 Ievevg x = -3 IeV6vg X = 2
- eflevdsliuL L wéliysst 0, -3, 2
6. UeraumeuataunmieT auir&seLpeod STewrs.
400x4y12z16

o0y
x*y'z

Siey:

400x*y"z" 4522 _ y'z°

100x*y*z* ¥ x?

7. Spsseni Careneuseflar airssewpeold
SIT6VUT S,

i) 256(x — a)*(x — b)*(x — ¢)'(x — d)**
. 144a®p" "
) ——
81f"g*h
Siey:
1) \/(256(x - a)8 (x - b)4 (x — c)]6 (x - d)zo)

=16 |[(x—a)*(x—b)*(x — ¢)’¥(x—d)10]
a‘*b’ct

i) 144a°p"c"* 4
11 ———— 7 — | .
81f12g4hl4 3 f6g2h7

8. Jetaumeuaraunnier aur&sepeod Srewrs.
121(a+b) (x+y) (b—c)
81(b—c)'(a—b)" (b—c)'
121(a + b)8 (x + y)8 (b - 0)8
8 l(b - c)4 (a - b)12 (b - c)4

\/121(a+b)8 (x+y) (b-c)

81(b - c)4 (a - b)12 (b - c)4

x> —[o+Blx+ap=0
X [9]x+20=0
= xX*+9%x+20=0

ii. 2,4
3
Cxemeuwinest @(pLilg. FeTLm(H
x? — (epeomiseles &a(H&60 LI6V6wT)x +
eypevmisehlest GClLmsmnLIevss = 0

- x+4=0

SoUDL 3 Sped ClLmSS
32 —5x+12=0

10. Spsergms  PwuUyE  FATUTHSHEHSHES
epeorEisaflear sa(HiBed LOHMID CLmHSSHED HTewTs.
) x*+3x—28=0 (i)x*+3x=0
) x¥»+3x-28=0
a=1,b=3,c=-28
PLPEVMBIGATETT G (D60 LI6V6TT

b
=gtf=——=— 22—3
a 1
PLPEVMEIGATETT GILI(HESH60 LIGVEST
—ap= S =28 g
a 1

i) ¥*+3x=0
a=1,b=3,c=0
PLPEVMEISATETT G (D60 LI6V6TT

=atf=— b - 3-3
a 1
PLPEVEISATETT GILI(HEHSH60 LIGVETT
—ap=S = 9_ )
1
(8 9 4 3)
- 7 V3 . .
11. A= 2 et yevsflufled,
1 4 3 0
6 8 -11 1

() e-muysefler erentenflsmaamnws srewts.
(ii) jewflilesr euflens srevrs.
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6IDEDED HNHESLD LOMERTEUITEEHESTEN aEGILIE

31
(i) a,,a,,a,,a,,4a,a,,. o2 DHULsemer (i N j)3
(D15, 1) a,= i—2j (@i0) a,= 3
1) 2 miliysefe stesvrenisens i a,=li—2j
=4x4=16 [an ap a13\
il) oewiluiles eufleng =4 x 4 A=la, a, a,,
3
iif) a,, = V75 a,, = R a,,=5; G G
2 -2 J1-4 Ji-¢] [1 3 5
a,=0, a,=-11; a,=1 - |2_2| |2_4| |2—6| =10 2 4
12. Spsaremid BmusE  FwATUTHSHEDHES 3-2] [3-4] 3-¢| 113
epemsaflear FaHFed wHMID QLmSESE srewrs, | 00 VG U
() x*+3x—28=0 (ii))x?+3x=0 i J=(’+J) ) i
y ' 3 8 64
3 9 3
i X +3x-28=0 (@, a, a) 4 15
a=1,b=3,c=-28 =tam a ayl=|o S22
PLPEVMBIGATENT G (D160 LIGV6TT ay,  ay, a; 64 125 b
b 3 -~ A
o+p a 1 S M . N
epeoiseiesr QLimEes Lo 15. a; = i’j* erevrm SyemoLienLs Qsmewr 3 X 3
‘ 28 aiflmsyenLw genflenws srevwrs.
B N
ii) x22+3x=0 3%3 euflemawen_w ojewsilullesr QLITg) aulgeuld
a=1,b=3,c=0 (a, a, a)
PPEVRIGEM6TT G (D S60 LIGOETT A= Lan a, a23J a; =i’
=a+B=_£=_i__3 a; 4y Ay
a 1 ay= 1512 = Ix1 = 1; @y, = 13x22 = x4 = 4;
PLPEVEISEMETT OILI(THESH60 LI6V6TT s s
c 0 a;3=1"x3=1x9=9; a,, =2°x1°=4x]1 = 4;
mop=g 70 Ay =2°x22 = 4x4 = 16; ay; = 2°x3% = 4x9 =36
-------------------------------------------------------------- — 212 = — 0 4 —12x)2 — _ g
13. 18 e puismers Osteni_ @i Smlées 3 =317 =9x1=9; azy = 3727 =9x4 = 36;
salaums aiflmeser Pmss Pued? @i a3y = 3*x32=9x9 =81 (1 4 9)
aqemf!ujlm. e-pusafiar . srmr.mrﬂ oy 6 e1651Geu, Coemeuwinesr gewl A = | 4 16 36
ererfled, eTalleuens auflmeser Qmss Qued? o 36 g
ek | | e
18 2 pliLseneTs QsnemTL i emilss, (5 4 3
1% 18 (@) 2 %9 ()3 %6 ()63 () 16.A=L1 -7 9J6Tﬂfﬂ6\),Auﬂ60T‘l_f,]mlj'
9x2 () 18 x 1 e1emILd eUEMSSATE0O 6uflens 3 8 2
Bmés Buwevib. Blred rHm| Siewflenws srewrs.
6 e miliysmens Ostawi e &S Biiey:
1% 6 (@) 2 %3 (@) 3x2 (1) 6 % 1 ergmyib (5 4 3
auemas6ed auflens B\(més Quiedib. 4= L -79
-------------------------------------------------------------- 308 2
14. deteumeustaunenns Carewt(p 3 % 3
. . ) (5 1 3)
auflengenws Qarewr ojewfl 4 —[a ]| Weners
: i AT = |4 -7 8
STERTS.
3 9 2
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[9 ]
____________________________________________________________ 1
(7 -3) =5+z=5 x+ty=6;
5.5 y=6-x;
17. 4= | 5 2| aresled, DR
NERE xy =28
2%
-A -|f.ﬂa§r Blenr Blyed wrHn Siewflenws x(6-x) =8
. b 80
= x6xt8=0
(V7 -3 (-7 3) (x=2)(x—-4)=0
=5 2 A= 5 = x=2=0 (&) x—4=0
-2 —4
N N x_ (or)x. "o s
x=2eefle0y=—=— =4
cay=| BB P
3 -2 5 x =4 et6tled y= — =2
____________________________________________________________________________________________ 4 NN .
(5 2 2\\ (x+y+2z) (9)
18. A=|-V17 07 2| arafled iii) [Hz J=L5J
o f y+z 7
(A" = A eresrugenené sflunirés. x+yiz=z T (;)
Ny 9
s > 9 \ yt+z=17 ---(3)
5 5 —J17 8 (3) &3 (1) 60 I
A=|=17 07 Sl A=|2 07 3 X+7=9=x=9-7=2
] 31 5 5 . x =2 et6v1 (2) 60 ylull_
( 5 ) 2\\ 2 2+z=5=2z=5-2=3
5 z=3 61607 (3) 60 LNrHlui_
A= 17 07 5 y+3=7 >y=7-3 =y=4
8 3 1 (7 8 6) (4 11 -3)
4N'=4

19. fpssngmi swarGasie Sobsl X, ¥
wHmib z -uller wlemus srewnts.

(12 3) (» 2)
()L 5) (3 5)
x+y 2) (6 2)
(l')L5+z ny LS SJ
(x+y+2) (9)
(@) | x+z2 =3
y+z 7
L (123 (v 2
’ x 5 L3 5
=>12=y;, 3=z;x=3
o [(x+y 2) (6 2)
. 54z ny LS SJ

20.A=[1 3 9J,B=L—1 2 4J
4 3 - 7 5 0

eresfled, 24 + B 206 srewis.
siyey:

(7
21+B =2

8 6) (4 11 =3)
3 91+(-1 2 4
-4 3 -1 7 5 0

(14 16 12) (4 11 -3)
=t2 6 18 +L—1 2 4J
8 6 -2 7 5 0
(14+4 16+11 12-3)
=l 2-1 6+2 18+4J
-8+7 6+5 -=-2+0
(18 27 9)
-1 3 22J

-1 11 -
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

=71
_____________________________________________________________ e
(5 4 -2) (-7 4 -3 il. A+(A)=(-A)+4=0
oao|l 3 gleolt 7, (1 9) (-1 -9} (0 0)
cA=lo o N2B=l o o 3, A+(—A)=L3 4J+L—3 —4J=to OJ (1)
1 9 4 5 6 9 8 — -8 3 0 0
ereofled, 44-3B 26 srewts. (-1 =9} (1 9) (0 0)
i (54 2\ (7 4 = (—A)+A=L—3 —4J +L3 4J=L0 OJ —(2)
L3 L -8 3 8 - 0 0
44-3B=4| V2|3 7 5 3 (1), Q) = A+ (-A)=(-A) +A=0
1 9 4 S S 2 st
(0 4 9) (7 3 8)
21 12 9 23. A= ,B=
(20 16 -8) ( ) 8 3 7) 1 4 9
=2 3 42|+ _% _% -9 cfsuﬂeb dlsﬁm@mmmg')mpé STEHTS,
4 16 o ()B-54 (i))34-9B
o
(20421 16-12 —-8+9) 4 o) (73 8
3 21 A= , B=
=| 2= 3= 42 -9 8 3 7) L1 4 9
4-15 36+18 16-27 i. B-54
(41 4 R [ :738]_5[049}
s 15 1 49 8 3 7
e O :738]+(0 20 -45)
~11 54 11 | 4 9 \40 —15 -35)
-------------------------------------------------------------- 7 -17 -37
(19 (57 “ 39 -1 —26]
22.A=L3 4J,B=L3 3J O Y
8 3 10 1 ”
Ueraumeusraunenné sflumiés. :3[0 4 9} — (73 8)
& A+B=B+A 8 3 7 L1 4 9
(i) A+ (-A)=(~A)+A=0 (0 12 27\+(—63 27 -72)
Zoor 24 9 21) Tlo 36 81
i. A+B=B+4 =[_63 15 _45]
LS 15 —27 —60
o (1 9\ (5 7\ __5__2@&6_\_9@[_?9’! ______________________________________________
A+B=13 4J+L3 3J 1. 64x* — 16X + 174% — 2x + | areiiLSeT auirds
(i 16\ Lo CLPEOLD STERTS:.
e 2| 0 0
o _ 8 -1 1
RIS 8] 64 -16 17 2 1
IRNCRIRNE 16 -1 e 16 17
+A4= + a a
B+4=|3 3J L3 4J (+) —16 ()1
1o/ \8 -3 16 -2 16 2 1
(6 16) 1 O 16(H)-2 ()1
=16 7J - (2) 5
9 —

(1),2)=A+B=B+4

Caemeuwnes euirés epeotd = |8x? — x + 1|
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e
2. 9t — 1227 + 28x% + ax + b sovE @M iv. 121x* - 198x° — 183x% + 216x + 144
Ypaissw eaafled a, b Sweunmier 11 -9 -12
LILILSENETS SHTEwTs. 11 121 —-198 —183 216 144
(D121
3 2 4 22-9 - 198 -183
3[ 9 -12 28 4 b () 198 ()81
)9 22-18-12 —264 216 144
6 TR (+) 264 (216 () 144
0
+)-12 () 4
) O Caemeuwnest euirssepeotd = |11x% — 9x — 12|
6 4 4 24 a b
()24 (H)-16 (=) 16 4. Spssrgmid UORIMILILECHETmauZST (PP
a=-16, b=16 aiissrser eafled a wHmID b-uwiler WY

3. sz wenpuiled Uletaumd LOMILILIS
Caremeusaflar auirssepeold smeswrs.

(e&.20 ) (oy5.22 )
i x*—12xX°+42x* -36x+9
I -6 3
1 I 12 42 -36 9
)1 |:
2 -6 -12 42
+) -12 ()36
2 12 6 36 9
3 (-)6(+)-36 (-9
0

Caemeuwnen euiréseweold = |x* — 6x + 3|

ii. 37x* 28 +4x*+42x+9

2 -7 3

2 4 28 37 42 9
)4

4 -7 -28 37

(=) 28(-) 49
4 -14 —12 42 9
-3 (+) -12(—5)42 (59

0

Caemeuwmer euiissepeold = [2x> — 7x — 3|

iii. 16x*+8x*+1

4 0 1
4 160 8 0 1
() 16
8 0 0 8
0 0
8 01 8 0 1
(80!
0

Gaemeuwnes euirsaeweold = [4x> + 1]

SITEUT S,
giyey:
i x'—-12x°3+37%+bx+a
2 3 7
2 4 -12 37 b a
=4
4 -3 -12 37
(+) -12(-) 9
4 -6 7 28 b a
(-) 28 (+)-42(-) 49
a=49,b=-42

ii. ax*+ bx® +361x* +220x + 100

10 11 12
10/ 100 220 361 b a
(-)100

20 11 220 361
(-) 220 (-)121

20 22 12 240 b a

(-) 240 (-)264 (-)144
a=144  b=264

5. Spssrg LOPMILLECaTmasT W
aiisaEser erefled, m wHMID n-uller L.

@) 36x* —60x°> + 61x* —mx + n
6 -5 3
6 36 60 61 -m n

(-) 36

12 -5 -60 61

(+) —60 ()25

12 -10 3 36 —m n
(-)36(+)-30(-)9

-m=-30,m=30

n=9

A. SIVAMOORTHY, BT. Asst. GHS, Perumpakkam, Villupuram Dt.

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

www.Trb Tnpsc.Com

6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

3
____________________________________________________________
i, x*-83+mx*+nx+16 |, TN e
(1 1) 2) (-7
: A= B= C= eteufled
1 3/ L_4 2“7 s zJ
1 4 4 A(B + C) = AB + AC eteiiuensé sfiLniés.
1 1 8 m n 16 .
01 giey:
2 4 8 m B+C—(14 3 [37 ‘)
+) -8 ()16 B
2 8 4 = (m)—16 " 16 _(1=7 246) _ (-6 8)
(—)8(+)—32(—) 16 L4+3 2+2J 4J
0 LHS =4 (B+C)
m—16 =8, n=-32 (1 1y (-6 8)
m =8+16 13 1 )
m =24 _(-6-1 8+4) :(—7 12)
oo PN 6-3 —8+12) (3 4)
18 2 miysemers Oamewi e IjewlsE
celeuems aflmeser Pmss Pueb? i 4B - L1y (1 2)
Siewsflufler 2 miisefler eremtenflsons 6 srafled, -1 3J L—4 2J
cralauens auflmesar Pmss Suiepis? _(1-4 2+2) _ (=3 4)
Siey: |: -1-12 —2+6J L—13 4J
18 2 milisemens Oarewi et ewildh@ 1 X AC = I l] -7 6)
18 (@) 2 % 9 (@) 3 % 6 (@) 6 X 3 (1) 92 (3 2)
(o) 18 x 1 eremid euemasaied auflemws @\(mHss _(-7+3 6+2) _ (-4 8)
Quiibd. 749 —6+6) L6 o)
6 2 milIseneTs GlsTeTL i &s.zmﬂe%@ 1 x 6 RHS = 4B + AC
(21) 2 %3 (31)3%2 () 6 * 1 e16m)I1D 6UMBSH6MED 34 (4 )
auflens @mss Quieid. = 13 4J k16 OJ

1.8 3 (2 6 4 _( 3-4  4+8) _ (-7 12)
A=135 OJ’B_L 1 _J’ \—13+16 440/ |3 4)

8 7 6 0 1 5 . LHS = RHS

(5 3 0 S
=1 -7 2J steufled, 12 1) (2 -1)

1 4 3 A—L Jmpgij -1 4
Uesraumeuaraunenns Srewrs. 2 11 0 2
34+2B-C stefled (AB)" = B"A" ersruensé sflumiiés.
S S
34+2B-C 4B 1 2 1)

= -1 4
(1 8 3) (8 —6 -4\ (5 3 0 2 -1 ULO 2J
=3L3 5 0J+2£2 11 _J—l_l -7 QJ
2-2+0 -1+8+2 0 9
876 o1 5)1 4 3 _ j:( J
- 4
(3 24 9) (16 -12 8§ (55 3 0) 44+1+0 -2-4+2 5
:Lg 15 0J+L4 22 —J+L1 7 _J UB) = 0 5)
24 21 18) L0 2 10} \-1 —4 - 9 —4) o2y
(14 9 1) P (2 L0
B 1 4 2J A 2 1
=t14 44 —SJ - .
23 19 25
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B
(2 -1 0‘\(1 2) (5 2 9 (1 7)
BA =\, 4 Lz —1J 1. 4= ,B=L1 2J sresfied,
o 12 8 .
(2-2+0 4+1+0) 0 9 (AB)" = B"A" etetuensé sflunissayb.
“1ege2 —2—4+2J:[5 _4j nomn
LHS = RHS A4 =229 5|1 2
-------------------------------------------------------------- 12 8)
13] (1 -1 2) _(1 3 2) > -

10. A= [ L3 5 2)°l4 1 3 g [T 35+4-9) (52 30)
stesfled, A(B + C) = AB + AC & sflunitésayb. “1+2+40 7+4-8 _k43 3
giioy: g - [32 43]

A_[l 3] B_(l -1 2) (1 3 2) (4B)" = 30 3
s )BT s )Tl ) 115 (5 1
A(B+C):AB+AC&ﬁ]urrrraaa>C36u6m'T®Lb B'= L7 P _1) A'= Lz 2J
9 8
Y (1 3 2) TT115(51\
Bre= [ 5 2)+L—41 3) BA=(72_JXL2 2J
o n U 0 3
L 6 5} _(5+2+45 1+2+40) _ (52 43)
3 (2 2 4 L35+4 9 T7+4- SJ k30 3J
AB+C)= L )l e 5) (1), (2) = (4B)"=BTA"

_(2-3 2+18 4+15)
L1041 10-6 20-5)
-1 20 19)
= (1
1 4 15 )
1 3) (1 -1 2)
AB = X
s -3 5 )
_(1+9 -1+15 2+6
5-3 -5-5 10-2
_(10 14 8
2 -10 8
1 3 2
o -1 3\ i }
5 1) 413
_(1-12 343 2+9) _ ( 6 11]
s+4 15-1 10-3) 14 7
-1 20 19
AB+AC = [ j —-(2)
11 4 15

(1), 2) = A (B+ C)= AB + AC

12. A= (_3’1 3 stelled, 42— 54 + 71, =0 etewr
Blmieys.
A2:(3 N (3 1)
1 2) L o)
_(9-1 3+2) _(8 5
Tl c1ea) s 3
A2 =54+ 71,
(8 5 (3 1) (10
53 a2 o )
(8 (15 5) (7 0
“s 3J s 10} 0 7)
_(8-15+7 5—5+0]_(0 0)
" 54540 321047 Lo o)
A* — 54+ 71, = 0 ere01 BlemNGsLILL L g,

% % Kk
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4. ugeliLIev AB _ BC
PO OC
2 WIS 6T 5 6 5
"""""""""""""""""""""""""""""""""""""" = 2=2= x=2
1. AABC syeng ADEF-5@ eaugleansgamel. x 3 2
Gued BC = 3 Qs.8, EF = 4 Q&.5 wpmd =25
; 5 AABC -uflesr upLiy = 54 Q@ | ~---m - mtmmmmommmme e
f:h?"ggﬁ unsefu:ﬂzuf::m ; Qo8 | 3. AABC~ ADEF-s5, AMBC-ulleir Lyt Qe i,
' ) ADEF-ullesr uiy 16 Q&8 wpmud BC = 2.1
Q&.15 ererfled, EF-uflest Semd smewrs.
Om eugleunss (PsCanemTmisEnenL_(w Ziey:
urligseilest elldlgwneng eunilest 55 A
LISSEISHEHeNL_W auTSHSEIS6MeT 018555)h @&
&LDLD 6T6VTLIS M6
AABC -t uptinene) _ BC’
ADEF -ullest upliLieney EF? E F B e
54 _ 3 B )
DEF -Bs viiores ~ & AABC ~ ADEF eteiis.
(A4BC)-ev1 LipliLeney BC?
Sei it  16x54 _
ADEF-Wievt upliLeney = 5 (ADEF)-e81 LipLiLieney EF?
= 96 Q5157 _ 4B _ 4C
-------------------------------------------------------------- DE*  DF?
2. &0y Qar(ssuuLLauniled ehg )
P&CarenTEIST Qg ClaITSsmeal TRTLINSS — 2 _ @
Gerglssajw. Cueib x-ufler I srewTs. 16 EF 16
: - EF = Q1 %
= EF =21 % %
= 2.8 Qg..5
4. AABC-wier uésmiser AB wpmd AC-6d
i. uL_sHeSmHg Siemwhg Leraflser weopGu D womw E
31 5 z+2 7+4 Guew, AB = 5.6 Q&.15, AD = 1.4 Q&.5,
AC _ T 7 ) AC="1.2 Q&.8, wipmd AE = 1.8 Qs.15, ererfled,
AE 2 2 2 DE || BC etewrs smL_(h\s.
111l
== (1)
2 2 4
AB  3+5 8 3
A5 222 2
AD 3 3 @ D
AC , 4B ~
D),2)="—= #— N
(D, @) o 5
~- ABC oppib ADE g Clainggene AB=5.6 @&.8, AD = 1.4 Q&.15,
............ A AC=72 Q&.8, AE = 1.8 Qs.18
ii. L gfleSlmhe A4BC wppd APOC BD=AB-AD=5.6-14=42 Q.8
ZABC = £ZPQC="0° ----(1) EC=AC-AE=172-18=54Q8.8
(65 Canemtmissi &i01b) AD 14 1 . AE 18 1
. —=—— == P — =—"— = -
£C = £C (Qung) Garemmbd) ~(2) DB 42 3 PP®EC 543
s LA =ZQPC (- AAA eNdling ) AD  AE
AABC wpmid APQC sydlwer eulqQleunss DB EC
(p&CanevTmISET. ~.DE || BC
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____________________________________________________________ L
5. uLggdled /4 -uller @mewteaiiy AD sy @b, (ii) AD=8x—-7,DB=5x—-3,AE=4x -3
BD = 4 Q&.8, DC = 3 Qg5 wHmw AB =6 womw EC = 3x — 1, eresfled, x -er gLy
Q&8 eresfled, A C-emwis Srevrs. STEwTS.
giey:
AD 3 415088
DB 4
B i es8 D 3088 C AE:x,ECZIS—X
Sior 1253 | B(; iﬁwm Gg»;,nmuuwp
AABC-ulle0, ZA-ulest @(m&wbleur g AD. —Z=-22 5 2= 1
.. . . DB EC 4 15—x
e1euiGeu, Ganewst QmHEwLOlOIL 145 Canm&dlesr
Lig 3(15—x) = 4x
BD _ 4B 45 —-3x = 4x
DC  ac we
4.6 o e x = 2= 643 Qe
3 AC R
s1e0iCeu, AC = 9 _ 45 Q.18 ii. Qasr&sLUL L emeu:

AD =8x—17, DB = 5x -3,
AE=4x-3, EC=3x—-1
DE || BC Ggeverd GommLiLiig

6. Qer@ssiu @erer 4
uL5gled AD eTeiTg)

ZBAC -Wesr @m&n AD _ AE
Qe igur@w. AB =10 DB EC
Q&.5, AC =14 Q&.5 N 8x—7 _ 4x-3
wHm BC = 6 Clg.15 5x-3  3x-1
— GaeS ¢
eresfled, BD wpmid DC g = (8x=7) Bx—1) = (5x-3) (4x-3)
SIERTS. =24x> —29x +7 = 20x>~ 27x +9
giey: = 42-2x-2=0
AD etes111g) ZBAC -6v1 @(HFbleuL g uin@Lb. = 2%2-x-1=0
AB =10 0Q&.8, AC =14 Q&.15, BC =6 Q&..5 (2x+1) (x=1) = 0
Carever Q(mawbleu g CHmmLiLg, 1
BD AB X = 1, X =— E
DC AC sx=1
x 10 o Admr o LT L .
c—x 14 8. AABC-ufle®d D wimw E eewim yereflser
X 5 weopGu  ussmEser AB  womw AC
o—x 7 S Flweunfler 153 S|MIDIF|6TETEDT.
Ty = 30— 5x Wereumeuareunniing DE || BC eter Bimieys.
125 = 30 (i) AB=12@s.5,AD =8 QeS8 AE =12 Qz.5
30 e ) wHmib AC = 18 @lg.15.
2 (ii) AB = 5.6 Q.5 AD = 1.4 Q.5 AC=17.2
~BD=25Q&.85 DC=3.50&.18 Q&5 wHmd AE = 1.8 Q.15
7. AABC-ulesr ussmiser, AB womw AC uler A
Bgleter yereflser peomGu D womw E
gl DE || BC etestpeunm) jemohSIeTens).
) AL _ 3 e AC = 15 QeS srerfe / \
(i) 8 4 LoMHMLD &.10 ereuflev
AE-uflest iy srevs. B C
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Gendlssayb.
(i) AB=5Qs.8, AC=10 @s.8, BD=1.5
Q&.15 wHmid CD= 3.5 Qg5

(ii) AB=4 Q&.5, AC =6 Q&.5, BD = 1.6 Q.5
womw CD= 2.4 Qg5

39
i. AB=120Q&.8, AD =8 Qg.15, 4
AE =12 Q&.8, AC =18 Q&.18
AD 8 2
=z _°2 £ —(1 4
AB 12 3 ) ¢
AE 12 2
422 —)
AC 18 3 B 16 24 C
AD  AE ii = =
(1)’ (2) - == ii. AB=4 Q&:.LS, AC=6 Q&.LS,
4B 4C BD=1.6 @&.18, CD =2.4 Q&.8
ii. AB=5.60s.5, 4D =1.4 Qs.15, AC 63
AC=72 Qe.8, AE=1.8 Q.18 BD _16 _2 —(2)
CD 24 3
4D _14 _1 (1) AB~_ BD
4B 56 4 M,@=--=
% _18 :% —-(2) (. Carewer Qmawbleu g CoHmmLiLig)
7. AE ZA -ev1 Canewst @\maleuL g AD oy @Lb.
M. Q)= —7=—
AB  AC 5 LDBNIALITIBET
DE||BC | T e
e L BOOWOL
9. ljlsﬁm@mmm;f)gjdr A/.IBC-u.ﬂes') AD é;basrgu[ SqtuemL aldzsn Copnsms awsd Pnes.
ZA-lleir  @mewtlaiy  @wLr  ears || Sieveu51) Cze0a0 CHHMLD.

A

3
DALl 2AE.
i PN
B C

5flﬂ|= A
Sapmi:
> 10 of  CrisCarl WwsCaremsdler e
USSSHNG Qevewtwnseyd wHO G
B 15 35 C LI& & B1565) 61T QG)JL@LDH@JU) QUEMTWILILIL L_Ted

i. AB=50&.15, AC=10 Q&.L5,
BD =1.5 Q&.8, CD = 3.5 Q&.15

9150s1(h euallyesi(h LSSBIGmEMTUD &FLo
alflgsdle0 LM&Hmg.

ﬁ — i — l —(1) !!‘,]@LIMTI.E):

AC 10 2 Qar(H&sUuL L emeu:

BD _15 _3 @) | ABCASd, AB-eir Gogisien siefl D,

CD 5 7 AC-wilesr Goed 2_seiter Lyentefll £ gy @Lb.
AB BD AD AE

1),2) > —#— dss: — = —

.@ =~2=%p Bepilés: T =

(. Carever Qmawbleu g CommLiLig)
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A(-1,2), B (k,~2) wpmitd C (7, 4) pFweupenn
aflevgwrer (penerll Leteflserras Clamesr
w&Carewgdlesr LY 22 &SIT 6OGS6T
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(LPEDETLIL|OTONSET B (GHLD.
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AGﬁTLIIIIJquxZ A
X 21-3 -5
XN -l

[

—_—

= [(6+20+3) — (4-18-5)]
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Slemwwor eTerd Siromeflssayd.
i) (—% 3] (5, 6) wpmitd (8, 8)

Siey:
(-1.3)¢5.6) wpps (.9
2 1 3
XN 2
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2 2 2
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X1, V1 X2 W2

(¢, ath)
X3, V3
X=X

V=

X~ X

Y=V

Aevt Lipliy = 1

a->b
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eTemT | (pemerrLl Leraflaet (ogir 513R0ed)
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(p&Canewstgdlest LipLiy = 0
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2 P IALIDIBET

1+ cosA B

Sirey:
sin 4

1+cosA4

sinA4

_ sind ><l—cosA
I+cosA 1-—cosAd
sin A(l —cos A)

(1 + cos A)(l —Cos A)

sin A (1 —cos A)
1—cos* 4

_ sinA(l—cosA) ~1—cosA

- sin® 4 )

2. 1+ = cosect ereviLeng KlemLilsaab.

1+ cosec@
Bijey:
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cosec’0—1
=1+
1+ cosecl

1+
cosecO+1
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(cosec@ + 1)(00sec€ - 1)

cosecO+1

=1+

= 1+(cosect — 1) = cosecd

3 1+ cos@
1-cos@
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\/1+c0s9
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:\/(l+cos0)2 :\/(l+cosﬁ)2
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sin @
1
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sin @
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Camyrsdler ouqiLEHuiledmbsl seorulled an) = B MESLD i =
48 15, Qgmemevalled 2_arer eam Yeteaflufledimnbs) (DS g66m LSS
Caryr e Ffluiler HmsCGamemrd 30° ereufled, 1043 3
¢ SS\euT 2 WITSmSS STewwrs = tan 0= i £
STLTS TS5BS HNewTs. 30 —wa
N 5
tan=— =tanl=——==
an 3 an NN
1
tan= — =  0=30°
3
sﬂ-q: R 4818 Q -____-__-_-__-_-__-____-: _______________ T T T
s1liiLiGatb PQ 9. 20 srrm.s\)u.ﬂscr Smwumpd . @GIDI_Q.G.).ISTHGILI
APQORed  tanf = — — = Peveomoed auflemswrs aipHsear OFr_irsfwurs
2bsgietenused QR 2_eiveresr. gjeunrflesr 2wmd 4 /3 18, urgerfl
tan 30° = h N L3 emeair  stemeoufler  emwowll  LGISlulled
48 J3 48 BlarmQareni® euflmawns 2 ster afsmer
48 3 483 Crré@dpmir. 30° HnsCarenrsdled Lrgemfl
= 3= = 1643 afiger 2&deow Curégdpmi erefled,
NENA] 3 sreneouilar 560555 SITETRTS:.
A S5
h=163 8
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10 Spid QUL - Henfisid 73]
s
11. 50.\6 S 2wrgeier @@ urepule
¢ e sAullefimig  30° QmsssCarenTsHled
soorulgyerer  wHAWHS @STH UTTESL
Wi Wi Wi u@®Hmgl eresfled, wWEH(PHIDGWL LTMDEGL
5:: : Bem_Cuueter CFTemeveNaIs SHTETTS.
A
LLSHBhS. -
BC - 3@, AB - sneneoullest 860LD, ABC led
P - snemeouilest epiowiLiLi@s) ;'@iruésa,u')
AP =PB=x tant) = .
BC (DS 66T LISSLD
APBC-ed, tan30° = — 5043
PB tan 30° = ——
= tan30° = M = = = ﬂ e
PB 3 PB 15043
PB =43 x \3 V3 ke
=4x3=12 KC =503 x3
sreveollenr gymeob = AP+ PB=12+12 | =50@®=1508
=24.8 12. @rewi() SLLLESEHSHE Qoo L

10. 20 § e wppster SULL Sflet 2 sdufled feoLwliLs  Ggtema 70 5 oEb.
em alomerurl® oy ywikSICSTERIH GrewiLreug) sULLSglar 2 sAulleflBisl
sonigeir e ubws 60° @péss | LBV S-LLgfe  2806G el
Gorawgdled smewrdlpmir  erefled, SLLL @Pssso(gsrr-mrm 45. B So. @'7"’?'"—"9‘5.1
SiiLEHsGH LEHDED B Guuerer | S-Sglet ewrd 120 f aafled @ged
Qsreneemeus srewis. (/3 = 1.732) SLLL Sl 2 WrSemgd srewis.

(3 =1.732)

siyey:

120 -x

120m . P

70 m

X

B D
70 m

sl iqL_Gdlest 2 wyd BC = 20 15 etevias.
seorulled Lbg QMmeEh QL sms A sets. . :
/XCA =60°=~/CAB uLSedmbgl AB = 120 5
EB=CD =x, AE=120 —x,

CD - (p5ed &L 1qL_Lb
AB - @uewTL_neug) SL IqL LD

QlemGarewt (p&sGamewid ABCullev,

tan 6 = B< EC=BD=708 ISHTLISSHLD
AB AACEWed, tanf = — —
S|(b\GgleTem L&sLD
.20 20
tan 60° = — = \/g = AE
AB AB tan 45° = —
AB = 2, V3 e
NN N | = 120—x
2043 20x1.732 70
AB = == =5 = 120~ x =708
- 34'3640 =11.54 8 Sx=5018
e1651Geu BL 1L _SFl6vT 196G LHAMEGLD * %k %

QevL_LiLLl L Qgrenevey = 11.55 1§
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

7. STy

2 1D WIALIEHIHEIT

l. @® &abller oL saewié smuwrd
5 Qe.1f oyEw. BT DM JYTESET 4 QF.15
wHms 1 Qe.5 erefled, DevLsaewigesr
QIEMETLITLIEHLIS STEoTS,
gier:

[=508.18, R=4Q&.5, r=10&.5
BevL_saemiL_g Sl euenemLrLiL
=nR+r)le9y

= %(4+1)><5

_ 22x5x5 _ 550
7 7
= 78.57 5.Q5..5

2 @it e @eemler b wHQIG 2 wrEisefe
aflflgw 5 : 7 gu@w. JFaT euenerry 5500
g.05.5 erafled, 2 memeruilesr STd WHMILD

2_ Wb SHrevTs.
Sirey:
r:h=5:7=r=5xQ&.8, h = 7x Q&..5
euemerurliy = 5500 &.Q&..5
2nrh = 5500
2% 22 X 5ex7x = 5500
7 2 _ 5500
2x22x%x5
=25
x =5

QU =5 x 5 =25 Glg.S
o wpw =7 X 5=350&.15

3. s oyrEiseT Oarewi. Q@ gawbysefler
sengjeraisar 3600 &.01&.85 wHmid 5040 5.01F.
1§ sreufled, 2 wnEiseaflear alldlgw srewrs.

Sie;
S6u1 66 S6MesT eXlflGLd

= % wr h,: % w?h, [ QYTEISET Fl0b]

=h, :h,
=3600 : 5040
=360 :504
=40:56
=5:7

4. @m Carermiseaflar gy rEseflar alldlgw 4 : 7
aesfled, Seupnler ser eraysaflar alldlgw
STE0RTS,

B Canremmiseiler oy rriseie alldlgw =4 : 7
Canemid- 1681 gy yib 7, = 4x,
Gamerid- 2681 oy 7LD r,=x,

Sev1 jeTesane allflsLn
4
B 5”’"1 B }”13 - (4x)’ C #xy
:7[1’23 }”23 (7x)’ 77 xx?
_4_ 6t
7 343
Seut jereysefest el 64 : 343
5. @m Jlewios Camemd wHMID  Flewiwo
SioT&Ca s Seut QrssL Uiy

gLTETSTS SHHGSLIRTTE) SeunHleT e
Siemeysafler afldign 3/3 : 4 erer BlemLil.

lewwtons Canengdlen Glongg LiFLiLene| =
Slewwtio emr&EGanens e Glongg LiTLiLeTey
4nR* = 3w
R’ 3 R 3

-, 3 = - = — = —

r 4 r 2
. B6UT e Selert alHFLd
4 o
gﬂ'R B 2R3 B |:R:l3 B |:\/§:|3
=S— =5 =2/ =2| 22
5727"3 r r 2
= 2 X ﬂ = ﬁ
8 4

. &6 Sjeneyseiest eldlaib = 3+/3 1 4

5 FWICLIGIH6T

1. em Osmflbsrencouilar 2 Geors eumefl,
sgaller QenLssewi  augalled 2 eTers.
Siger GumHLm, Lilp el L_Fset pennGw
10 1§ wHmis 4 15 @Ww. JiFer 2wy 4 15
aeafled, oL saewTSHear eueneTLITLIL
wHMID GTSSL UDLILITLINLS STenTs.
gie:

GuedellL1b =10 18

ST R =518

Spell b =418

Qb =215, 2wy h =415

emywyd [ = Vi +(R-r)
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2

- J2+G5-2)
| = J16+9 =25 =518
BevL_sa6wTL_SSletT euememLrLiLy

= (R +7)l &. Se0@GS6N

%(su) <5

22
= 7 x/x 5
=110 15°
BevL_saewiL_gdlesr ClongsurLiy
= (R +r) + TR + 1’ &. QEOGS6T
= 1 [(R+r)] + R*+ 7]
- % [(5+2)5 + 52+ 27]

- %(35+25+4)

= @ =201.14 87

euemenuiriy = 110 8? wpmud
Qurggurliy = 201.14 187

owm GCuengy eallarsdlar Ceaefllyngdng

(CoedLi@FuyL6vr) L (Hid QUITEwTLD

LFIU@IAng. 1 #0515 eaiewnd L& I 2

Qeevaur@lwefled  elleradlnE  euiewrd

LhyFaugnarer Clorgsé 0Feameals semrsal(hs.

Siey:

L S&ledmhs)

r=618,R=1218 Goos

LD[]_’)Q]LI.) h=88 Sae.s l._v‘\\\

SheuTne0, [ = \/hz +(R-r)’ 129. Y
= V8 +6°
= 64436 =100 =10 18

=108
Cuene alensdlerr Clrgs LiTLiLy

= Guene allensdlest eueneney +
Gupu@dluilesr Ly
=n(R + r)l + nr?

— 22 18x10+ 2 x6x6
7 7

:27_2 x6[30+6]=% X6 x36

=678.86 157

1 8.5 &@ @ ClFevey T 2
. eUTTeTOTLD LhE &L Clgevey = 678.86 x 2
=31357.72.

ewypd 16 Qs 2eLw WM Fawbier
BewL_ssenT alqailed SemwHEs CsTaTse06T
searflar Guhymw Fmbs Bleneoulled 2 eTerg).
Spuym sy,Tbd 8 ClF.15 wHmid CuHLm <7 20
Q.15 Qarewi. ClemaTseefled (p(penwwTSL
ured BlruuLuBEngl. ewm el ureSler
aflmeo I 40 erefled, Mlyiuiu@w ureSer
Qurss aflmeenws srewis.
h=16 Q&.18, r=8 Q&.15, R =20 G&.15,

BeoL_sa6uTL_5 6 Sevii6Te

= % Th[R* + Rr + 7] 8.9

- % x 22 X 16[202 + 20(8) + 87]

= L 22 161400 + 160 + 64]
37

B 22 _ 3

=~ T2 16X 624 = 10459 Qe

=10.459 69 Lir

1 eSL_L_it LimeSlesT ellemev = T 40

10.459 6L L_it umedlest ellemev

=10.459 x 40 =% 418.36

45 Q&5 2 wp@perter it BenLsaewTLSSer
B®m up yrEseT WeepGuw 28 Q.5 wHmd
7 Q&5 erafled, Qev_ssemi_gGIlar Sewr

SIOTENEUS: HTERTS.
Bijey:

h=45Q&.8, R=28 Q&.18, r =7 Q&.15
BevL_sewwiL_SSlevt sevieey

g [R2+ Rr+1*] 8.

x 27_2 x 45 [282 + 28 x 7 + 7]

T 45 (7844196 + 49)

22
x

3

1

3

1 2
— X
3

I

= x 22 % 45 %1029
37

=22 x 15 x 147 = 48510 Q&..5°

* %k
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8. Ljefrerfiiouid 1589580

2 1D WIALIEHIHEIT

1. Qar@&suulL grejl yeraflseps@ eiFs
wHmid eIFE&5QSW yIUaDODS HTeRTs.
25, 67,48, 53, 18, 39, 44.
giey:
WlaLt Cufiw wdiy L =67,
WBlag Alw iy S =18
oféa R=L—S=67—18=49

L-§

L+S

_67-18 49

ef§a80ls1p = T = %5 =0.576

2. Qar@&suuLlL ureeller alFs: srewTs.

ef&§a50l81p =

Q| 16-|18-|20-|22-|24-|26-
(upLmiseafled) | 18 | 20 | 22 | 24 | 26 | 28
LomeseTeuiT S erfleuT |:
6T6UT 6UBT1 56008 01416822

BriE Wal Quflw wdliy L =28
Na& SPlw vy S =18

oféa R=L-S=R=28-18

= =10 eupL_misaT

3. @@ sveller afés 13.67 s Waws Ouifiu
waliy 70.08 srefled Wlass HAflw wHiemus

SIT6VUT S,
afga, R = 13.67
a1 CQufiw wdiiy L = 70.08
oféa, R = LS
13.67 = 70.08 =S
S = 70.08 -13.67
= 5641

ereurGeu, W& Sl iy 56.41

4. Spsaremid FTaSEHSHE 6IFs LOHNID aIFss
Qs (pemaud HTewTs.
(i) 63,89,98,125,79,108, 117, 68 |a&i.20|
(i) 43.5,13.6,18.9, 38.4, 61.4, 29.8
i. 63,89,98,125,79,108, 117, 68
L=125,5=63
oféa, R=L—-S=125-63 = 62

ef&&50l81p = i_i
_+_
_125-63 _ 62
125+ 63 188
=0.33

ii. 43.5,13.6,18.9, 38.4, 61.4,29.8
L=61.4,5=13.6
ef§a, R=L—-S=614-13.6=47.8

ef§a506l81p = i_i
+
4718 478
61.4+13.6 75.0
= 0.64

5. @@ srallar afse wHmIS Was Ay i
S Flwer wpeonGu 36.8 wHmd 13.4 erefled,
sueuflw walliemus sremrs.

ef&e, R =36.8
Sdlw vy, S=13.4
Cuflw wdliy L = R+ S
= 36.8+13.4=50.2

6. QarM&ssULLL sreiler elémes srenTs.

QI(IHLOTEITLD 400-450 | 450-500 | 500-550
eanfluiirserflest

eTevvTevTlS MG 8 12 30
QI(IHLOTEITLD 550-600 | 600-650
eanflwirsefles 21 6
eTevvTEUUT &M E

gijey:

Qar(M&sLILL L emeu:

Cuflw wéliy, L =650
Sdlw vy, S=400
cef&s= L —S=650-400=250

7. 3021 Bued stemtaefler Sl L aflosasamss

STEwTS.
360 21 Quied erewtTaafett Sl L_allevsasLd
n -1
0 =
12
_ @iy-1 \/441—1
= [#0 = 36.66 =6.05
12
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8.

. greller  syreflurerg 25.6 wHMID FewT

. @® greler Sl ellvssn wHmw syref

om srailer L allwssd 4.5 gy @b, JiFled
Bmé@w Fre yerafl geiClaursirfleyd
5-m siflss dosEw yslu sreier S
aflvssd srewrs.

giey:

QR srailer S allevgsd 6 = 4.5,
SreyLileref eibleursmiaib S sflés,
SlemL_s@b UHw S L elevssid 4.5 oy @Lb.

o srafllar i aflwssb 3.6 9@, JiFeT
sauGleurn Yereflenwis 3 1,60 au@ s @wGurg)
dewLs@ uydlwu sreler L eaflossn
wonb efllewss airsss srreflows srenrs.
giey:

QR sraler SiL_alevssd 6 = 3.6
sre|LiLeTe eeibleumssmieid 3 o160
UGSGWCLTE SewL_LiLg = % =1.2
gmeug 4w L L_alevdsd = 1.2

AW eNevés euités srnefl = (1.2)°
o’ = 1.44

wrpur (s Csqpeurerg 18.75  erefled,
BT Sl L efllvsadmzs sremwrs.
grne X =25.6
oL Hs G C.V. = 18.75
v =Z x100

X
(o3

18.75 = x 100
25.6

. _1875x256 _
100

4.8

SpFlwer wepGu 6.5 womd 12.5 eresfled
wrpurL(Hs Cle(meas STewTs.
giey: .
wrium_ (s Caw C.V.= — x 100
x

Freiles S L elevsasd 6 = 6.5
grne X =12.5
L (Hs Clawp
6.5

X 12.5

125

%100

12.

. @ srailer #rrefl LHMID WrHLTLH'S Cls

.n=5,X=6,Xx> =765, eresfle0, wrpurL(hé

om greller L ellssn  wHm
wrpurHs Qs IpFlwuer werpGu 1.2
wHmib 25.6 erefled e syrsflenns srewrs.
grelesr Sl L elevssd 6 = 1.2
LT G e CV = 25.6

=2 %100
X
T=_9 x100= 22 xq00= 1290
cy 25.6 256
¥=47

eopBu 15 wHmid 48 aefled yFer S
aflevsss5mas SrenTs.

giyey:

greles gynefl X = 15

oL (Hs& Glaup C.V. = 48

cv=2 %100
’é,]l;l_gﬁ]s\)éiasu')(i: CV xX _ 48x15
100 100
720 _ 4,
100

Q&@mma’. ST6TTS,

n=>5%=6,%x*=765
n n

= V153-36 = /117

F L ellevsad 6 =

=10.8
wrmiLT (H&6l&(1p
= 2 100%= 228 x 100
x
= 1080 1800
6
. @@ eouwiled 5 B BipULBSISEHL, 4 LUFME
BpLuBgsepd 2 eterer.  eouuiledBBS)
geumuiiy penpuiled U} uBS|

a@ssULBEng). THSSLILHIL LbsTerg) (i)
Beowors; (ii) Hevwors Gedeomoed SHLILISHSTeT
BlapSsmals Sremrs.

gie:

Clorgg eumiLiLgeflesT eTevtTensllsensa
n(S)=5+4=9
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. 6(1h BTERTWILD eLpeiTm) (Penm FewTL_LIL(HEnS.

. @ CBL_L_mewriq.ed (leap year) 53

53

i. A etetiug) Bev BDLiLIBENS CLMIeUSNHSTENT
Blap&S eTetis.
A Blspeugnaest eumuiLiLgeflest
cT6utTETsNS6m& 1n(A) = 5
sev BIL Lhg) SlewL_LILgmnamest

. ~n(A) 5

Bapgsal, P = L =g

ii. 4 oeng Bev BDLILGS SHenL_&&Moed
Bme@w Hapss, stesGeu,

PA)=1-PU)=1-> =2

@)= 1-PU) =15 ~ 5

. Qrent( BIEVTLEISZET QEATHISE FewTL LI
u@derper. Qe  BrewruEsaflLd
CauaiCGaum  woEsaT  HoL_LLgHeTeT
Bapsec aaier?
Siey:
Brewi(h BresTwESeT SewT_LiLGLOILNLS)
BV T M) Cleusilwimena)

S={HH, HLTH,TT}; n (S) = 4

A Sy6518) Bresrmigeed CleuaiGoum) (pamige
QlerewTL Blapas eTevis.

A= {HT,TH}; n(4)=2

py="2A) 2 1

Brewi(® D S5O'SS LhSs6T SHenL_LILiSDHsmesr
BlSLS556] 6TesT6ur?
gier:
S={HHH, HHT, HTH, THH, HTT, THT,
TTH, TTT}
n(S) =8
Blapsd A:
2055058l wb sl Blepss)
— (HTT, TTH, TTT}
n(4) =3

Puy="0) 3

gafladlpenwsar SenLLLgnarer Blapssa)
6T6UT6UT?
Siey:

S = {epmilmi-Fmisar, Hmiser-Claaieumu,
ClFeiIeUMUI-L|S6WT, L|G6uT-awmperT,
ellwumperr-Gleueal, GeueTal-er,
Fevil-epmuilm }

|

. @@ usemL 2 BLLUuBL 465 Crrsled

. P(4) = 0.37, P(B) = 0.42 , P(4~B) = 0.09

. P(4) = % P(B) = % P(AUB) = % sreafled

n(S)=17

A eediugl 53-eug Fel&dlpenid HemL @
Hlap&S erevis.

e1681Geu A = {Cleusiefi-gerl, sevil-epmuilmy }
nd)=2

53 gefisSlipenioase eﬂsm_uug,g')esrrarr

n(A) _

Blapsseunesig P(A) = S 7

G g,nsmu@m &mrr;uu@aﬂpg usenL_uiled

heOMLILIEHL eTewT SlewL_LILSHESLD,
BrewrugSled  Feweos  SlenLLILISMHEomesT
BlEpSsmals &Teurs.
Siey:
Die an
1< .
H
D
H
=—
=,
H
5= |
H
G
Fnm)Gleuaf
S={1H, IT, 2H, 2T, 3H, 3T, 4H, 4T, 5H, 5T,
6H, 6T}
n(S)=12

A 24608 @DEMDLILIENL 6T6W0T LDHMILD M6V
SlevL_LiLgnasnen Bl&DES 6T6v18.
A= {1H, 3H, 5H}; n(4) =3
_n(A) _ 3
n©S) 12

N

erefled, P(AUB) gmé srewis.
P(4)=0.37, P(B)=0.42 , P(AnB) = 0.09
P(AUB) = P(A) + P(B) — P(A~B)

P(AUB) = 0.37 + 0.42 — 0.09 = 0.7

P(AB) srevsrs.
Sirey:

P(A) =~ P(B) =3
P(AmB) = P(A) + P(B) - P(AUB)

P(AUB) _!

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

10 Opib QIGLIL - Sewfigid

www.Padasalai.Net

www.Trb Tnpsc.Com

P(AB)

s n Qued erewrsefler symefl wHMID
allevss aursss srrefsaners smewrs.
Siiey:

_ sreyll Yeensemes ga(hged iy
grre x =

Fre|Lll Leieseler stesreuisena
n(n +1)

2xn

:Zx

n n
n+l

2
a6V68 euTsEHE FTneh 62
S =1 +2° 43+ 40

_ 3’ [Exl.jz
noo\n/ (=) =(142+3+..4n)
_ (A )2n+1) |+ D[
- 6xn _| 2xn |
_ n+l{2n+1 n+l
) { 3 2 }
B n+1{4n+2—3n—3}

2 6
alevsaeuisad Frnaf

2 I’l+1[ 1:| n’ =1
G = =
2 6 12

1+2+3+...+n

X =

Qrewi() vuseL&eT 2 (HLLLIL(Hlermerr.

HeoLssLtumid s wllyseflar gaHHed

(i) 4 -8@#& swwors (i) 10-g el Quflsrs

(iii) 13-z all_& Gmpeaurs BWwLLSDHSTET

BlEPS56] STewTs.

gier:

Brewi(h LseLG6 2 (HL L LILELOLNLYS,

anm)GleuaTwimesg

S={(1,1),(1,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3),(2,4),(2,5),(2,6)
(3,1),(3,2),(3,3),(3,4),(3,5),(3,6)
(4,1),(4,2),(4,3),(4,4),(4,5),(4,6)
(5,1),(5,2),(5,3),(5,4),(5,5),(5,6)
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)};
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(i) > — 8x + 16 =0

y=x>+x — 2 -63T euemyLL_LD UMTTHS] G601
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FLOSTTLIML_6DL_& &T&HSHeaLb
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PQ-&@ eusmrwliul L BH&CHM 16 Herd
RG = 5.8 Q&.5 eter @ms@wmm APQR
euenrs. R-edmBg PQ-&@ euempuiliiL
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Bebd 4.2 Q&5 Glaresi APQR euemys.
Slglingsn BC = 8 Q&.15, A = 60°wHmibd
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—3Q2x+k)-2 —2(x-2)+k W =1 g =201 .
=6x+3k-2 —6x—4+k (fog)(x) = fg(x)) =2’ — 1) = 1
fog=gof=6x+3k-2=6x—4+k (goN)x) = g(ftx)) 2
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-------------------------------------------------------------- X X
2. fof (k) = 5, fik) = 2k — 1 eresfled, k-uflesr 4 8
wEIenLs STewTs. - 2[7_ ] T2 2
fies O
fof (k) =5 _ x+6 B
fo2k—1) = 5 iii) fx) = . ,8(x)=3-x (Box)ss
2x—1)oQk-1) =5 (fog)(x) = flg(x)) =3 —x) =
2Qk—-1)-1 =5 _9-x
3
4k—2 = 5+1 B (146
. (s0)(5) = 2 = ¢ X
4k = 8 _ 5 x+6 _9-x-3 _6-x
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3. Gps Qen@ésuLL Geier [ wHpb g ereud
smjyseneTl LweTUHSS) fog WHMID g0f-208
srewts. fog = gof ererug eflur Candlss.

(@) .f ) =x2— 6, g(x)=x’

Wf@==, gwm=27-1

(i) £ ()= *+°

iV f(x)=3+x, gx)=x—4
WM f)=4?-1,g(x)=1+x
giey:
i) f(x)=x-6,gx) =x

(fo@)(x) = flgx) =fix’) =x* 6
(go/)x) = g(flx)) =g (x—6)

= (x—6)>=x>—12x+36
. fog # gof

,8(X) =3 —x

iv) f(x)=3+x,gx)=x—-4

(fog)(x) = flgx)) =flx—4)
3+(x—4)=x-1

(gof)(x) = g(flx)) = g(3 +x)
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- fog = gof
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(fog)(x) = flg(x))
= A1 +x)
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4. fog = gof eresfled k-ullest FLienLIS HTewTE.
Hfx)=3x+2,g(x)=6x—-k
(i) fx)=2x-k,g(x)=4x+5
i) fix)=3x+2 gx)=6x—k
¥ ¥
(Bx+2)o(6x—k) = (6x—k)o(B3x+2)

3(bx—k)+2 = 6(3x+2)—k
18 -3k+2 = 185+ 12—k
—3k+k=12-2
-2k =10
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k=
k=-5
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Jog = gof
¥~ S
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24x+5)—k = 42x—k) +5
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3
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o 2
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2x+7; x<-2
fix)=1x"-2; -2<x<3
3x-2; x2>3
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@i, f(x)=3x—2;/(4)=3(4)-2=10
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eteoi@eu, £ (x) =x° —2; f(-2) = (-2)> -2 =2

iii. (1)-emBal, f(4) = 10. 1 (1)-ev1 wHIewL1s
aewt, X = 1 oy 6018 Gresvr_meug
Bew_Glaueluled 2_siteng). oy ensullewmmed
S () =x"2 Swpg, /(1) =17 -2 =1
srenCeu, £'(4) + 2/ (1) =10+ 2(~1) =8

iv. f(1)=-1,f(4)=10. etev18 sHewwTGLMLD.
f(3) -emwis snever x = -3 oy 6u15)
evipreug QenL_Gleusulled 2 siemens s
STevuTeVNLd. Y emaullevtmed f(x) = 2x + 7,
srenCey, £(—3) = 2(-3)+ 7 =1

F(1)-37(4) _-1-3(10)
£(=3) 1

2. fetetm mLTCTS)
xX+2;
Sx) =125

x—1

etevTG60, =-31

x>1
-1<x<1
3<x<-1

6TEUT QUEMITIIM|SHSLILIL_L_T60
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L3 ]

®.f@) (i) f(0) (i) f(-15) (v)f(2)+f(=2)

SpFlweuprier Il semers srewts.

i f3)=x+2=3+2=5
ii. £(0)=2

iii. f/(-1.5)=x—1=-15-1=-2.5

iv. £(2)+1(-2)
—[x+ 2]+ [x—1]
=[2+2]+[2-1]=4+[3]=4-3=1

""" £ -5, 9] - R areirp smijLreng) Mefreugsionm
YL TV EEANIRTGYEAT Y
6x+1; -5<x<2
fx)= 5x—1; 2<x<6 erew
3x-4;, 6<x<9
ueTunISESILHEIDG) erefled,
Ueraumeuathenms smesmrs.
@) fE)+HfQ) (ii)f MD-f@

f(=2)-£(6) [
(iii) 21 (4) + £ (8) @i )—

, f@)+1(-2)
Siey:

i f(3)+/(2)
=[6x+ 1]+ [5x*— 1]
=[6(-=3) + 1]+ [5(2)* - 1]
= [-18 + 1]+ [5(4)—1] =-17 +[20 - 1]
=-17+19=2

ii. f(7)-/(1)

=[3x—4]—[6x+1]

= [B(7) 4] -[6(1) + 1]

=[21-4]-[6+1]=17-7=10

ZACRNAC)

2[5x% — 1]+ [3x - 4]

2[5(4)° - 114 [3(8) - 4]

2[5(16) ~1] +[24 - 4]

2[80 — 1] +[20] = 2[79] + 20

=158 +20=178

2/(-2)- /()

S@)+f(=2)
 2[6x+1]-[3x—-4]
- [5x-1]+[6x+1]

2[6(-2)+1]-[3(6)

[5(4)2 —1]+[6(

L 1

iii.

iv.

_4:|

~2)+1]

2[-12+1]-[18-4]

~ [5(16)-1]+[-12+1]
2[-11]-[14]
~ [Bo—1]+[-11]

_ 22-14 36 _ -9
79-11 68 17

yelluiiiy ellensuliles snyewrions tallermig sefled
Q@ QurmeT SLS@GW FrTwrerg S(7) = % gt
+ at + b erers Qar(HssLILL (DeTterg). DS a,
b gyFluenau wrledlser (g ezl LalluTiiy
aflemauiler sryewriors rHLBHILD (WPHSSW) S(7)
SQOTH| QRETNSOSTSTHTET STTLNGOT  6Tewr
SIS,

s(t) = %gter at+b

s(t) erevtLg) 1 - 1 oy eu1 ML eTevt HlemLiGe
CeuewniguilmLiLIgmed

s(t) = s(t,)

1 1
Egt12+at1+b= Egt22+at2+b

1 1
Egt12+atl+b—Egtzz—atz—b=0

%g(tlz—tzz)-Fa(tl— ) =0
|
:Eg[(t ) (T talt,—1,)] =0
t,— 1) [~ S8 )t =0
= t,—t, =0
L gl + )+ az0]
2 1=t
1 2

-.8(t) eteitug 1 - 1 oy6u1 FmifLINGLD.

‘v etevrm emumeg OFedflwueniled (C) 2 afer
QaiuBlenevenwwid, LmyeTanL .60 (F) 2 erer
QaiuBlenevenwuwd PeneRTHGD FTTLITGLD.
Gmguu’:agt C)=F etewr suemyum|&&LILIL_L_IT6D,
(@ri@ F = _ C+32).

(i) #0) (i) #28) (iii) #(-10)
(iv) 1(C) =212 5,5 @méHEwWeUNg C-evr I
(v) Q&eddlwerd wIILD LimyesTafi_

iy DmeEweurg QeiLiBlenso

S Flwaupenns; sernfls.
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i. #(0)= J (0) + 32 =32°F giey:
S giftx) =glf fini]l=glfGx+1)]
i, (28)= 2 (28)+ 32 = 50.4 + 32 = 82 4°F =gBCx+ D+ 1]=g0Ox+4)
> g(Ox+4) =[(Ox +4) +3]=9x +7
iii. /(—10) = 2(—10) +32=_18+32 =14°F feg(x) =flglgx)}]=/[gx+3)]
e o = f163) +3]=/ G+ 6)
. #e)= , @@&@;’ sl F(@+6) = [3(x+6) + 1] =3x + 19
212:§C+32 = gC+32:212 gff(x) ngg(x)
2 c=212-32 =2 Cc=180 eteorGeu 9x +7 =3x +19
5 s 5 Ix—3x=12=6x=12=x=3
=  C=180% = =100°C | e
9 8. Qar@&suuLLf(x),g(x), (x) SyFueuhenns

V. Q&e0&lwend iy = unresiadL” iy

% C+32=5C=9C+ 160

—9C—5C=-160= 4C=-160
_ 160 _

. fix)=2x+3, g(x) =1 — 2x woHmibd A(x) = 3x
ereufled fo(goh) = (fog)oh ererr Bimiays.
giey:
fx)=2x+3,g(x)=1-2x, h(x) =3x
BuAunws, (fog)()= flg(x)
= f(1-2x)
=2(1-2x)+3
=2-4x+3
=5—4x
Cogd  (fog) 0 h(x) = (fog)(h(x)) = (fog)(3x)
= 5-4(3x)
5-12x - (1)
2(3x)=1-2(3x)
=1-6x
=f(1-6x)
=2(1-6x)+3
=2—-12x+3
=5-12x -—--(2)
(1) wHmid (2) -eNHHE BSE:S SenL_LiLg,
(fog)oh = fo(goh)

(goh) (x) = g(h(x))

Gueitd fo(goh)(x)

) =3x+ 1 gx) = x + 3 gfluemar @m
gmyser. Cuoew gfflx) = fgg(x) aefled x @&

STEUUTS.

|

Qarewr(y) (fog)oh = fo(goh) erers srL_(hs.
(i) fix)=x-1,g(x)=3x+1 Hmud i(x) = x?
(i) flx) =x%, g(x) = 2x wHmd A(x) =x +4
(iii) flx) = x — 4, g(x) = x* OB A(x) =3x -5
(fog)oh
[(x-1) 0 3x+1)] 0 x*
[B3x+1—1]0x?

=/fo(goh)

=(x-1) 0 [(3x+1) 0 x*]
=(x-1)o[3x*+1]

[B3x]ox? =3x*+1-1
3x? =3x?
(fog)oh =jfo(goh)
FfunfssliuLLg).

(fog)oh = fo(goh)
[(;{4)? x*] 0 (3x=5) =(x—4) o [x*0 (3x-5)]
/\
[x?—4]o[3x—5] =(x—4) 0 [(3x—5)7]
[3x—5P-4 =[3x—5)*-4
[(a—b)2 = a2 — 2ab + b2]
(fog)oh =jfo(goh)

FunissiuLLg|.

(fog)oh = fo(goh)
[(x*02x]o(x+4) =(x*0[2x0 (x +4)]
K K
[2x]* 0 (x + 4] =x% 0 [2(x + 4)]
[2(x+ 4] =[2(x+4)]*
(fog)oh =fo(goh)
FuniésliuL L g.

* %k
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-ZP TGOS OBLD 61 L ITouITanE S (EihLD
A

ii. 867 wHmud 255

1. 210 whmb 55 ofuepdar  SuQUES 867 = 255(3)+ 102 10270
Qurg au@gdleow 55x — 325 ereiipy augailed 255 102(2) + 51 S1#0
erpSleurred x-uflewr LI SHrewrs. 102 = 51(2)+0 51 =0

Sieu; . 867 wombd 255 @evr 15.Cum.eu = 51

iii. 10224 wHmub 9648

2 1DSHILIEHIBHET

Wh6iMIq.63T 61@GS5SH60 auLl(penmenwILs

LweTL(HSH CaTHSSLILIL L 616515 EHHE 10224 = 9643(1) +576 576 #0
5.Qum.eu srewTGumLD. 9648 = 576(16) +432 43240
210 = 55%x3+45 576 = 432(1)+ 144 144 £0
55 = 45x1+10 432 = 144(3)+0 8 =0

45 = 10x4+5 -.10224 wpmid 9648 @evr 15.Glum.eu = 144

10 = 5x240 | T

3. 32 wpms 60 gyFlweaprer BLCLW®m QuTg
g d erers. d = 32x + 60y erevsfled x HMLD
Y 61D (P(LRSSHENETE SHTCTTS. .

5l =0
25Gau, senL_& LigHleneoullest eu@sd) 5 |:

Spengl 210 wpmin 55-ullest LIGILIH Qung) j|
m_@’g’é’]'“"@m' . B . wheiqesr CHHMLILIG
BUICIL@, Cung) eu@sdl S5x — 325 = 5 eten1ds — byt
Qar(saLuL(DeTeng. 63 B 3q2 xrl o3
55x = 330 i}
= 32 = 28x1+4
x =6
______________________________________________________________ 28 = 4x7+0
2. woaflger eu@szsed eufipenpenu LT .32, 60 6v1 18.Qlum.6u 4
UGS  Jetaumeausrapdlar  15.Cur.e ismeugl d =4 Guoed d=32x + 60y
SRS, = 4 = 32x+60y
() 340 wpmub 412 4 = 32(2)+60(-1)

(iiii) 10224 wpmyd 9648 =2 =] e
(i) 867 wpmud 255 | e R
4. 70004 womd 778 SHw eTewTHEET T Y60

ghe AUGSHSS HenL_&@GL 5Flens SrenTs.
wh&efiqest CHmLiLig
a=bqtr 70000 60181 7 24,60 euGU(HILD 6TEUTLISTED
i. 340 wHmib 412-8@ 15.Cu.6u Smewr 70000 = 0 (oL@ 7)
Couemt®Ld. 70000 +4 = 0+ 4 (L@ 7)
412 = 340(1)+72 7240 70004 = 4 (LG 7)
340 = 72(4)+52 52#0 s160Ge,
72 = 52(1)+20 20#0 70004 -2 7 21,60 u@G&s5 HevLd@GL B 4
52 = 20(2)+12 12#0 =TT e T 4,60 eu@GU(HID 6TETLISTE)
20 = 12(1)+8 840 777 = 0 (i@ 7)
12 = 8(1)+4 440 777+1 = 0+ 1 (bl ® 7)
8 = 42)+0 8 =0 778 = 1 (b ® 7)
Fe0L_8 eu@sd 4 e1eed 158 = 0 stenrGeu,
©. 340 wimib 412 Gev 18.Qum.cu 4 778-3 Tops0 eu@das Slev_&@1b 5] 1.
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5.

15 = 3 (o d) eTerpeurm) Sienwwjd d-ufler
wdllienu Sioreflss.
15 = 3 (b d) etesIg 6wt Clum(mesit
15-3 = kd,
B k e165TLIG) 6(1F (Lp(LD 6T6VT.
12 = kd
d syeuz) 12 & eu@sEid.
12 @evt su@sdlaemmeuss 1, 2, 3, 4, 6, 12.
d sye518) 3 2 el g Sls1ons Q)(h&e GCouewT(Hibd,
e10\esterlen LSS 3 eumbgl6itena).
e16uGeu, d -& FTgSLNES SHLIL|SET
4,6, 12 gy @b.

Ueraumeusreudniin@Lt QLIm(bbSs8n.ig. L
SODHIULEF Slens X-205 SHTewTs.

(i) 67+x=1 (L@ 4)

(if) 98 (x +4) L@ 5)

i. 67+x = 1 (o4
67+x—1 = 4n
66+x = 4n

66 + x et6uTLIG) 4 63T LOL_MEI(S).
66 m el iFlaLonest 4 6v1 OL_EIE 68.
e1euTGeu X 68T GHEODBSLLF Sy 2.

ii. 98 = (x+4)(b@®S)
98 — (xt4) = 5n,
1 61681 ICHEILD 6(H (P(LPSHSET.
94—-x = 5n

94 — x e16vTLIG 5 B6VT LOL_MEI(G).
94 o ellL_& @enmeunes 5 @6t L_mi@E 90
e1651Geu x Q6T GHwDBSHLLEF Wi 4.

Frés: 8x =1 (b (R 11)
x—1=1ln=8&=1ln +1=x
n=5=>x=7

n=13=x=18 .......

_1ln+l

10* = x (- 19) sT@rmeurm Siemiowid x
wllienus senTsdl(Hs.

girey:

102=100 = 5 (oL@ 19)

10" = (1027 = 5 (oL@ 19)

10% =25 (L@ 19)

10° = 6 (oL@ 19)

[etesimeunmy 25 = 6 (L@ 19)] stewiGeu, x = 6

9.

. Uetaupd  swsrurhsener Blevme] Geunwus

3x =1 (b@® 15) etatp &FATLUTL QNG
TSR (PP 6TEWT STQFH6T 2 6TETEU 6TEUTS
STCwTS.

Siey:
3x = 1 (bl@® 15) eres1Iens;
3x-1 = 15k
k e1681L18) TCHEILD 62(1H (LP(LD 6TV 6T(LPSEVMLD.
3x = 15k+1
_ 15k+1
3
x = Sk+ 1
3

Sk e163TLIG) 6€2(TH (L(LD 6T6TTT 6TEUTLISTED
Sk + % 6T6TTLIG) 62(TF (L(LD 6T6TTT {606V,

s1651Geu, @FFeTLIN 19N @) (PP sTewwT FiTGeu
Bevemev.

Salgl  GoODBSULEF flews (Pl x-ar
ZILINLIS STewTs.

(i 71=x(w®m8) (iv)96= ; (L_® 5)
(i) 78+x=3 (b_® S5) (V) S5x=4 (- 6)

(iii) 89 = (x+3) (L@ 4)

i. 71 =x (v l( 8)
= 71—-x =8k
= 64+7—x =8k
: x =7

il. 78+x =
= T8+x-3 =5k
=75+ x er681LIg) 5 B6vT LOL_EI(S.

x =0

3 (LL@ 5)

i, 89 = (x+3) (bl (B 4)
= 89-x-3 =4k
= 86 —x =4k
= 86 — x e16vTLIG 4 B6VT LDL_MEI(G).
86 m ellL_& @enmeunen 4 Q\evr OL_EiE, 84

x =2
iv 9% = — (b S)
96 — % = 5k
96 — % eTeuTLIg) 96 g el @enmeumest
5 @evr LEIG 95
: x =7
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V. 5x =4 (bl @ 6)
Sx—4 =6k
k=1 etexMe0,
S5x—4 =6
x =2
11. Siés: 5x =4 (oL@ 6)
Siey:
5x = 4 (b 6)
5x—4 = 6k
5x = 6k+4
o= St 6
=1 erefled 6()+4 6+4 10
X = Lz;z_zz
5 5 5
k = 6 6168160
_6(6)+4 36+4 40
X = = :—:8
5 5 5
k=11 etevnled
o= 60D+4_66+4_70
5 5 5
x=2,8,14, ......
12. Siygs: 3x—2=0 (oL@ 11)
3x—2 =0 (bl @ 11)
3x—2 =11k
3x = 11k+2
11k +2
x = k; k=258, ...
k=2 e16tl60
11
i (2)+2:22+2:ﬁ:8
3 3 3
k=35 e16vl60
11
. (5)+2=55+2:ﬂ:19
3 3 3
k= 8 e16v1M60
11(8
- ()+2:88+2:@:30
3 3 3
x=8,19,30, ......

|

5 1D IGILIGOIBHET

396, 504, 636 gy Fweuniier 15.ClLT.6u SHTewTS.

gie:
ClaET(HSSLILL L epevTn) TewTaaent LS.GlLIM.6u
snewst, B (PHedled (P60 B eTewsTHaMewT
15.Clum.eu srewTGLIMLD.
396 wmHmibd 504 sy Sweunilest 1S.ClLT.6u
S6wT, WhSaTIq.68T 61(&HSSH60 euLdl(LpemmenuIL
LweL(hSS Kb Clumieug,
504 =396 x 1 + 108 @i 54 108 # 0
396=108 x3+72 @miG 5H 72 #0
108=72x1+36 Q@mE B4 36+0
72=36x2+0 @mE 58 =0
e1651Geu, 396, wHmid 504-ullewt 15.QlLim.eu 36
636 wHMID 36-ullest LS.ClLIM.6u 6w,
W S6MIq 65T 6115360 euLl(penmenwiL
vweL(hSS Kb Clumieus
036=36x17+24 @mrig 55 24+0
36=24x1+12 Grg B 12%0
24=12x2+0. @EiE B8H =0
e1681Geu 636 HMILD 36-uflewt L5.GClLm.eu 12
e1681Geu 396, 504 wHmid 636-ullesr LIGILIEH
Qung euGSSH 12 oy @Lb.

2. wseflger UGSS560 auflpenpenwiLl
vweru@SIHL Uerameucraunlesr 15,6l eu
STEwTS.

84, 90 wmHmw 120

84, 90 wmmywd 120
whefigest CammLiLg a = bg + r

90 = 84g+r (6+#0)
90 = 84x1+6
84 = 6x14+0

. 84, 90 ev1 15.Clum.6u = 6

Goeitd 120, 6 631 15.ClLm.6u Smewst
120 6x20+0

. 84,90, 120 661 15.Qim.eu = 6
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1 8 |

3. e sy Ozr_iaflmsulled sSmwbs

gewihw 3900 2 widpg. Uflwureler

3IW355HSs ewarm 2 miLiseflar sabHFed 27 wrempdlré Gy 320,000 SewLw
wHmbd Sjeunnler Clumssnueer 288 erefled, STelaueTa] STEVLD QL GLH?

SIES CPRTM] 2 MILILISMETS STewTs. [Py Siey:

1 eu(pL_1d 2 eupHL-Ld

gal (DS Clan_euflensulled emiohs euHonesd T 15,000 % 16,500
DE5OSS epeinl 2-DILILS6i Qzevey % 13,000 % 13,900

a-d, a, a+tdeets. GaflLiy T 2,000 T 2,600
RPSIDI 2 DILIL|S6flen sn (HZ60 - eupL Gediiy T 2,000, T 2,600, % 3,200 ...

a-dtatatd = 27 a=2,000, d = 600, ¢, = 20,000
3a = 27 a+(n—1)d = 20,000
a = 27 =2000 + (7-1)600 = 20,000
) 93 SN (n-1)600 = 20,000 — 2000
ppesImI 2 MILiLsaesr ClLhHSS60 SN
(a—d) (@) (a+d) = 288 = Y =220
a(@®>—d* = 288 600
99— ) = 288 H = & 2y
= n = 31 eu@pL_misen
81— = % 31 euHLmEIsERsEL Lng Lflwurelest
81—d*> = 32 G&L&uqmooooé‘b@m __________________________
49 = P 6. em st garaflb 2 ater I 207h Fal(HiS
J = 47 Qzr_feuflensuiled S|MOWLD epeTm

ursEiserrsl  Uflsss sergsl epeim)
GRhEmIHEHEGL Oarhss eal@mubLierm.
Seunrled Pm HAflu  CFrensseafler
Qu@mssHueer I 4623 oW, eaiGlaurm
GPhaswyw Cunib Cgramsulamers srewTs.

- @a (DS Cam_ieuflensuiled HemLoha eLpesim)
o_miisen 2, 9, 16 (evevgy) 16, 9, 2

4. @® sl @S Azr_jarimeullan 6-aug HDI>
8eugl 2 miiiysefler afldlgw 7 : 9 erafled, 9-eug

womb 13-eug 2 miuyseflar allflsw srewrs.

t, 7 a+s5d _ 7

: w —
< 9 a+7d 9
=9a+45d=Ta+49d = a=2d
ty : t,5-6m6u Siewst Ceuesmt(HLbd.

& a+8 _ 10d _ 5

t,  a+12d  14d 7
5 : 7 etetiuient Ggemeuwinent afllflsomn@Lb.

Hiflwr serg) (o560 g auoreiors 315,000
FLOEpry. Siger ng eaiGeaur oy ewnr(hin
Sleurg wbrg eumorersd I1500 e widpg.
SeuEnmLW  (PHe0 rg OFwe; 13,000
HMID SjaleTg) LIFTESITE G eeaiGary

LPSIM| GLPHeGS6T LI C\FTens dnl (DS
Qg r_iTeuflenguiled EHLOEIGSTED euMHENM
a—d, a, a+deieus.
Qg remauilest ga(Hge0 I 207 eT6eiTLIGTE)

(a—d)y+a+(@+d = 207

3a = 207
a = 69

B Alw Cgrensaseilest ClLHESMHLIeV6ET
4623 eT63TLIST60

(a—d)a = 4623
(69 —d)69 = 4623
69 —-d = 4623 =67
69
nd =2
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—
L2 |
e160TG6), PLPESTM| (FHLPIHENSHEHHGLD Sl _ 3n (3
NS516 Qardss Csrems % 2 [2a%(3n = 1)d],
¥(69-2),¥69,X(69+2) S-S = 2" Dat@n-1)d] - " Rat+(n-1)d]
3izreug) < 67,3 69 womib I 71. 2l 2 2
7. 300-6@H  600-5@H QeoLGu  T-g46 = 2 [[4a+22n-1)d] - [2a+(n-1)d]
aguOL marsg BDued  erewrsefler 2
Sn[BH\S60 HITEWTS. S,—S, = L x[2a+(3n-1)d]
gier: 2
301 +308 +315+..... +595="7 3(S,-8,) = 3n [2a+(3n—1)d]
a=300;d="7;1=595 2
N s
0 ] 9. @m ®msES T alflmsullar 4 -eag
7 [300 71600 2 miLiy g HMID 7-eug 2 miLi, 26443 erevfled
56
% 20 SihL1 LmEES ST Tauflensenws sresmrs.
14 35 Biey:
6 5
6 — deug) 2 miiy 1, = g =ar = g - (1)
a=300+7-6 [=600-5
a =301 /=595 Teug) e-mitity £, = O
595300 243
n = — +1 64
= ar®= — - (2)
= =2y 243
7 e (2) & (1) o160 eu@ss Cumieug,
n =42+1
64
= 43 64
o ar’ _243_ 64 9 _ 8
Sn=§(“+1) ar’ 8 243 8 27
9

S, = % (301 + 595)

43 27
= — (896) Lo : .
2 r Qe wllienL FwesiLn® (1) Geo KFHudl,
= 43 x 448 ) 23_8 .
S,, = 19264 a*3) 974
8. §,,5,, oHmid S, TetUeT (PenCW b Fal-H'S steriGeu, Caemeuwines QLI(HEESS
Asmjeuflensuilar (ped 7, 2n whmus 3n Qsr_ieuflens a, ar, ar.....
e muyseflar sahised Gw. S, = 3(S, —S,) 4
eTer Blimieys. iFmeug 3, 2, 3

S, S, S, eeviuen (peopGuw @ FmL B
Qi euflewsullest (pged n, 2n wHMID 3n

2_mILiLsaTest gn (D360 eTevlev,
S, = 3 [2atn -1y
s, = 2 [2a+(2n - 1)),
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10 Opib QIGLIL - Sewfigid BT
10

10. @m® sa_(h$ Csr_jauflmsuiler earugTag)
e pulleT eatug) LLEGW, LMmaThsTag)
e puller uglenearihg WLEE@W Fwow erefled
Bmuss wratsrag emuler  oym
ILEISTETg Lh&FAb erer Blimiays.

Siey:
9, = 15t ... (1) etevias
6t,, = 0 ete01& HILL_
GeuestT(HId
(= 9(a+8d) = 15(a+ 14d)

9a+72d = 15a+210d
15a—9a+210d-72d =0

= 6a+138d =0

= 6(a+23d) =0

= 6t,, =
61681 BlemLISSLILIL L ).

11. 450-6@% Gmpans 2_ater SEaTSS @HOD
Slens pp&seaflear saHed srents.

Coemeuwiner gnl (NG O mir
=1+3+5+...+449
@i, a=1,d=2,1=449

n:[l—aj .
d

_ 449-1

L 1

+1=225
225
- Sn= T [1 +449]

S == [a+1]

n
2
=225 x225=50625

kR
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0
3 Suwiaanfsi
A

2 1DSHILIEHIBHET

1. Sirss:2x—3y=6, x+y=1

giey:
2 -3y=6 (1)
x+ty=1 --(2)
(Hx1l= 2x-3y =6
2)x3=  3x+3y = 3(+H)
S5x =9
9
= x = =
5
)= —+y =1
@ SR
4 5 5
4
Vo
4
am@m,ng,yZ—
5 5

2. deraumw ellflswmn Careneusener sraflu
agalhG& & HsEs.

2 2
i) x -1 ii) x —-11x+18
xP+x x’—4x+4
p -3p-40

2p°—24p’ —64p

siyey:
-1 _ x0T :(x+1)(x—l)
X +x x(x+1) x(x+1)
:(x—l)
X
.o —1le+18 _ (x-9)(x-2)
. ~——— - = 7
xP—4x+4 (x—2)(x—2)
:x—9
x—2
i 9x2 —81x 9x(x+9)
x—8x* —9x x(x2+8x—9)
_ %x(x+9) _ 9
(x)(x+9)(x—1) x—1
W, P =3p=40  _ (p=8)(p+5)
2p’=24p*—64p  2p(p-8)(p—4)
_ (p+5)
2p(p—4)

3. Jeraumw muiné swerur@sefler

epeorEisaflar SATEHMILS HTETHTs.

@ x*—x—-20=0

(i) 9x?—24x+16=0

(i) 2> = 2x+9=0

i ¥-x-20=0
@EE, a=1,b=-1,c=-20
geatemwatL g A = b’ — 4ac
A= (=1) — 4(1) (-20) = 81
A=81>0
sT6uTG6, FLOEHTLIML Iq.63T pLpevmIS6iT GlLoul
HMILD FLOl6DEM6V.

ii. 9x*—24x +16=0
@rEE, a=9,b=-24,c=16
SETTENLDSHML g, A = b* —4dac
A= (=24) —4(9) (-16) =0
A=0
1616, FLOEGHTLIML Iq.63T pLpevmIS6iT Gloul
LOHMID FLOLd.

fii. 22— 2x +9 =0
@mE, a=2,b=-2,c=9
seatemwaL g, A = b? — 4ac
A= (=27 —4(2) (9) =68
A=—68<0
61691G61, FLOSITLIML 1q MH(&) GILOUT PLPEVEIGEIT
Bevemev.

4. eit TEWT LHOLD ST Fene0S gy Flweunfiewr
aflgFwrsd
STEwTS.

giey:
x etevTLIg CHemeuwwimest 6T65T 6T6vTa5.

%srsuﬂe\'), SlHT  ETEWTEHEUITS

1 eTITLIG) Semevd L
o 1 24

X—— = 5 616518 STLILIL (h6Teng)
x
x’ -1 _ 24
x 5
5x%—5 =24x

5x2-24x—-5 =0
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3]
5x? 25x+x—-5 =0 y=2
X =5, Sie0608) — x=1,y=2 etem (3)-ulled Ay
S 1 +2+z=06 etetlev,
5. Ueraumw muiné swerumsefler z=3
eonisafion gareo0mLE Sagys. e
() 15x°+11x+2=0 2. Sigs:x+2y—z=5;x—-y+z=-2;
(i) X -x—1=0 Sx—dp+ =11
Sirey:
i 15x*+11x+2=0 x+2y—z=5 -—-(1)
a=15 b=11,c=2 x—ytz=-2 -2
A =b?>—4ac Sx—4y+z=-11 - (3)
=117-4x15x2 (1) LHmID (2) D& Gal L
=121-120=1=(+)ve x+2y—z =5
. ePEOEIZET GlLoU1 LDHMILD FLOLD SI6D6V. X—ytz=-2(H
il. X2—x—1=0 ety =3 (@)
B ) el (3) g6 oo
=b"—4ac 4
= 1P -4 ) H IR
)y +z )
—1+4=5
. QPEVEIGET GloUT OHMILD FLOLD H{6V6V. 6x+3y =9

5 1DSWICLICHIBHEIT

Ueteumb eeirmy wriflsefled sjemwnbg Cuifl
gweaturL_(p) Qgr@LLilemers Siss.
Ix-2y+7=2,2x+3y-z=5,x+y+z7=6

Siey:
3x-2y+z=2 -—-(1)
2x+3y—z=5 ----(2)
X+ ytz=6 --(3)
(1) omibd (2) 208 sal L
Ix2y+tz =2
2x+3y—=z = 5(+)
Sx+y =7 -—--(4)
(2) wHmID (3) W& Fnl L
2xt3y—z =5
x+ty+z =6(+)
3x+4y =11 -—--(5)
(4) x4-(5)
20x +4y = 28
3x+4y =11(-)
17x =17 =x=1
x =1 616wt (4)-ufled LFSlull,
S5+y=7=

3-9460 UGES, 2x+y =3
(4)-ed@pal (5)-28 sfss,

- (5)

2x+y =3
2x+y =3
0=0

BriE 0=0 e1631D (PHODTHEOLD HewL_SH D).
eT60rG6u, OBT(H&sLILL L FwesturL_ ()

CsnELLSINE) eTevtTerIHD &6s6i 2 68T(DH).

3. Sigs:3x+y-3z=1;-2x-y+2z=1;
—Xx-y+tz=2.
Ix+y—-3z=1 - (1)
2x—y+2z=1 ---(2)
—Xx—-y+tz=2 -3
(1) Hmbd (2) 28 sal L,
Ix+y-3z=1
2x—y+2z=1(+)
x—z =2 ----(4)
(1) omid (3)-28 Fal L,
3x+y-3z =1

—Xx—-y+z=2(+H
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5
2x—2z =3 —-(5) Sieu;

S)x1=2x—-2z =3 x+2y-z=6 (1)

(A2=2x—-2z = 4(-) Bx—2y+5z=-12 —-(2)

x—2z=3 ---(3)

0=-1 (H+@2)=> 2x+4z=-6 - (4)

@riE B 0 = —1 61681 Heummes (WPigemeuLl
QS CGmmd.

ereriGeu, Q55 Cgn@LiLneng)
Q(HEISHEDLOEUNDS).

Cuaid CETHiGsLILL L Fweum(h

QsrELINEGS Sie| eoene.

4. Spsergyib apain) wrflsefled SEMLHS
eESmL Crflwed FwaTur(HiS

Qzr@LLsmeTS SiTds.
x+y+z=5;2x-y+z=9;
x—2y+3z=16
Bieu:
x+ty+z=5 - (1)
2x—-y+z=9 -—--(2)
x—=2y+3z=16 -—--(3)
(H)-3) = 3y-2z=-11 -—--—-(4)
2)= 2x—-y+z=9

(D)x2= 2x+2y+2z =10 ()

3y—z=-1 ---(5)
@ +06)
3y—2z =-11
3y—z=-1(+)
—3z=-12
z=4
z=4 e16v1 (5) 60 LNrHuf_
—3y—4 =-1
3y =3
y =-1
y=-1,z=4 eev1 (1) 60 lyludl_
x—1+4 =5
x+3 =5
x =2

Spsereyd  FweUTL(HS CsmELysefler
Srasaflear satenweanws srewrs.
x+2y—7=6;—-3x—2y+57=-12;
x—2z=3

(4)+(3)x2= 2x—4z = 6

0=0
CFMEGLIL QRHEIGENIOE] 2 DL G
cTewTERTSEnHWMD & iTeySHeneNL
CUIHM(BHSELD.

STSaT, Fhewg LOHMIL  eumewfl g S
epaufler srrefl auwg 53. srssraier anugled
ung), shenguler awgled eparfled ewm s
wHmw  eurenflular awdled Brerdled
urlE SFluapflar Fahized 65. BreaiE
QAW HBEHHSG o srssrailar  auwg)
aurenfluile auiengCLired mmesT (@) oL sTevfled
epauflar FHCUTMSW QLSS SHTenTs.

Sirey:

eunesell, Hhews LHMILD STHSMedlewt
SHELITEOSW euwIg) X, V, Z 616315,

Q&L L_eneu:
Xt+y+z _ sy
3
= x+y+z =159 -—-(1)
1
—z+ 1 y+ 1 x =65
2 3 4
6z+4y+3x — 65
12
3x +4y+ 6z =780 ----(2)
(z—4) =4(x—-4)
z—4 =4x-16
4x—-z =16-4
= dx—z =12 - (3)
(1) & (2) Slmia

(1)x4 =>4x+4y +4z = 636
2)= 3x+4y+6z =780

(868) x—2z =—144 - (4)
(3) & (4) S

G)2=  8x—2z =24

4)= x—2z =144
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1
112 ]
(5L55) Tx = 168 ----(5) f(x) = 6x* — 30x% + 60x — 48
168 = 60— 5%+ 10x — 8)
x = 2 =24
7 g(x) =3x°—12x>+21x— 18
(3) 60 x = 24 er6v7 OFIIN = 3(*— 42+ Tx— 6)
424)-z = 12 61601 @\(BLILIST6D, HHEILIM(LPSI BLD
96—z = 12 X — 5x* + 10x — 8 woHmid x* —4x> + 7x — 6
z =84 o168y LeoIMILILS Caremeuullest 1S.ClLim.6u
(1= 24+y+84 =159 FresrCLIMLD.
14108 = 159 |
y = 159-108 B =52+ 10x—8 | X —4x2+ Tx— 6
= y =51 X —5x2+10x— 8 (-)

. eurestnullest HCLTEDGW euwrg) = 24
eunessTuilesr iHengullest sHELITENSW WG

=51
eunessullest gnrgsnelest sHGLTENSW euwig)
=84
7. X +x*—x+ 2 wHmd 2x° —5x* + 5x — 3 gy&lw
ueOIMILILG Caremeusefler 15.QlLT.cu STewTs.
f(ox) = 2x°— 5x% + 5x — 3 wHmILD
gx)=x"+x*—x+2
2
Xl —x+2|2x* 52+ 5x -3
2 +2x*=2x+4(-)
—Ix*+Tx -7
=-T(x*—x+1)
—T(x*—x+1)#0, —7 erev11gy g(x) -ulledr e(mh
UGSS ieV6v.
gx) = x + x — x 2 -z 8Hwined u@GHss
(orledls srresilenw ellNSa), B ClLimeug
x+2
X=x+1l|xX¥+x2—x+2
X¥-x*tx ()
2x2—2x+2
2% —2x+2
0
Biflensouiled, 1SS LLFSwid oy @Lb.
eT6eTGe, L5.ClLim. 6
2 -5x*+5x -3, +x*—x+2)=x>—x+1
8. 6x® —30x? + 60x —48 wHmud 3x* — 12x* +

21x — 18 opéflw ueOWIMILILSG Carencuseflesr
15.0Lur.qu SrewwTs.

Siey:

|

x>—3x+2

x—2
X —5x2+10x -8
x3—3x2+ 2x
~2x>+8x -8
—2x*+6x—4(-)
2x—4
=2(x—-2)

x*=3x+2

x—1
x> =3x+2
x?—2x
—x+2
—x+2

0

Brig, 158 LLESwbd oy @Lb.
BEIE semeowimus s (Lps&aeT 3 HMILD 6-6v1

)

&)

15.0lum.eu 3 gu@Lb.

e1651Geu, 1L5.GlLm.6u

[(6x° — 30x2 + 60x — 48, 3x° — 122 + 21x — 18)]
=3(x-2)

Spserggd  uONIMILILES  Careneusefier
15.Clur.eu Smewwrs.
() ¥*+3x°—-x-3,x*+x?—5x+3
(i) x* -1, -1Ix* +x— 11
(iii) 3x* + 6x° — 12x? — 24x,
4x* + 14x° + 8x2 — 8x
(iv) 3x + 3x2 + 3x + 3, 6x° +12x7 + 6x +12
Sirey:
i. f(x)=x"+3x°+x -3 woOmIDS
gx)=x+x*—5x+3
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-
x+2 x—2
X+x2Sxx*+3x+0-x-3 X+H4x+4|x°+2x*—4x -8
T3 x4+ x> -5x% + 3x X4t +4x ()
2x% + 5x* —4x -3 —2x*—8x -8
208 + 202 — 10x +6 (=) -8 -8 (9
3x? +6x -9 0
=3(x2+2x—3) 2 (f(x), g(x))-15.6lum.eu = x(x* + 4x + 4)
x—1 iv) f(x)=3x+3x2+3x+3
X+2x =3[P +x>-5x+3 3P+ Hx+1)
X2 3x () g(x) = 6x* +12x7 + 6x + 12
—x?-2x+3 =6(x*+2x* +x+2)
¥ -2x+3 (0 (3,6)-6v1 5.Qum.eu = 3
0 1
s (f(x), g(x)) -8.6lumeu = x> + 2x — 3 B+x2+x+ 1|3 +2x3%+x+2
""" i )= ¢-lopps rroterl O
X+ 0x+ 1
gx)=x-11x*+x-11
x+11 : @
o [+ 0 + 002 + 0x —1 |:j| X+0x+ 1| +x*+x+1
It ¢ e+ 2 -1l () Xty ()
1Y+ 1lx— 1 e Oxt ]
HE—1212 +11x— 121(0) £+t
120x% + 120 0 ,
—12002+1) | 0, g@) - B O =307+ D)
x—11 10. s@®&©s.
X2+ 0x+1 [ 112 +x—11 b’ +3b-28 . B*-49
X+ 0x?+x ) b’ +4b+4  p’—5b-14
11+ 0x— 11
112 0x— 11 () b*+3b-28 . b —49
0 b +4b+4 b —5b—14
o (f(x), g(x))-15.0lumeu =x* + 1 _ (b-4)(b+7) ) (b=7)(b+2) b4
fii. flr) = 3x' + 623 — 1262 = 24x (b+2)(b+2) (b+7)(b-7) b+2
=3x(x* +2x*—4x - 8) 11.A—2x+1, poud B = 25~ erasled,
g(x) =4x*+ 14x3 + 8x?— 8x 2x-1 2x+1
= (2 + T+ dx— 4) LA - B—
3x, 2x) -6v1 15.6lLm.eu x A8 A8
o 2x+3
1 2B
X2 —4x 2 +Tx* +4x -4 1-B AL£_pB
-8 [2x* +4x> - 8x—16 (-) o 2B
3x2+12x + 12 _ﬂ—m
=3(*+4x+4) . A+B-2B (4-B)
~ (4+B)(4-B) (4+B)(4-B)
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I 1
 A+B 2x+1 2x-1

2x—-1 2x+1

1 o (2x+1)(2x-1)

C(2x+1) (201
(2x+1)(2x-1)
[2x] - 12
4" +1+4x+4x> +1-4x
_Axio1 _ 4l
- 8x” +2 - 2(4x2+1)

2

(2x+1) +(2x-1)

13. &meHEH: ———
656 x2-5x+6

Siey:
1 n 1 B 1
¥ =5x+6 x*-3x+2 x*—8x+15
1 1
- o+
(x=2)(x-3)  (x-2)(x—1)

1
()3
. (x—l)(x—5)+((x—3)(x—5;—(x—1)(x—2)

- (x=1)(x=2)(x-3)(x=5)
_ (x2—6x+5)+(x2—8x+15)—(x2—3x+2)
(

14. Spsaen Carenasaflar airssepeold
STERTS.
6x* +x—1)(3x*+2x—1) (2x* +3x+1)

girey:

\/(6x2 + x—l)(3x2 + 2x—1)(2x2 +3x+ 1)

= JBx-1)(2x+1)(3x=1)(x+1)(2x+1)(x+1)

=|Bx-12x+1)(x+1)

15. @wresfler SnHCurengw auwiglesr
SmwwLECsT[H QRETEONE 8oL 1q.6UTIT6D
HewL_LILg), Gwreflar Qrent_rewi(HsEHsS
PhmSIL LS Sjeuflar 4 oienT(HsEHSHE
Hensw anwengwb LSS SenLLILgNnEGs
gwd eTefled, gaufler sHCUTMSL aIwmSS
STEwTS.

Sirey:
Gwrefes SHCLTENSIW UG X Y ewT(D\SH6IT
6160185,
2 o emT(h&EHES) (W6 euwg = (x — 2)
26T (D\S6IT.
4 o emT(h&EHSHE Lbmsw aiug = (x +4)
24,6001 (D\S61T
QET(N&s SsauedLI,

x-2)(x+4)=1+2x

X +2x—-8=1+2x

X-9=0
(x-3)(x+3)=0
x==3

QUWIG) GHEWD 6TEVTTEUDINS Q)(HSHS (LPIqLLITF).
e1681Geu, G Loresiesr HGLITemSW euwig)
3 sy emr(hsei.

16. QaearensruileflmBS aflpansses3nHE
240 A FMSMSs SES QWM
uwenflzer CFTlTauenTind@ @M eafllomre
Qgr_ireuewmrgemweaill. 1 wewfl GCrywd
sa(goorss GCsmaiiudng. Lwenflsar
Qgzrireuewrguiler Ceusd, eflewre; Qg mir
acwrguiler Ceaussmzgall 20 &5/ wewfl
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Goone eresfled, Q@ CFTLTeuewrigsafler
grref] Causmsmens senrssl(Hs.

vwesflaer GlgmL_iteuewiqulles rnef GeusLd

x &5/ 6w 616018,

snHGungl, eleorey GG ieuewtiquilest symef
Geusd (x+20) &5/ eweN 616818,

240 8.8 sL_saL1 Lwewsilsen ClFTL_TeuesTig.
24
(D &@Ww Cryw = 240 Lo6wsTl
x
240 8.8 sL_&8 elenrey CGTL_iTeuesriq

240
s1(h&@EW Crrw = ——— wWewh
e Gpmd = =3
QarssLILL L &aeueds6ls L.,
240 240
— = +1
X x+20
240 240 _
X x+20

240[1— ! :|
x x+20

0 x+20—x 1
x(x+20) B

—

= 4800 = (x*+20x)
x*+20x-4800 = 0

= (x+80)(x—60) = 0

= x = —80 yevevgy 60

CeusLd 6 &HEWD 6TEwTTETNS B(HSHS (LG WITG).
eteuiCeu, Liwewtlsen QGL_iTeusvtiquilesr srme

Geusid 60 &.15 /wevsil.

c1eoiGeu, ellemwrey OClgmireuesriquilest srmef
Geusd 80 &.15 /woevshl.

. % Cumbgl 90 H.iS Qgremevencus Ermer

Caissdled sL&DG. FaT GCeauswd 15
#iS/wenfl yfsfsasiL L red, Lwewr Crrd
30 Hfl_miser Gmneng ererfled, CumBSlesr
Cazgmss senrsdl(Hs.

gieu:

x 61651118 Ernent Geusld 6T6vT8.

90 &1.15 ClzTEnevEMEUS HL_58 Y EGLD HTEVLD

o %
x
Geusd 15 815/ wewl ySHaMeasiiuiL_med
(5816 Oametepw Crrw 7, = %0
x+15

. (2 = ab)x* =2(a® — be)x + b — ac = 0 erevim

19.

Tl_Tzzl
2
% %0 _1
X x+15 2
90(1— 1 j:l
x x+15 2

( —x)
90 x+15—x :l
Lx(x+15)) 2

90( b J -1
x"+15x 2

x*+ 15x =2700
x*+ 15x—2700 =0
(x+60)(x—45) =0
x=45,x=-60 (QurBHSTE)
= Gupndler rnes Cousio= 45 &.15 /6wl

FOATLINL 1960 QPVEIHAT FOW WHMID Gloul
erefled, a = 0 edevg a® + b* + ¢ = 3abc et
Blemuil.
giey:
(c* = ab)yx* —2(a*> —bc)x +b*—ac=0
A=c*—ab, B=-2(a*—-bc), C=b*—ac
gLpeVEIG6T Gloul MDD FLOLD T6vTLIGTE0 A = 0
B?>—44C = 0
[2(a® — bc))? —4[c* —ab] [b*—ac] = O
4(a* — be)? — 4(c? —ab) (b* —ac) = 0
A[a*+b*c* - 2a*bc] — 4[b*c*—ac*—ab*+a*bc] = 0
Ala*+ b*c?—2a’bc — b>c? + ac*+ ab® — a’bc] =0
a*+ab® + ac® —3a’bc = 0
ala*+ b+ c—3abc] = 0
a=0 (&) a+b*+c*3abc=0
= a’*+b*+c* = 3abc

x?—13x + k = 0 erevtTm FL06WTLIML 19 68T
eweorisafler aflsSwrew 17 sresfled, k-uflesr
IS Srewrs.
giyey:
xX>=13x+k=0, a=1,b=-13,c=k
o LOHMID B FLOESTLIML 19 68T PLPEVBISHET 6T68TS.
b =(=13)

atp=——= =13 -—---(1)
a 1

a—p=17 - (2)

(Qar@ssliuLLg)
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18
(1) + (2) snever, 20 = 30 SlewL_s@Ld. 23434210
e1601@6u, 00 = 15 - 10
a =15 gg (1)-ulled Llylul_ _ 133
15+B=13 10
p=-2 i 21.3¢ + Tx — 2 = 0 etaiip SwerLTL g6
6010 (2)-el(hgI af = L T epevEisear o O f erefled CerHEsLILLL
a I IL|SMETS STewTs.
15 x (-2) = k s11Geu, k=30 .
e T Y- A i
20. x> + 7x + 10 = 0 ereond &ETLML Iq.60T p o ,B a
epevmEigeT awdmiLb P ereufled Llesreu(meuceum et Fior
LIIIYSENETS STEwTS. 3'2 12— 0
X"+ /x—-2=
Do-p  i)e2+p? i) oF - B @i, a—3,b=Tyc =2
2 2 ’ ’ ’
ivo+p v <& +£ vi) C,; 'B 0o HMILD [ FLOEYTLINL Lq 63T PLPEOMEISHET;
a
et
¥+ 7x+10=0@m@, a=1,b=7,¢c¢=10 i a+B=_2=—_7
0 LDHMILD B FLOETTLIML 1q 63T PLPEVMBIG6IT 616360, a 3
a 1 a 3
=10 19 a, f_a+p _(a+p) -208
a 1 B «a af of
. -7\ (=2) 49 4 49+12
i (a-PB)=q(a+ )2—405/3 (3) —2(3] o3 9
~ J(=7V —4x10 = J9 =3 ‘32 _32 _32
ii. a*+p>=(a+p)y-20p :ﬂxi:—_ﬁ
= (=7 -2 %10 =29 2 -2
iii. o—p’=(a—P) +3ap (@ P) i@ B _a+p
=(3)* +3(10)(3) = 117 B« off
______________________________________________________________ ;
iv. at+ B4=(a2+ Bz)z_zazﬁz _ (OH‘ﬂ) —30!ﬂ(0(+ )
((ii)-e9 a1 . 0>+ B = 29) -
semGeu, 29°— 2 x (10)* = 641 (—7) _3(—2)(—7)
T e T e _ 3 3 3
v a+ﬂ a+p _ (a+p) -208 = )
Flaap o B
_49-20 _ 29 —343 42 -343-126
10 E _ 27 5 9 _ 2;
ple T ap BEINE]
_ (a+p) ~3ap(a+p) T 2722
b __ 469
~ (-343)-3(10x(-7)) 18
10
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19
22. 2x* —x — 1 = 0 eTe¥TD FLORTLIML I 68T CLPEOMEISGET
a wppw P eaefled, SCp GCsrssuLL

cpeomIGmeT L QHLIGEF FOATLITL L5

iii. 20+ B, 2p + o
eLpeVEISETe dn(hiFed = 200+ 3 + 2B + o
=3(a+P)

STERTS. B 3(1) 3
(i)l,% (ii) o* B, B (iii) 20.+ B, 2B + @ T\ 2
o
PLPEVMEISEMETT GILI(THE &M LIEV6TT

2 —x-1=0@m@, a=2,b=—1,c=-1

= (2o+B)x(2B+a) =4op + 20>+ 2%+ aff
=5af + 2(o* %) = Saf + 2[(o+B)’— 20f]

b —(-1) _1
atpf=——= = _ _l ) 1_2 _l
K ( j "
af=— =-—
i. Qaen@ssLLL L epeomIseT —, 3 2 L4
o
_ 5.1 < _
apeosissier sa@ae = L + L = I =t T2=212=0
a pf aff ' )
Caxemeuwinent gwesiun(p), x> —
1 (epevmiseiilet ga(HGH60)x +
N % =1 (epevmizaiesr QLmHSSMHLIEVETT) = 0
2 xi— 4 x+0=0
2

1 1 1 1
R -

Caemeuwimen Fesiin(p x> —
(epevmIsaTesr Fn(h&ev)x + (ppevmisemest
CumSSEMHLIeVsET) = 0

23. X + 6x —4 = 0 -ullewsr eeomiseT 0, B eTeefled,
SPEHEWTL_UDEND  CPOEIHMTSES OClSTerTL
SMUIEF FOSTUTL HL& STEwTs.

() o widguis B (i) 2 wpgud =
a

B

X—(-1)x—2=0 (iii) o’ wHmIb B

= x*+x-2=0

""" i appe T i o opps B

epevmseest gn(Bigeo = off + fPa x*+6x—-4=0
= af(atp) a=1,b=6,c=—4
_ _l[lj = 1 atB=—0=_6 op="2=_4

202 4 1 1
PLEVMIGEM6BT GILI(H &S MHLIEV6TT PLOEVMEIS 66T &n (D560
o +p* = (0tP)P-2aP

= (o?B) x (B*e) = (ap)’ = (-6)2—2(-4)
_ ( 1j3_ 1 - 36+8
V2 - 44

Caemeuwnen gwesiun(p), x* —
(epevmIsaTesT Fn(h&ev)x + (ppevmisemest
CumHSSEMLIeVEET) = 0

x*— (—ljx— 1 0
4 8

= 8?+2x—-1=0

PLPEVMEIGEMETT GILI(THSSMLIE6TT

@ = (0B = (4= 16

x? —(epevmiseilest ga(HG60)x +
(epevmiseiilest QL(mEsMHLIeVEET) = 0
X2 —44x+16=0
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0]
"““-:“-“2 ----- .“-“.-"2- ------------------------------------ 25.2y* —ay + 64 = 0 eTeip) FWATUMIGRT Q5
f o, 1opoe B eped wHmemes Gumew @pLLEE eTerfled
ePEVEISEMN6TT dn(DS560 a-uiler IS SreveTs.
_2 .2 _2a+28 Sier:
a p af 2y —ay+64=0
_2eth) _2(6) 12, @i, a=2,b=—a,c=64
op —4 —4 wtp= @ ()
PLPEVMEIGEMETT GLI(THEEM LIEV6TT 2
2,24 4y ap=2 -3 ()
a B of -4 2
X2 —(pLpe0mEIseMesT &n (D60 )x + peuineD, o =2
(epevmiseilest QLm&sMHLIeVETT) = 0 (2)=af=32=2p=32
SxP=3x-1=0 =>p=16= p==+4
_____ mazﬁmpgmﬁza B=4g(2) 6> Nyl
epeoriasRi s Bsed = o2 + Ba = 40, = 32 61686V, 0. = 8
=af (atp)=(4)(-6)=24 B=-4e(2) 60 ArHulil_
ppeVEISEMesT QILIHESSHLIEVET = —40 = 32 e6viled 00 = —8
= (@2B) (B20) = B = (aP)® = (—4)* = —64 [ (1)= 4+8= % S12=2 = g=24

x* —(epeomigeest Gn(hge0)x +

(epevmiseiilest QLmEsMHLIeVETT) = 0
x2—=24x-64=0
24. 0, P eretuewr Tx* + ax + 2 = 0 -ufler
e -13 . .
epeoEiger wHmb f-o = ——. erefled, a-ufler
wliLs srewis. 7
Tx*+ax+2=0
= atp-— —- (1)
2 -13
off==;p-0o=—
B . B
13
> a-p== — (@)

(a—B)* = (o + p)*~4ap

-3

2

169 a 8
49 49 7
169 _ a*-56
49 49
a’—56 =169
a’> =225
= a==+15

. QuuIClwenTameT eeEISNTTSES OGlsmeswT

soa =24 wpmid a =24

3x? + kx + 81 = 0 etevtp FOATUML 1967 ELPEVLD
LHDI, eyevgdlear airssw eresfled, & -ufles
IS STewTs.

giey:
a, B etevtient 3x% + kx + 81 = 0 6vr
PLPEVBIGHETT(G)LD.
@m@ga=3,b=k c=281
k
atp=—3 - (1)
afp=27 —(2)
o = B? eren1& Can(ssLiLL(heTeng
(2) Smbal
=27 = PB=3
SLo=9
(1):>9+3=—E :>12=—£
3 3
k = -36
(4 3 1) (2 3 4)
A=[2 3 —8J,B=L1 9 2J
1 0 4 -7 1 -
(8 3 4)
wonw C eTeufled
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A+ (B+C)=(A+B)+C seraruensé sflunirss.
Siiey:

A+B+C)=
4Y) (8

2 |+ 1
-1

3 4
-2 3
2 4 -1

— N o w W

VS W S T *N

4 3
2 3
1 0
14 9
4 10
-4 5

1
-8
—4

9
-3
-6
4 3
2 3
10

2
(A+B)+C= 8|+ 1

(14 9 9)
=L4 10

_3J
4 5

(1) wHmbd (2) edlmmbg LHS = RHS

J I.D'I'DQ]I.D

30
X—-Y= (0 4} eresfled, X ommid ¥
I gjewflseners; srents.

(7 0)
=15 5

ol

0 4 (
(10
(1)+(2):>2X—L3

- (1)

— ()

Nl\ooxo_c;

29. x +yL32] L6 eresfled,

X LOHDID y-6T WIS SHeTs SHrewTs.

FEEGER

4
-3

-2
3

4
6

|

4x-2 4
- (—3x+3);] B (6]
4x -2y =4
= 2x—y=2 -—-(1)
—3x+3y=6
= —x+y=2 -—-(2)
)+ @ =x=4,
j| Q)=>4+y=2
y==06
(2x 2) (8 5x) _(x'+8 24)

s 7 24 ax) ” L 10 6x)

aain ojewflé Fwarumiged x-ar LhFfuwnn
wliemLs STemnTs.

2x 2 248 24
. X Iy 8 Sx _, x
3 x 4 4x 10 6x
2x2 2x n 16 10x
~ 3x  x° 8 &
_ 2x*+16 48
20 12x
(2x*+16  12x )
=
3x+8  x*+8x
PN 2x*+16 48
20 12x
L2x=48 =>x =4

3x+8=20=23x=12=>x=4
x>+ 8x = 12x
= xX—4x =0

= x(x4) =0,
x =0,x=4
Lx=4

| W W
Nl o
\CH VSIS
|- O
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3]
31. x, y-m5 Siss. { 3 +2{ 2:} = [3
(Sie: )
X 5
(yz] [ J 8)
(x> +(-4x)) _ (5
el ()
= x*—4x-5=0 - (1)
y'=2y-8=0 - (2)
(D=>@E-5x+1)=0 (. smesliL®S560)
Lx=5x=-1
2Q=r-49 (@+2)=0 (-emesiubOSse0)
ny=4,y=-2

(1 -1) |
32.A=(1—12),B=L2 1J wHmib C = (2 ]
1

-1
3 Il
eresfled (4B)C = A(BC) erens &1L (.
-
AB =(1-12)|2 1
1 3

=(1-2+2 —1-1+6)=(1 4

1 2
(AB)C =(1 4) (2 5

=(1+8 2-4) =09 -2)

1 -1
1 2
BC =2 ( J
2 -1
1
1-2 2+1) (=1 3
=242 4-1|=]4 3
1+6 2-3 7 -1
-1 3
ABC)=(1 -1 2)| 4 3
7 -1
=(-14+14 3-3-2)=(09 -2
~.LHS =RHS
skskoskoskosk
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3]
B e

2 1DSHILIEHIBHET

saifler Suquilelimhg 4 Sy CFTanevaled
e eter  gewflunergl. &efler 2 &fleow 7
3y 2wrsHled GCFT(HGwesfled CxHenauwimesr
genfluiler Bersengs srents. afllnLeow 6
5510 L5 BSSOS SHS. 4
erevtuflest Senmd AB = x 616578
BC=4 99, AC=T7 .
Hgrered Copmsdleiig,

AB? = AC*+ BC*

X2 =T+ 4 - mhsl

¥’ =49 +16

=65 ereiGeu, x= 65 =8.1

7 219

J65 Speugl 8 wmmitd 8.1-&@ QewL_ulled |:|

emwEng.
e1eu1Geu, erewnullest e GCamymuwons 8.1 g

SHSLD.
o, weaflgar 18 15 HpsCs Ceerm e
24 S aLsCs OCsevdlprer. OFTL&8
BleneoulledpBs Siauit PmH&EGLD CFTaneoameais:
STEwTE, C
giey:

€q
<
a

A 188 B

ClemCanevt (p&sGanewtd 4ABC ulled
AC*=4B* + BC*
ACY = (18)* + (24)?

=324+576
AC* =900
AC= 900 =AC=308
- QFTL_58 Hlemeoulled QHHEI SieuT SL_bS

gy =30 8

gmyrailer afliqeflmhg Cxwaller ailignEs
Qzeder QPrewmi(h euflser 2 eaTerer. e el
'C' etesip Qs euflursd  CFdaSTSLD.
wHenr® aufl B wHmis 4 gflw Csmaser
aflursé Geeaugr@w. Crrg ureng C
afl CFeod Gurg CZremeve; eralaleTeay
GODWYD? (U-SmsL1 LwaTLHSSIS)

1.5 emwedser

2 emipedSET
Q5@ C sauflwns Qe bGLITS),
Wsnasren CammLiLig

8I = (1.5 +(2)

= J225+4 =625

= 2.5 emLD60S6T

B wpmib 4 eufls Gleedenised
SP+PJ=15+2 =3.5 ewwedse6
Crrquwine C stesim Cg i eufllCw QFeimmed
1 1060 GHeMmULD.

A erevrp Yereflufled @wig B ereitm Leirerfls@é
CeeoaugnN® M Gorw eflurs, BbLbS
Qzeden Cauemt(Hid. Gomd aufiCw Clgsdeuengs
gailtés 34 15 QzpCawyw, 41 15 Hpss
Crrsdlub pL&8 Cauewt(Hid. GseTd auflurss
QeedausnN@L LTMmT IJMDLSSH LILTDS
afiCu QFatmred sTalauara] ISL L it QgTeneva]
Caflsau(pwn?

\¢
@6‘

418 =

4 348 C
Crriquwins @snbd euflCw 1606|560
AB* = AC*+ BC?

= (34) + (41

= 1156 + 1681 = 2837
AB>=2837 = AB = \[2837 =53.26 18
Sps @ Clgnans Claeoa) 560
AB =AC+ BC

=34+41=758

Crrquns @emb euflCuw ClFetmmed
75 —53.26 =21.74 15 gy @enmULd.

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

10 Opib QIGLIL - Sewfigid

[24]
5. 30Q&.5 gyrpeier auL LSSl enwowgSeSlmibS Siey:
5 Q8.5 Qzremevalled 2 ster LeraflullellmBs AN =AM =3 Q&..8
aL L $8DE eaeruiulL QsrHCasrL g 6T (Cr QeusfiiLym LseRuTledms)

BerLd SHTewTs.
QarssLiuL L g
OP =5 Q&.15,
S 7 =3 Q&1
Qg Can g6 HerLd
PT & snevot
QemCaewst (&Ganewrd OTP -ulled

OP? = OT* + PT* (Wgn&ren Canms e )

52=3%+ PT?

= PI*=25-9=16
Qe Gan g6 ard PT =4 Qlg.5

uLgdled 0 et e Lgglar emwowid.

PO spengl @@ Brewt gEb. AsTHCHTE

PR syeorg mrewt PQ-eei P-ulled 50°

Caremrseng erpLHSSerred, L/ POQ srewts.
P R

A
ZOPQ =90°—-50° =40°
(Q3TOCHM 19 HED, SpTSSHDGLD
BenL_Cuwwyerer Casmesord 90°)
OP = 00 (e L_gJ\es1 9L TEIS6T FLOLD)
ZOPQ = ZOQP = 40°
(AOPQ syev181 D (HEWLLSS (pSCaHTewiid)

|

euenTwiLL L QgrTHGasM(H&e FoLb)
BN=BL =4 Q&.8

CL = CM=A4AC—-AM
= 9-3=60&.15
BC = BL+CL
= 4+6
= 10 Q&.8

Brewi® Curgl emwow e L Esefler sy rEIsaT
4 QeiS, 5 Q&S SyBwW. M e _LFIler
Brewmeng  wHolpr®p L SHDGS
QsTHCaTIs MBS TEd Ijaiai L SHler
Brewsfleur 5emLd STewTs.

e}

04 =40&.5 OB =5 Q&.18
Gueoitb 04 L BC

OB*> = OA4’+ 4B
= 50 = 4+4B°
= AB* = 25-16=9

et6o1Geu, AB =3 Q&.5, BC=2AB
et6oiGeu, BC =2 x 3 =6 Q&.15

aLL dlar  ewwiHmugs 25 Q.S
Qzemevaliled 2 ater P eteerm LereflulleflmBs
aL L $8nE eaeruiulL. QsrMCarL T
pembd 24 Qa.S erefled, euL Sl oy TId

ZPOQ = 180° — ZOPQ — 20QP sTeien?
ZPOQ = 180° — 40° — 40° = 100°

7. uLsdled AABC syengl @M QL LFmss
QsT_(H&Csrenti() e LSmzE  &pof
SimwhgleTeng erefled, BC-uller Bergengs
STERTS.

UL §HeSmibg OP =25 Q&8
AP =24 Qg..8
= 625 576
.
r=70&.8
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10. O-em6u emOWIOTS 2 _6HL_W a.u;l_g',glg')@

. Qsr@Car(y ST e Lgdlemer B erearm

P-uledmig  euespuiulL.  QsrHCsT®H
PQ. QOR syeng) il Lib oy, euL L Sed
ZPOR =120° eresfled, L OPQ -228 srewts.

0
L SSedlmHS)
Z ROQ =180°, ZROP = 120°,
- Z POQ = 60°

(- ZROO = ZROP + /POQ)
/POQ + ZOOP + ZOPO = 180°
(A Slevr LiessTL l6vTLILG.)

60° +90° + ZQPO = 180°
(ZOQP=90° A dlevt LiewtTLN6tTLILG.)
150° + ZQPO = 180°

ZQPO = 30°

s1e01Geu LOPQ = 30°

yeteflulled Qsr&mg. <ABT = 65°. AB
TRTUG| @M Brewr eresfled, LAOB-g srewis.
BIed “O0” is et QI L FHeT ewiowid

SHS1D.

LSSl mbba)
ZOBT=90°
(. OB o> o4&, BT 0gnhGan(n)
.. Z OBA =90°-65° =25°
wonib LOAB = 25°
(04 = OB, s1efled ZOBA = / OAB)
:. ZAOB = 180° — (LOAB + ZOBA)
=180° - 50°
ZAOB = 130°

12.

. LL_5Zled 2 etereunm) @@ (PHECHTERT alg.eud

Brewi() Clurg evww e LEseafled, 16 Q&5
serenw Quflu el GHar mBrewTroN)
6 Qsil5 Spywerer fAflw e LSSDGS
QsrHCar_ns SIMDHSTEV, Quiflw
QL L SFlaT QLTLD STewTs.

DY

ANS T S7B
AB =16 Qg.18 wpmid OC = 6 Gl&.18
opeommed OC L AB wHmibd C yeug) AB-g,
2 swunsrisemsl LsSHema).
(- eulLggisasnen CanmLilig)
wonid AC=CB =8 Gl&..5
OB & newst Geuswt(HILd.
Ysnaren CammLiLig,
0B = JOC*+ BC*

OB =10 Q&.5

& 600TGUUTITLG. ZOGUTUTENEV (LP(LPEWIDWITS: 2_(IHEUTES
o Afu soanTaSIienT(h QM SHe
BlyewT @S CoemailiL(pid HDH SewTeRTm.

Flewt(Hserflest eTEISeneTL Qurmss|
IU(HESHS Czenauwimer &EWTEWTITIG.S
FIMTIq. T BOTSHNSH HeNTHEIL_aLb.

s
L gdedmbsl y /&

AE =3 Q&.8, BF = x,
BD =3 Q&.8, EC =4 Q&.15,
FA=5 0.8, CD=10 Q&.5
Feurerd CammLiLIg,
BEF CD  AE
FA DB EC
10
X — X
3

Il
—_

X
= pas
5

= MW

x =2 0g.8
831Geu Caemeuwimensn@Lb.
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14. feurero Cxmmid: A uL§Sledlmbs)
AB =12 Q&.8, BC =8 Q&.18, AC =10 Q&.15
E Y Gleuafuiled 2_aier LsireMuled BB
auenTwiiL(Ob CgTHCasT(H
B D C AD=AF=x,DB=BE=y, EC=CF =z
SaHm: L& Sed\(hiba)
ABC e1651L18) (1 (P&HCHTETILD 6T6vT55. x+y = AB = 12 (1)
usamiset BC, CA wpmib AB uiled 2_efer 4z = BC = 8 —-(2)
yerefaeT (pewmCw D, £ wnmid F eTetis. sty = C4 = 10 —-(3)

p&Catems et Lssmsen Cr SengenuiL

1)+ (2)+ (3
Qunmssl, AD, BE, CF eteip Selwissiaai M+@+G)

AB+BC+ AC =30

%;_%mfgbfzi ol = x+ytytztztx =30
DC EA FB = 20x+y+2z)=30
aeunm alfgsdlemenud FeneodHwins xtytz=1I5 —-(4)
wrpfemed  Cumhemdwg o ewtenwCu. AB =AD +BD =12
e10leresiled 1-uflest SemevdLhl Retim) Sy @L. = xtytz=15

15. Quesfleorery CxHmLd Q |:| Fz=0
(MENELAUS Theorem z=3
(Without Proof)) d = x+ty+z=15
Sapm|: R xt+8 =15
168D (LpSCHMeTETSSl6vT x=7
Lésmiset BC, CA, AB i p c _) xtytz=15
(21606081 teudidlesr L&) 05 v - 15
~ulled 2_efrem LysireRlaseit pemmGui P, O, R Y
pSFlwes e Cam_emiohg LsTeflsenms y =3
Semwwg Coemeuwmes wHmDd GLimg)omest AD =7 @Q&.8, BE =5 Q&.5, CF = 3 Glg.15
Bupgemen 2. @m allas@ swusdler 2 wrb 6 1. Fer
BP CO AR . L
— X —= X — =], Siquilefimig 8 15 Cgrenevailed 2 arer @
PC 04 RB wad, swusems Curesl em @GMiuil
Bhsé G5SISSled 2 efen Qzremevey BmaTHIDG. swUSSleT 2 Fdl&EGL0
(35-5".';@\591“&@.56‘“ SieUSSID S soourps wsdl Bosew PLSIDEw
GMTHSEMEUWTSLO. BeoLuulL. Cgremeve), LhFH swbuFmS

Corsdl BaTHg Cgrameailn@s Fwd eresfled,
e NN - susdlear siquilelimbs Lbéd sHOUTRSI

L uLggled sTligweterug, 8 Gles, aTellauera] Cigrenevaliled 2_arerg)?

10 Qsi5 wHmw 12 Q& uvssESeT -

.3 . : o Siey: g
eoLw WiCsreasdlager @M eI LLd ,,
Siemwhglererg eresfled, AD, BE wpmiw CF
@& STCWIs.

5 P IALIADIBET

allené@ SLUSHET Il &H@LW, LLFSSEGLD
Qoo Ll L Qgrenevey BD = 8 15,
allené@s awugdles 2wy AB = 6 15
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x 15 Qgremevey BaTHG L6, LLFSH Q(Hs@L
@1b C 61618,
AC = CD = x et6u18,.
Gueoith, BC=BD — CD =8 —x
AABC -uled, £B =90°
AC* = AB* + BC*-\edmia!

x? = 6>+ (8—x)

x? 36 + 64— 16x +x*

l6x = 100,x=6.25

eteviled, BC=8 —x=8 - 6.25=1.7515
e1651Geu, LpFSlwinengy ellend @ sbLIS 6w
SqulleSlpibgl 1.75 1S Clgnemevailed 2 _siteng).

518 bem(perter epit erewflunmerg e Cl&EiG5I
sair 155 EsmigEs  emeussLILHEIDSI.
genfluflesr Guoed Wener saienr 4 15 2 wIrSHed
QzTdmgl. gemfluiler Spener seueny
Crursdl 1.6 15 BaTSSILMHWOUTS), erevwfluiler
Gueopemer &eaufled eTalauema) GFTenevay
CuedCrrad mamLDd cTeors sewr(HiLily.

E

II |_
1.6 D

erewsilullest ey AC =5 15,
geuflest 2_wipd, BC =4 15,
AD = 1.6 Q&..8, EC = x eT6v18.
LSSl mbba)
(i) Ysrared CaHmLiLg,
AB =~ AC?-BC*> =+25-16
AB=3
LLSSleSmhel
(i) > AB=AD + BD
3=16+BD=BD=14
ADBE-6d Yignaren CemmLiLig
(BEY = (DEY - (BDY
(4 +x)? =52-(1.4)?
(4 +x)* = 25.00 — 1.96 = 23.04
4+x = /2304 =438
A x = 0.8
e16w3l GLoed Crréd) mamLd Clgmenevey 0.8 LS

4.

uL5gled, QemiICarent (W&Camewrd ABC
-ufled Gamewrd B gy ez ClFEGsrewrid
womb D, E eretm Yeteflemer usasw BC g
epeirm| swL@GSlserrs LflsSing eresfled,
8AE* =3A4C* + 5AD" ereur Bimieys.

4

B D E C
D, E syeu1g) BC -g5 (p&&1086 FaflDSME)I.
BD =DE=EC=k, BC=3k, BE =2k.
AABC -ed Yignarend CommLiLiig,
= AC? = AB* + BC?
= AC = AB® + (3k)?
AB* = AC* -9k
AABE -60 Ygn&rerd CammLiLil,
= AE* = AB’ + BE?
— AE? = AB + (2k)
AB? = AE* — 4k*
AABD -ed Ygnsren CammLiLig.,
AD? = AB* + BD?
= AB>=AD* - I?
(1, @)=
AC* — AE2 =512 (- (1) = (2))
(), (3) = AE> — AD* =32
4)x3—(5)x5
= 34C? - 34E* = 15K
5AE* - 54D* = 15k

(1)

~-(2)

~-(3)

—--(4)
~-~(5)

34C*—8AE* +54D* = 0
. 84F* = 34C* + 54D’ etew HemLA&SLILIL L8
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5. 5 Qs.5 gyrpeter L SZled PO ey | 6. @m wwECsrawsdler Camewr Fmsw

8 Qa.5 Ber(perer Brewr Sy@GWb. P wHMID
O-aflar aufiCu Gleedgd QsrHICsTHSeT T
arerp Letafluiled sngsdng sresfled, TP erestm
QzTHCHTL1q.607 SeTLD STEwTS.

TR =y e1ev18.

OT syemg) PO -ullevt Qlemi@s5s B)\(meaw
OeaiLlg oy @L.
PR=0R=4Q&.8

AORP -ufled

OP* = OR>+ PR [

OR* = 52— 42=25-16=9
= OR = 3 Q.8

OT = OR+RT

= 34y (1)

APRT-u9e0,

TP = TR+ PR —(2)

wonId AOPT -eS(mhE!

OT* = TP?>+ OP?

OT* = (TR*+ PR?) +OP?
(2)-e9mpal TP’ -3 LirguilL)
(D-6Swibal OT -gg rluil)

9+6y+y* =3P +16+25
6y =41-9, eteei@eu, y = %
(2)-e0mmag TP* = TR* + PR*

2
TP2=[E] pgre 26,4200
3 9 9

20
ste01@eu, 7P = 3 Q&.18

Qe g6 e Lerafluller auflurss Clesdeyid
cTerTs ST (hs.

giey: ¢

A D B

A ABC-60'0' e1Ggemid 62(H Li6iTe 616578
B mawbleuiqaet CD, AE wpmibd BF etevtLiew
wpewnwCw AB, BC, CA g flw Lssmisensn
D, E, F yenefiseied endléSng) erevis.
AAOB -6d, OD eteviigy ZAOB -6v1
BmFwolalL g g @LWb.
04 4D
0B DB
(B® swblau iy CoppLiLig) —=~(1)
ABOC-60, OF e1eviigy) ZBOC -6t
BmFwblaiL g g @LWb.

OB  BE
N = (2)
ACOA-60 OF etev1Lig)]
ZCOA -ev1 @mEOaIL g Sy @LD.
_CF _CF
" FA FA
(D *x@2)x3)=
% X % X C_F = Q X E X C—F
OB OC F4 DB EC FA

AD  BE CF _,

- 7 x — x

DB EC FA
opeuned AE, BF wmhmibd CD etestues of LA, LB
woHnibd ZC @ Fwblal g semm@Ld.
AB _BE BC CF CA _ AD
AC EC’ 4B FA’ CB DB
CumaewiL 3 gweiLir(hseed®Hhg
BE CF _ AD
EC  FA DB
AB _ BC _ 4

x 2= x =2 =1 ((4) e
“c a8 “cB (4) wba1)

p&Canewig et Canewst Q(mHELoleUL g S6T
@ Yeief eufluinss Glgedenitd.

~-(3)

* %k Kk
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-\

8L IU5 05 TMEVEY 6ugediLIey

2 1DSHILIEHIBHET

1. Qsr@ssuuLL yeraflsener Senevrs@Ld
CriaCariyar Frimead srewrs.
@ (-6, 1) wpmis (-3, 2)
(i) (14, 10) wHms (14, —6)
girey:
i (-6, 1) wpmb (-3, 2)
gmie m = poon o271 2-d
x,—-x  —3- (—6) -3+6
SLEMIeY, m= —
ii. (14, 10) wHo (14, —6)
smiiey, m = H=n _ —6-10 _ -16
X, — X, 14-14 0
. -16 .
- gmiley, m = — = QIILDISS (PigILNg|
2. Qer(@ssuurL  Uetaflaener Qenemwrsi@ld

CrirCariyer sruieneusd Sremrs.

(i) 5, V/5) oHmid apgiuiate

(i) (sin 0, —c0s0) wHMH (—sin0, cosO)

girey:

i) (5, J35) wHmid (0,0) etesTuew Syl L

Leitefaer
gne]= m
:.%_Y1:0_J§
X, — X, 0-5
5
5045

i1) (sinO, —cos0) wHmd (—sinbd, cos) etevTLIEwT
STUUL L LjeTemaer

gnlie| = m
_ NN
X, =X
_ cosH—(—cosH)
—sin@—sin @
= 2C986 =_—cot0
-2sin@

|

(=2, 2), (5, 8) etetp yeeflaeaT aufly QFedILD
Crir&Car(m r womb (-8, 7), (-2, 0) gydw
yereflser auflé Cleeogpd Crir&ECHT® s oy@Ww
aefled, Crr&ECan(y r ey CrisCGar®H
5-8@ CFmIGSSTS J|eMOWLOT?

Siey:

CritsGan r-ulles gnuiey, m; = 8-2_6
5¢2 7
0-7 ~7
G . . G _uj] . . 4 p_ -
Bir&EGaET(H s-ullest smuiey, m, il
. , . .6
gnieseflesr OlLI(H&HS60 = = X & =-1

SiBmeug| m; m, =—1
s1eu1Geu, CriTaCan( » yengl, CrirsGan(h
5-8@ OCFEIGSSNS EDLOULD.

(3,-2), (12, 4) st ysirafssir aufls Qb
CriraCGar® p woHmw (6, —2) womw (12, 2)
arerp Lereflaer auflé Qeedad CrrsCam® g
SLGID. P TG -5 BOERTWT(GLON?

(ow 22 |(&5.22)
p -Wevt gmuiey m, = 4r2 _6_2
12-3 9 3
. . 2+2 4 2
q—uﬁ]so‘r&rrqumZZE:g:E

B HeSmig CrieaCar@® p -uleT sniiea] =
CritsGan® ¢ -ullesr #muiey.
s1651Geu, Crir&EGan(n p -wnesg CritsGCan
q -5 Bewerst oy @Lb.
=2, 5), (6, 1) wHmb (2, 2) & Yereflser
o Car_enwhbs Yeataflser erard sm(H.

giey:
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130 ]
. . -1-5 -6 3 Siey:
AB -Wllevt &muiey = 512 “3% 7 &mﬂ&l:u:’j—_a:3—a
. . 241 3 3 X, — X, 9+2 11
BC -Wlest gmiey = —— = — = — L . 1
2-6 -4 4 Qar&sIuL L Fruie] = — 5
AB-wWlest emiiey = BC-ullest gmuliey . 3—a 1
eteviGeu, A, B, C e1681m Leitefaseai eCir ; 11 2
CritGaL 1q 651 Gloed jemLomH G 6ierent. 6-2aq =11
25Geu, 4, B, C eissiuient e CanLenobg 2a =17
e O L
6. (=3,-4), (7, 2) wpmb (12, 5) ereim Lsrafser “T 5

8C Garmupgme: qard sn-Gs. 9. (-2, 6) wpmid (4, 8) et Listafleet auflé

Biey: 2-(-4) Qeedd Crir&aCam_nrerg (8, 12) wHmud
AB-Wlest miey = x, 24) eterm yemeflaer euflé OCFedLD

7-(-3) CriraCarinnEGs Csm@ss erefled, x-uller
_6 _3 (1) &I Srewrs.
10 5 giey:
BC-ulsir smitey = 5-2 _3 —(2) (-2, 6) wHmId (4, 8) &lw Letefsefes smiiey
12-7 5 |:| 8—-6 2 1
m =-——=—-=-=
o 5-(wa) 442 6 3
AC-letr smivey = 12—(-3) (8, 12) wmmbd (x, 24) sy Lsiefilsaest
9 3 grule]
==z —-(3) _24-12 12
15 5 m, = =
) x-38 x-38
(1),(2.), (3)=4, B, CsteviLient (1 GamL_emioevent Brewi® CrisCanpaenn QsE Essl
_____ O 6TEUTLIST60
7. (3, -1), (a, 3) wims (1, -3) S epeain) my X my = -1
. . . P 1 12
yereflzmer @ Cam_emwbgeneu eresfled a-uflest — I x -
LI srewTs. 3 x-8
= 4 ;=
. . x_
Y| (Zfa, —l),’B (a., 3) wopw C (.l, -3) g Sw N v_8 = _4
6T Li6iTeNaer (1 CaML_enibhgene. N =4

S AB-Wlest gmuley = BC-UlledT &MUI6Y | cmmmmmmm e

3 _(_1) 3.3 10. (=2, 2), (5, 8) erevrp Yeraflsar aufle CFeOeILd
= = 1 Crir&Gar(y r wHmwb (-8, 7), (-2, 0) op&lw
a=3 —d yereflser auflé Qeeoed CriraCar® s Sy @w
- 4 _ -6 aresfled, CriraCan@® r gyerg CriaCar® s-5@
a-3 l-a QemiE55Ts emwujiomr?
= 4—4a = —6a+18 giray:
= 2a = 14 CrireCan( r -wles smiey, m = % = g
= a="17 ()J: -7
______________________________________________________________ CriaG St emiey, m. = _ -/
8. (-2, a) wpmms (9, 3) eep Letefl aufls Bi&Gan® s-wleit smiey, m, = — 7" = ¢
S . .. . 1 . . —
Qeeog)d CrirGaTLIq.60r Fmuleay -3 ereufled a-evr smieysefe QLImGS) = 6 T _ 1

: ? 7 6
WL wirg)? Sigmeugl m, m, = —1

steniGeu, CrT&ECHETD 1 yevg), CriteEGar(
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. (3,-2), (12, 4) erevrm yereflgmer aufls ClFedeId

. Heraumd afleurmisenery LwerLhSS

. 8x =Ty + 6 = 0 Tt CaEMLIqeT FTl6] WHMILD

$-5(& OFRIGSI1S JieMOULD.

CriraCGar® p womw (6, —2) womw (12, 2)
ererm Ueteflaer auflés Qeeoed CrirsCsr q
SLGID. P HOTHI (-5 PORTWMTGLON?

g""u;m oy _4t2 62
- gl =——==—==
P M3 T 9 3

s 242 42
q -l smiey m, = o0 = = 3

B Hedmibg CrirsCan p -ulles gnuie] =
CriraCan@® q -ulles #nuiey.

ereu1Geu, Crir&Can(n p -wresg

CrisaCan® ( -&@ Qenewt oy @Lb.

CrirsCam i swearumr() Srewrs.
() smiey S wHmd y QeuHGgiewT(H ¢ = -9
(ii) Fmiey Gamrewrd 45° wHmLD
y Qai_(gsiemr(m 11
i. @miE emnieym=>5,
vy Qeu_(p&giewi(d ¢ =—9
CrirgGa g6 #wesiLin( y = mx + ¢

|

y =5%-9
0=5%-y-9
.. Gaemeuwnest FwestLm® Sx —y—9 =10
ii. #niey&Canewrd 0 = 45°,
gnwiey m = tan 0
m = tan 45°
gmieym = 1
v Qeu(sziewi( C = 11
CrireCan g6 gweiuin@ y = mx + C
y =Ix+11
0=x—y+11

. Gaemeuwnest FwestLm @ x —y + 11 =0

y Qe (hSgiemT(H pSlwainenn sewrsdl(His.

&qx—-Ty+6 =0
8&x+6 =7y
7 24,60 61(&&S
8 6 7
_x+_ =
R

X' -3 -2

8 6
7 7 4
y = mx+ C et Uil
gmwe|m = 8
7

y Qeu_(psgiewwip C

. (3, 4) erewrp yerefluliesr euyfl QFedeus D, —

-gn smleuns 2 enLwgorer CrirsGsmig.eur
EOGETLNL_L_& ST60TS.

) =G, 4

gne|, m = — 5

CritsGan g6 #weun(p
Y=y =mx—x)
5
o) =2 3
Ty +4) =-5x-3)
Ty+28 =—5x+15
S5x+7y+28—-15=0
Sx+7y+13 =0

.2, 5) womw (4, 7) eerp yeraflseners
Cars@w CrrsCGsriiyn@Gs CFE@GSsTaaw,
A4 (1, 4) eerp yerefl aufl Qeededeugiomesr
CrirsCamLiqar FaTUTL oL g STenTs.

QarasiiuL L Lereilset 4 (1,4) , B (2, 5)
womibd C (4, 7)

Caemeuwinent CrTGaML 1q.681 &MUl m 616578
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32
s CrirsaGann BC-5@) temi@ssns Siey:
2 _eiengy. e16vTG6, (1, -5) woHmib (4, 2) etesin Lsitefaemnen
mx1 = —1 Benerrig @b Caniq et BH\LILsief M
m = -1 6T6VTS.

: o _ (144 —5+2) (5 -3
8&Cannengy) A (1, 4) euLfl QOFedeusTED, M (x, y)= -, )T\
Coemeuwnen CrirsCar iq.6u1 F6sTLIM(D) i X-oibihe Severmunen Gan i e

Y=y =mx—xy) gwesiun(y) y = b
y—4=-1(x-1) . (5 —3] i
pod= x4l 8 &Can( 2 auLfl Qz608Ima).
e1eoiGeu,x +y—5=10 y = —%
16. yw SiEHHEPLT FoLISQD, T GBld = yt 32

2L Qe (HSgewihsemer  gOLUDSIS,
(5,7) erevrp Leirerfl euifl Q6o eYid Crpirs:GamLig.6or
FLOGTLTL_6OL_5 SIT60TS.

girey:
x Qeu_(pSgiewi( ‘a’, y Cleul (S glewt( —a’
QeuL_ (hSzieT(n euigeiled CrirgGam g 6ot
Festun(h)

i_{_l =1
a b
22 - 1 (@rGsb=—a)
a b
6165i@eu, x—y = a ----(1)

(1) spemg (5,7) auflé Glgedeusmed
5-7=a-emhg a=-2

25661, Caemeuwimen CriréCam__iq.ev
gwetLn(h x —y = —2; Fmeug x —y +2 =0

. 4x—9y+36=06resrm CpT5CaT(H 3} & &HHeafled

gpURSSID Qe (HSIenT(hseners Sresmrs.
Siey:
Qar@ssuuL L CriGsn(h swearun@
4x—9y+36=0
61651G6u 4x — 9 y = 36
LBUDL —36 60 UGS,
XY

2 (1)
(1)-g3 Qe BSg1emiD eugausgiL e Uil
x Qeul_ (DS gIew(®H a = —9;
y Qeul(h&aiewi( b = 4

. (1, -5) womw (4, 2) eaam yereflsener

Bwemagw Car_(hgiewnger BHLLeTef]
aflurss Ceedeaugid, SpssanTeunilns
BememTiLTETSILOT 60T CrirsCamiq.er
FaTUTL L& srewrs. (i) X Q&a (ii) ¥V g&a

|

2
= 2y+3 =0
ii. Y-=2158m@ Qevewwines Camiq 681
gwetun(h x = a

5 3
[OEACE3 () (E, 7] auLfl Qze0dIma).
5
Xo= =
5 2
> &7 5 - 0 =2x-5=0

19. Qsr@ssuurL @m Yeteflaer auflé Qaeded
CrirCam iq e FATUTLOL5 STewTs.

d 2 .. (-1
0 (23) wos (5.-2)
(i) (2, 3) widmb (-7, 1)

Sirey:
Grewi( Laef eufle Cleedenid Gam_iq 6ot
gestun(h

Yy—-h _ X=X

Vo= N X, =X

(2 v (3

Cxemeuwines gwesn(p)

y—% x—2
3=
L2 52
3
3y-2
3 _ x—2
D T
3 2
N 3y-2 _ 2x-4
-8 -5

= 15p+10 = —16x + 32
—16x—15y-22 =0
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[33]
SRR
ii. (2,3) wHmb (-7, -1) o
Caemeuwnen goem(p) i x Qe ssiew® a =4
y-3 _ x-2 y Qeul(psgiewwid b =-6
-1=3 =72 CrirsCa g6 eI
y-3  x-=2 y Xy
- _— = —_ . = J— - =
-4 -9 a b R
= 9y +27 =-4x+8 X Y o 6x—-4y
= 4x-9+19 =0 4 6 24
20. @ wewen xp-gersHed (-6, —4) eaip 203x-2y) ) -2y
Lereflufled 2 sz, (5, 11) ererrp Laraflufled 24 12
Q@@ UTed Uiy eneussLUL(heTergl. Ljener 3x-2y =12
flss @miSinw b uwenllggL Lred SihbS 3x-2y-12 =0
afllpwyding erefled, LTemeOL] LIHGHUSDSS ii. x Qe Pssei®H a =—5
Czemauwrer  urenguiler  FETUTL L& J Qeul’ Bsem® b = 3
srews. % 4
CrirsCan g6 swaTLN(H
(-6, —4) wHmb (5, 11) eTedtm Lsitefaemen XY -1 =20 -
- .. . a b -5 3
Benewrié @b CanL g6t Foesun( 3
L A x4y 3x—20y
Vo= X, =X _—5 T =1 s 1
. y=(4) _ x=(-6) 3x—20y =-15
11-(-4)  5-(-6) 320y +15 =0
= %4 = x1+16 23. Qer@ssuuL L GuiGsrsefler  &wer
UL iq.68\(m w Faseflor  Cued
= 11y +44 =15x+90 FOGE U S

. (-1, 2) ereerm Leirerfl eulfl QFedeugid,

. &Cp OQar@&ssuul(eter x, y Qe (S

= 15x— 11y +90—44 =0
15x— 11y +46 =0

gmiey —% 2 _enLwgjorer CrirsGsmL g et

FLOGTLITL_6WL_8 SIT6w0TS.
giey: S
Sroul L yeiefl (—1, 2) emiey _T

Caemeuwnent gwestun® y — y, = m(x — x;)
=5
y-2= 7 (-(-1)
4y-8 =-5x-5
=5x+4y-3 =0

=

=

gewi(hsmers OCarewt CrisCar(haeafler
FORTUT(HSHENETE ST,
W46 ()-S5

gpUBSSID Qe (HSIierT(Hsemers Sresmrs.
() 3x—2y—6=0 (i) 4x+3p+12=0
Qe (DS gieT(D euigeud Fwesiun(p
Y o=
a b
v a —x Ol (NS gIewT(H
b —y Qeu (NS g6w1(H)
i 3x-2y-6=0
3x

= 3x—-2y=6 :? 2y _

6

= 20— a=2,p=-3
2 -3
4x+3y+12=0
4x + 3y =-12 (+ —12)
A 3y
12 -12
BN S
3 4
= .. a=-3,b=-+4
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24. 6x+8y+7=0 etevrp CriT&CHTL1q.607 FTUIeNEUS

. (i) 3x—7y=11-4@ DewewTwimesr

2x+3y—-8=0,4x + 6y + 18 = 0 gl

STEUT S,
Siey: |
] —X-6%1 Q& (LD 6 3
smieym=——————=—— =—=
y-6v1 Qas(Lp 8 4
3

ereuiGeu CritsCaMLIq.691 Fmuley — " S LD.

(i) 2x — 3y + 8 = 0 -5 QemEGSSTeT
Crir&CarLiqar sriiameais SremTs.
Sheu: ]
i. Qar(ssuul L CrirsCamiqes
gwestun(p) 3x — 7y =11
3x-T7y—-11=0

Bemever Can(haeflest nuiege
&b e1681LISN60 3X — 7y = 11 61681
CritaCan i n@ enewruing CamL_iq.evr
&nuley % ShSLD.
ii. QarsasLuLl L CrirsCam iq.65
gwesun( 2x — 3y + 8 =0
gnue| m = 2.2
-3 3
REMISH0 BTN C\&FEIGS S ew
CritsCGan_(p #nuieysefes
ClLHSBSMLIEVEHT —] 6TETLIGTED
2x =3y + 8 =0 etet1p CriT&Can_i1qn@F
OlemIGSSnen CaL iq.6v1

CrirCar(hser Qencwt cTarrd ST (NS,

Siey:

2x + 3y — 8 =0 e161n C&HML 19 631 FMUIEY
_ x-erlasw )

m=——-———=—=

y-ev1 QL 3
4x + 6y + 18 = 0 e16v1n CaHML_1q 68T FMUIEY
_ x-erlasw )
" y-ev1 QL 3
Qi m, = m,
ereriGeu @eriall(m CritsCanaeEpd

FMUI6Y&6T FLOLD.

BemewwTim@GLd.

27.

x—2y+3=0,6x+3y+8=0 g
Crir&Cam(haer eetmis0lsrem)
QeriGSF Tt 6TETS ST (DS,

giey:
x—2y+ 3 =0 erev1p CriTtGCaM 19687 FMUI6Y

-9 -{1)-

6x + 3y + 8 = 0 e1ev1n CrriTGaML 19 68T FMUI6Y
a 6)
= —_— = — = _2
2 [bj [3

m XmZZ% x(-2)=-1

gniie|seNest QLSS HLIEVET = —1 L @GLD.
- Qer@ssuul L. Qrewih CrrCar(haenLd

Ol&FEIGHSSTVTEDEUIMGLD.

. gmuley srewrs. (i) Sy —3=0 (ii) 7x — % =

giey:
i. 59-3=0
i —x-61 Q&(1p 0
Fnule|, m = - =—==0
y-6u1 Glap 5
il 7)c—i =0=>7x= =
17 17
=>0p+7x+ —
) _ x-e Qs -7
Fniie], m = Vet Qg ey

. (i) y=0.7x-11 -8 Qenewrurs

(i) x =-11 -& QerIGSSTS jeMOULD
CrirsCamiger sruienais Sresmrs.

(Siveu:

i. y=0.7x—11 ete51pn CaL 191 QewewsTuimest
Gamigesr gwestun(® v = 0.7x — k
. Gamigevr gmuiey = 0.7

il. x=-11
=>x+0p+11=0 (1)

(1) er6v1D CHHML 19651 ClFEIGHSHG) 6ulg LD

Ox—y+k=0

=>y=0x+k

. Camigeer gmie] = 0
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Stage - 2
E
Lo e A, S TAGE A | 3. AABC-Wesr ussmisar AB, BC wpmw AC
o - s Flwauprler  BEHLYeTellEaT  (penmCu
1P 1, —4), O (b, ¢) wdpud R (5, 1) eresriem P (11,7), Q (13.5, 4) wpmyd R (9.5, 4) erers.
8y CriCam1q60 Semwuw Leteaflser eTers. wsCaremsdear (pewerts ysteflser A, B
Gugid 2b + ¢ = 4, arefled, b wHMIS ¢ -uflest whmd C srewrs. Coeid, A4BC-ufler LpLienu
I srewrs. APQR-ulesr uptiyeir UL,
Siey: giey:
P (-1, —4), O (b, ¢) womid R (5, —1) etev1 P = AB-6v1 epwowiiyerefil
yeenaer G5 CrTCaM 1q.60 emaugTe) - [xl +x, y+ yz) _(11.7)
POR-wWlest Lty = 0 2 72 ’
X, +X
-1 -4 AT ] x4 =22 (1)
Lib ey n+y
215 -1 =>=—=2=7 =Spyntn=14 —---(2)
-1 4 QO = BC-ev1 emowiLiLemef
X, + X +
%{(cbzo)(4b+5c+ 1y =0 = [ e y22y3)=(13.5,4)
—c—b—-20+4b—-5¢c—-1 =0 X, +x,
3 6c ~21 (=3) =2 2185 St =27 —-(3)
P +
b-2c =7 (1) ey b = 4 =y, ty;=8 ----(4)
Giogoi, db+e =4 —(2) )y
(Qsr@ssuLLs) R = AC-e6v1 emwwiLienef
(1) wHmid (2) SriLgest epeod B ClLimeug = (%, %} =(9.5,4)
b=3,c=-2
-------------------------------------------------------------- SI25 295 Sxtxn=19 —(5)
2. A(-3,9), B (a, b) wipmud C (4, -5) eretruiew
o Car_emwng Yereflemer womuw if a + b =1 N Y _ 4 — 4y =8 (6
eresfled, a wHmID b -ullesr LS srewTs. 2
Siey: D+ +G)= 20r +x;+x;) =68
A4 (-3, 9), B (a, b), C (4, -5) elsiLew g X txtx; =34 ---(7)
CanLemwbg Leiefilser HmiLd Q)+@+(6)= 20, ty,ty;)=30
atb=1 -—-=-(1) Vitymtyi=15 —(8)
Gy CanLenwnhg 3 Leaafaer Olsmem_ () - (1)= x;=12
(p&Canevstgdlest LipLiy = 0 7= G)= x,=7
Xo» A (1) =(5)= x,=15
1 -5l Pl1-0 ®) - ()= y;=1
SR B (8)- @)= y =7
ol B0 (3)-(©)= 1,=7
= -3b-5a+36)—(9a+4b+15)=0 A(7,7), B(15,7) wpmib C (12, 1)
= —5a—-3b+36—-9a-4b—-15=0 X » 7 7
—14a-7b+21=0
- ¢ AABCsu"ruqu=lx2 vl LS 7
= —14a-7b=-21 2 DA TA 212 1
= l4a+7b =21 (+7) x 7 7
= 2a+b=3----(2) = 2 [(49+ 15+ 84) — (105 + 84 + 7)]
QarssliuL(heteng a + b =1 ----(1)

()-Q)=a=2 b=-1

N = N

[148 — 196]
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A 15

QarssuulL.  yereflsetr  OemiCsmevr

= % [-48] = 24 &.5

(. urliueTey GeHDWINg: B\(HHSS))

X0 11 7

APQR-est Ly = l X, W _ l 13.5 4
20x, y,| 295 4

XN 11 7

[(44 + 54 + 66.5) — (94.5 + 38 + 44)]

[164.5 —176.5]

= = N~

[-12] =6 5.9

(. urliLeTey GHeODWNS B\(HEHSS))

@uGuing) APOR -ev1 ULy = 6 &..9)
AABC-evt upliy = 24 5.9

. AABC-ev1 iy = 4 x APQOR-ev1 LipLiY

(-3, 8) ereip yeirefl eaufl GQFedeugd, Sw
SFasaflar  lems Qe (HSgiewnr(Hsefler
Fa(pze0 7 2 enLwgorer GCuirsGsmLiger
FDATLITL_ L& SHTEwRTS.

a, b erss1Liest CleuL_(H&giewT(DG6I 6T6rTl60
a+b="T7 008 b=7—-a

Qe PSS B aulgeuld f+% =

a

%5(36u,£+ |
a T-a

©&Cannengy) (-3, 8), e16v1D LyaiTef euLdlE
LTINS Y

-3 8
—+

—to— = 1 @Fess
= -3(7-a)+8a = a(7—a)
21+3a+8a = 7a—a*
&8, @’ —Ta+1la—21=0
Bgemesid STLILIGET ppeoLd
@-3)(@a+7 =0
a = 3 oevevg a =7

a e16vTLIG) LDl6n; 6TEWT 6TEHTLIZT6D ¢ = 3 LHMILD
b=T-a=7-3=4

steoG60l, §+l =1

25Geu, Caemeuwinen CriréCam__iq.ev
gwestn( 4x +3y—-12=0

|

WECaTaTSmS IJMSGD 6Tars HTL(Hs.
Cueuw UJsrsred GCspmiens Blenpey
Qaulujior eTesT Sy TmUls.

(i) 4(1,-4), B (2,-3) womw C (4,-7)

@ii) L (0, 5), M (9, 12) widmd N (3, 14)

giey:

i. A(1,-4),B(2,-3)womwd C (4, -7)
S-(4)

1

AB-ullest muley = = - =1
Mo 1
7 (= —4
4-2 2

AC-leir smiiey= L4 =3
4—(+1) 3

(ABWilest muiey) x (4Cullest muiey)

—1x(<l)==1

. AABC etev1igy ClemiCamevst

(P&Canemom@GLd.

(- AB L AC)

Usrared CanmLiLig.,

AB*+ AC? = BC*

(-d= \/(xz _x1)2 +(, _yl)2 )

AB? = (2 1P+ (-3 + 4y
(122

AC* = (4 1P+ (-7 + 4y
=3P+ (3= 18

BC> =(4—2)+ (=7 +3)?
= (22 + (-4 =4+16=20

AB?>+ AC*=2+18=20=BC*

61681 Blem LSS LILIL L ).
- QarssliuL L Lemalaer Lgnsrend
Capmgeng Blevpe Glauiub.
ii. L(0,5), M(9,12) wpmib N (3, 11)
LM-ulevt gnuiey = 12=5 _7
9-0 9
MN-west gnuiey = -2 _2 _ 1
3-9 -6 3
LN-wWlest gnuiey = =5 _ 9 3
3-0 3

(MN-wWest gnuiey) x (LN-ullest gmuiey)

(o
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Stage - 2
571
~MN 1r LN - BCevt #miiey = ADevt gmuiley.
A LMN e GlgmiGanewst (p&GamemTiomn@Lod. e1601Geu BC wyd AD wjib QemessiGCan(pser.
Ugrared CammLiLig, . e1e0iGeu ABCD epit Qemewsiarsens
MN? + LN? = LMP SIEDIDESD.
MN*=(3 -9 + (14— 12)’ 7. A(2,2), B (-2,-3), C (1,-3) wpmud D (x, y)
= (-6’ +(2)=36+4=40 Hw yereflser Denemarseng enos@d
LN? =(3-0)>+ (14 —5)? ereufled, x HMIB y -wWile wienus srewrs.
=(3)*+(9=9+81=90 Siray:
LM2 = (9 - 0)2 + (12 — 5)2 A (23 2)’ B (_27 _3) 5 C (13 _3) LDﬂ.)Q-ILD
=9+ (7>=81+49=130 D(x, y) e181p Lisiefilassit Qevemmiarsens
MN>+ LN* =40+ 90 = 130 = LM’ SIDIEGLD FTILIS6E)
~QanssluL L Leteiser Lgnsren AB || CD wpmud BC || 4D
Cannsms Henmey Qeuib. - AD-ev1 gmile] = BC-6v1 mulie]
-------------------------------------------------------------- y-2  -3(-3) y—2_0
6. A4 (2.5, 3.5), B (10, 4), C (2.5, -2.5) wHmd = 2 1-(2)T 2
D(-5, 5) gdfluer QYevewrarsler penerLl = y-2=0=y=2
yetraflser sTerd STL_[HNs CD-et miiey = AB-6it smiley
giey: - y=(=3) _ -3-2
A(2.5,3.5) B (10, -4), x-1 2.2
ABG&T&HU’_,Q_IZM S y+3 _ -5
eI x-1 -4
_A=35 _75 =-1 Y =2 eT6vTLIS 60
10-2.5 7.5 5 5
C(2.5,-2.5), D (-5, 5), = =7 Dx-1=4=x=5
L =5—(=25) T e NP PN
CD evt gmiey= ————— 8. 4, 2), B (-5 -1) womw C (1, 9) -y
-5-25 . . .
75 wemerserres Carewr A4BC-uflesr (ewewr
_ 225 7S -1 Al mBg  auemTuiL@L  BHESCHTH
o 73 . _7"5 LHMID  GSSSCHETIgaT  FLATUTL L5
. AB evt &miiey = CD ev1 &muley i
e1661Geu ABwd CDjb> QemevstGam(H\sei Zier: 46,2
B (10,-4), C (2.5,-2.5),
-2.5-10
_ 25+4 _ 15 10
- - i B D C
=75 -7.5 10 5,-1) 1,9
_ 151 AuledmHE euenTwiiLL L BH&GSHML Lq 65T
=75 5 gesium(h)
4(2.5,3.5), D (5, 5), BC Wt p@isiiehl = D (‘5; L ‘12+ 9)
-5-(3.5
ADtszs"ra=rrul|c'>).|=#=£=£x2 =D(-2,4)
-5-25 75 -75 10 . .
s | AD West swen® A (6, 2), D (-2, 4)
T 5 s Y=h _ X7X%
=0 Xy =X
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38

y-2 _ x—6 .. 3-0_3 1
= — = AC evt gniiey = =— ==

4-2 2-6 ENTFER TN

AC 1 BE

N y—=2 _ x-6

T g B (10, -2) BE et smiley =5
N y-2 _ x-6 B ulleS\mpiigl (p&Carems e siHliusasSns

1 -4 euemTWLILIL L &5816CHTL Iq 681 Fwestun(p)

= x—6 =-4y+8

Y=y = mx—xp)

y+2=-5(x-10)

y+2=-5x+50
5x+y—48=0

= x+4-14 =0

A ulleS(Bbg euenTUILILIL L (&53I5CHTL 1q.65T
Festun(h)

B(-5,-1),C(1,9)

smiey BC= 2221 — 9+1 _10 _ 3 10. Jsrared  Coppsmst LWTLHSSTLO60

N-x  1+5 6 3 (1, —4), (2, -3) wHYIS (4, —7) TP (PeneuLl
AD 1 BC, e1ed1Ligned yeteflsar @m CemGsream w&Csramsms
gnuie] AD = _?3 wHmid 4 (6, 2) MG TS ST (hs.
AD e1681) &S515CHM 1q 651 FLoevn(h)

Yoy = mx—x) A(1,-4), B(2,-3) womib C (4, -7) &lwiewt
1 1
3 |:| (p&5CanersTSH6uT (Lpem6sILt Li6TaNaT 616315
= y—-2=—=(x-6) -
5 AB-ulest gmiiey = SH4 1
= 5p—10 =-3x+18 2-1 1
= 3x+5y-28 =0 BC-Wilevt emiiey = _7+3=_74=—2
4-2
9. AABC-uleir (pewewsat A (-3, 0) B (10, -2) i
wimib C (12, 3) ererfied, A wpmud B-uNef\wiss) AC-Sgsr smivey = —/+4 = =2 =
w&Caremrgdler erFTussSSNEG auemTWL 4-1 3
U@ G535CsTLIgeT  FwaTUT(HSMmETS AB-ullett emiey x AC-ullest emiey = (1) (-1)
SIS, 43,0 —
gio: 25G6u, AB ez AC-5@ QemIGSSNGLD.
B(10,-2) C(12,3) ZA=90°
BC et smivey = Vo= N -4 S stes1Geu, AABC gy ez ClamGeanevt
Xy =X (10,-2) (12,3) (Pp&ECHTERTLD Y @GLD.
3+2 .5 T T T e P

= DewuN 5 11. 4 (-4, 2) wHms B (6, —4) steip Lereflsener

BC 1 AD PwemsEw  mwLWS  (GS5ZSCHTLIq 6T

2 . . . .
AD 6UI' EITU:IQ.| _ g A (_3’ 0) FLOGUTLITL_ 605 SHITCUITS,.
( Sireu: |

A4 (-4, 2) womibd B (6, —4) etedin Yeieflsenern
Bemewrid @b CaL g6 Fweaun(p

A WeSpibgl (p&Canessle sidliusasSns
euemTWLILL L &5&I6CaHML 1q 651 e

Y=y =m(;c—x1) _ y=2 _ x—(-4)
y=0 ==~ (x+3) —4-2  6-(-4)
5y = 2x—6 N y-2 _ x+4
- 10
2x+5y+6 =0 6

= 10y-20 = —6x-24
A(=3,0) C(12,3)
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%]
= 6x+10y+4 =0
= 3x+50+2=0 -—--(1)
QlemEIE58 FweaLn(h

5x-3y+k=0 ---(2)

gwern( (2) syeo181 AB-6v1 enowid euLlF
AEZNEAY:

446 2-4
AB—ufﬂGb"erLDu.IIJquTGfr]Z( 5 ’Tj

:(19_1)
L2Q)=5()-3-1)+k=0
=>5+3+k=0=2k=-8

Caemeuwnent gwesrun@ 5x — 3y —8 =10

skksk
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-\

(5 & TaRTEdILIcY

5 1DSWICILIGDISH 6T

2
1. cosec® + cot) = P eresfled, cosO = Pz —1
sraLms BenLlssaib. P +1
girey:
cosecO + cotd = P (1)
cosecl — cotf = % -—--(2)
1
(H+@2)= 2cosecd = P+ >
2
2 cosecl = P+l ---(3)
P
(1)-Q)=  2cotf = P %
2
2 cotd = il -——-(4)
P
P -1
2cotd P
4)/(3) = -
#/6) 2cosecl P +1
cotd _ PR-1
cosecl P +1
cosé i Pr—1
- X sinf =
sin@ P> +1
2
cosd = L —1
P’ +1
BlepLssliuL L g).
2. (cos’A—sin’4) _ (cos®A+sin’A)
cosA —sinA cosA +sinAd
=2 sinAcosA eretueng BlemUlssa)wb.
giey:
cos’ A—sin’ 4  (cos® A+sin’ 4
cos A—sin 4 cos A+sin 4

(cos A—sin A)(0052 A+sin® A+ cos Asin A)
cosA—sin 4

((cos A+sin A)(cos2 A+sin® 4 —cos Asin A)\
cos A+sin A
[- a*~b* = (a—b) (a*+b* +ab)
a*+b® = (a+b) (a*+b*—ab)]
= (1 + cosA sind) — (1 — cosA sinA)
=1+ cosA sind — 1 + cosA sind
= 2co0sA sinA

3. Udeteumd pnomr@menwsener BlemLissab.

sin*A+cos’4  sin’A—cos’A4 _
sinA4 + cosA sinAd — cosA4

@EI@ x = s5ind, y = cosA elevis.
sin® 4+ cos® 4 N sin® 4—cos® 4

sin A+ cos A

LHS =

sin A—cos A

Y = ty) (Pt y?)
X =y =(x—y) (F+xp+y?)
B (sin A+ cos A)(sin2 A—sin Acos A + cos® A)

sin 4+ cos 4
N (sin A—cos A)(sin2 A+sin Acos A + cos’ A)

sin 4—cos A
= sin’A — sinAcosA + cos*A + sin*A + sind cosA
+ cos*A
=2 (sin®A+ cos*A) (. sin*4 + cos*4 = 1)
=2 = RHS 61w HlemLisasLiLL L gy.

4. seoquiler 185 ewm yereflllellmbg 30
5 2 wpepeter  sULLSZler  Cueyerer
owm GCamyrsdlar o wOMWL 2 Ffufler
agnnsCaremrEiser (penpGu 45° wHmid 60°
aefled, GCamursdler 2 wrSmss sSrewrs.

(V3 =1.732)
AAPBed
TSSO
tan@ = — — F
3I(DSSI6TET LISSHD o
tan 45° = ﬂ
BP
1= 39
BP
BP = 308
ABPC udes tan 60° = B€
BP
\/g _ h+30
30
30 3 = h+30
h =303 -30
= 30(1.732 - 1)
= 30(0.732)

. Gamyrsdlest 2 wird = 21.960 15
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7]

5. emair SeameLw afilgnE Geuefluiled &
BlarniClsrent(H @b garareler 254 whHmid
3l SFlueunenn weonGu 60° wHmid 45°
SFw  gonECanemEsefled  srewtAmmir.
Siaufler 2_wimd 180 Q.15 Cueiid o _1q.65mH S
5 1§ Qzremevalled Sjeuir 2 afermi erevfled,
LeTaTellar 2 ILTSmes HTewTs. (+/3 =1.732)

1800 m

i LS 5ledbhbaI,
Shray: . 4 - elwnewd, B, B, - @ UL @6
h AP =1800 1§
E
) PB =y,BB,=x, PB,=x+y
AP
D o€ AAPB, -6d,tan 60°=
88| 5 Hiss e PB,
B A
55 . 3 = 1800
AC - Bpueufiesr @i g
EF — ggevievted, DF — o) = y. = @%ooﬁ@
LSS mBS!, P
EF=h,ED=x, DF =x +h. H AAPB, -eb,tan 30°= —
ACDE -ev, 11800
~ = = =
tan45°=£:>1=5°0 =>x=5 V3 xry
bc = Xty = 1800+/3
ACDF -eb,
o , = x = 18003 — 6003
tan60° = —— = 3 = 2% — 120043 i = 1200 x 1.732
DC 500
= 2078.4 18
= htx=3(5) B L GSEHsHE QeoLLILIL L HTTLD

=2078.4 5.

Sh=(5x+3)-5
7. sLILIeOS6T SeoEIsmy allersssder
=5[V3 ~1]=5[1.732 1] ﬁs‘:lﬂ&aﬂg}]ﬁ: sL_60led u:.lm'nb quﬂlmfw(?
=5[0.732] = 3.66 1§ 8w sLILe0S6efleSl (B3I SEVEISEDIT
eTeuTGer, gevterTedlent 2 wigd = 3.66 LS aflensagdlar 2 sfuilar gnnECaremTEISAT
-------------------------------------------------------------- peopBu 30° wHmid 45° oG, SHESHMT
6. 1800 15 2wrsgled UPEGL RO aflersasdear 2wmd 200 S eefled, Dm
aflorarsdleflmb gl CrSamauiled aflarorsms SLILIEVSEHEE PenL_CGw 2 ater QFTeneueneud
Curédls Qeeded @M L @S LMiTEsL srewis. (73 =1.732)
u@®&ngl. allorersdlellmbs m L (Gsamer
pennBw 60°wHmiw 30° BnséssCanerrmsefled
2 pm Curédlerred, Queni(h LI (GHEHSHESL
ReoLLLL LG Qzremeveneus SRS,

(V3 =1.732)

S6VmIGENT ellen&sL AB 616615.

C wpmibd D erevtLies (b SLILIOS6T Q)(H @D
B\L_migeT 616015.

Gueitb AB =200 18
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ZACB =30°, ZADB = 45° = 1343 +13
ClerICarewt (p&Ganewtd BAC-ev, — 13[ 311 ]
1an30° = j_B — 13[1 + 1.732]
| 20% = 13[2.732] = 35.52 8
Nl BTel BelmHI .. @rewt_neugy et 2 wigd = 35.52 18
AC =2003 (1) | 9- sLeflewr Bir wLULSSmBE 40 BLULB5E

QemGanewt (p&sGameswid BAD,-60

AB
AD
200
4D

AD =200
snGung CD =AC + AD

=200+/3 + 200

[(D), (2)eSlmbsi]
CD =200 (\3+ 1)

tan45° =

1

=200 x 2.732 =546.4
B sL1L605EHS5E QenL_Gwi 2 aiten |:|

Cgnemeve] 546.4 15 oy @Lb.

8. 1318 2 wipepsier o wrsHer 2 sAulIBES)
wHpTm wrsHler 256 wLOHIL jguiler

gOnSCarewTd  LHMID

pennBu 45° wHmib 30° eresfled, Brewt_maug)
wrsder 2 wrsmss sremia. (/3 = 1.732)

RS mps

~-(2)

Bn&55CsTemTid

13

giey: ) *
= b 45
y 30°
13
30°
B
! AE
ZAECW60, tan 45° = —
CE
L =X
Y
X =Yy
CD
ZBCDule0, tan 30° = —
BD
1 _13
3oy
y = 133

(1) mmg x=y= 1343
2 6ug) r&Slest 2wy
AB = AE+ EB

=x+13

~--(1)

GG 2_aTer e sHLLefler Cued LGSulled
Bleim Osrewtgmedln e@mer, Gerler
2 _&flepwi 60° THDSCaTenTSSeILd
Sigliugdleow 30° Qn&ssCsrenTSSed
srewElpnit eTeofled, sLLSlBHS GATMISHS
2_aTer QiFTensoenallLLd, (&Il 2 WFSemnSiL|Lb
snewis. (V3 = 1.732)

E
fey:
.
60°
A D
408 408
B 307~ ¢

X
AB-s1iued CE - @evim)
uLg8edmmba AB = CD =40 15,
BC=AD=x, DE=h, CE=40+h

AABC-e0 tan 30° = — = —==
B¢ 5
= x=40x 3 (1)

AADE-6 tan 60° = PE — 3 =
AD

= | >

— h=xx 3 =40 x 3 x V3 =1208
- @6sTdlest 2_wimd = 40 + 120 = 160 5
aLILedleN([BhE! &TNISHE QenL_Cw 2 6ier
Qg memevey

= x =40 x \/3 =40 x 1.732 = 69.28 .8
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SIGITESILIGY
A
A T 4. wm Carersdler ypuuTUy 154 F.5 erefled,
e Ml 236 afllL1b srewts.
1. 88 &.0&.5 euemeruriyemL W 6% GChireu L o
2 mewerllesr 2 wmd 14 Q&S  ererfled, ~ o
2 meneruilesr el L 1b srewis. CanonsS) 62 L:?UUUI"; =154 5.8
n =
o . : 4x 2 52 = 154
2_(HEneTullesT euemeTLITLILY 7
= 88 &.0&.15 P2 = 34 .7
2nrh = 88 4 22
_ 49
2X27—2><rX14=88(h=14Q&.u§') VZ—T
88x 7 7
ro= = ro= =
22 %14 >

2 mewemuilest el L1b = 2 Glg.15

2. emb 3 15 wHmbd eflLibd 2.8 15 2w em
[

Caneng et oyyd 1 = % 5

Carengdlesr eflLLb d = 718

o Carer angeu aueflisnentiqaer (balloon)

swaTUBHSSHID 2 Hemerews Glsreni(h 6
CarL b swaTuBSSLILB DG 8 HHMisefled

eTalaueTa) LITLIeNL 2 (Hewer &wer Clguiub? stHm 2 BUILGWOUTE oiFaT QT 12
Zier: Qz.5-eflmBg 16 Q&5 s 2 wmSng. D
S b d =288 ypLiuriysefier efldlgn srewrs.
S = 1.4 15 2 wmb A =3 15 Siey:
2_(HEDET (1 &HDHMIEO FLOTLI(HISSID LITLIL| 7, DHMILD 7, 616MIE 50 6VTTIq.68T Y TRISHET 616815,

= FOATLHISSID 2 (HeweTullest eueneTUITLIL| n 12 3

= 2nrh &.9160@S6 Z 16 4

=2 x 2, 14x3=264 e1e81Geu LmLiLrLiLsefesr elldlgLd

! am 2 (x) (3)

2_(HED6 () &HMIEO FLGTLIHSSILD =—L == = [_)
urliy =26.4 .8 azr, h LT’QJ 4

8 &mmis6fed FLELGSSILOL ClrggL _ 2
Ly = 8 x 26.4 =211.2.187 16

3. 704 5.0 Qurgsu ypiuray Qareswt_ e | o
sabLilesr oumid 7 Clg.iS erafled, oiper SMUWTD | 6. 2 wys 2 S wHDL SLTIY 250 &8

youiurliygseier eldlaw 9 : 16

SIS, Qsrewi_ @f 2 (pmemuilar saTIOTEAIS
e sresi.
FaLbLI68T GGG LymLILITLiLY siey:
= 704 5.6\g..5 2_Hemerullest gy rid HMID 2 wiFd (LpepmGul
wr(l+r) =704 7 LOHMILD /1 6T6vTS.
22 x7(+7) =704 BEiE, 2w =2 15, Sqringiy =250 g.15
7 704 6 2 (mHeweTullest s ey = 17 8.9
[+7 = = =32 _ ety *

[+7=32, [=32-7=25Q&.8 = 250 % 2=500 8

- smtbL et smUWITD = 25 Q&.u.S’ e1681Geu, 2 (Hewenulles sesiieney = 500 &.15
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7. @wm Ghir e L s sawbller sersierey 11088

2_(Hewemullest euemeTLITLIL = 211 &.60GS6

5 1LDSHWICLICHIBHET

5.61&..18 :%Qu'). a:anl_ﬂsc:r e wgd 24 Q&S — 22 14 % 20

aTafled, SiFT QY TID HTEWTS. 7

Zier =2x22x2x20
= 1760 Qlg.15°

FnlDLI6YT 2 Wy HmID LI, /1 bHMID »
616015

BEiE, h =24 Q&5

b6t Hevigieney = 11088 &.015.15

% wh = 11088

x 22 % 2 % 24 = 11088

1,22
3 7
P = 441
an1bLlest gy mid, 7 = 21 Q.16

B® FabLHEBHLW Sar Jeraisaflar alldlgw
2:3 oyew. PrewTLmd FabUlar 2wy W ed
sgabller 2 wrgenslt Gumed Pm wLEIEG
ereofled, jeunmier yrriseaflear allflgw srewrs.
gigey:

¥, h, e1eTLeT (P60 SaldLiledt YD LHMID
2_WILD 616Y185. 7', /1, 6T6VTLIEUT @)TEWTL_MMLD SmLDLTN6TT
ST WOHMILD 2 WITLD 616818,

OEiE), h,=2h, wHmibd

(P60 SnldUleTT Heiene) 2
BrewTL_MD FnlbLI6T S65T |66y 3
57[’/12}11 2
;ﬂ'rzzhz 3
L I
rn>  2h 3

2 1
i = i
r22 3
N\ 2
n B

2566, gy rEIsae alflgw = 2 : NE)

it 2_memer euigeul iumullest 2_wmb 20 Gz,
wHMID gLl b 14 Cle.S eresfled, iFer
ueneTUTLIL WHmib Grgsu LpUurLenus

STewis

2 memermullest 2 wigd /i1 = 20 Gl&..5;
STd 1 = 14 Qlg.18

2_(mewerullest GIonggL LymLILITLiL
=2nr (h +r) 8.900@S60

=2 x % x 14 x (20+14)

=2><27—2><14X34

= 2992 Q&..5°
25Geu, euemerupLiL) = 1760 Q&.187
QurgsLt ypriugly = 2992 Q.52

e 2 mmerlar 155 f QeL_ssewTLd
Smembgaurm SwbBES @M LereSer
(funnel) Quorgs 2 wmb 20 Q.15 2 menerufles
ewrd 12 Q&S wHmw ellLw 12 Q.5
G, PoLssemidler Cuoyn el b
24 Qeif erefled, yewellesr GleuaflliymL
UTLIenUS &6t (s, 12058

giey: I
9

h, wHmitd £, eteviLiest (pemmGuw Goos | &

BenL_SaHemTL LD LHDLD S—

2 _(HEn6TUIlesT 2 WIrLd 6T6315.

206518

12a6.15

R wommb 7 eT6vTLI6wT
BevL_saseuL_gdlesr Coed

OMID EPLILIM S TEISET 6T6818H. ——
Bre,

R=12Q&.8, r =6 Q&.15, 1, = 12 G&.15,
h,=20-12=8 Q.18

BeoL_saeuTL_gdlesr muyuirLd

I=(R-7)+h’ SIOG ST

= /36+64
/=10 Q&.5

QeuefMiymuLs Lyl
=2mnrh, + n (R+7r) | §.3160@& 61
=7 (2rh, + (R+r) [
=7 (2 x6x12)+(18(10))
=7 (144 + 180)

- 27_2 x 324 = 1018.28

eT6eu1@eu, Lyestedlest QleueMiiymLy Ly =
1018.28 &.6l&.18 <y L.
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3. 16 Q&uf yppeter eif 2 Geomal uBZ,
emasuUL® 2 Osif gyrweter  Am

UBSISETTEHSLILILLT60, 6TSSMET  LIHGISH6T
HevL_& @G ?

Siey:

Sndlw 2_GeonasLs LikgIs6Met cTevtTentNsens 1
6T6UTS.

Adlw woHpw Quflu 2 Ceorslt LIKbgseMe
S TEIST (WenmGW 7 HMID R 6T68s.
@EiE, R =16 Q&.18, r =2 Q.5

sHGung,
n * (e Sdw 2_CeoraLt LibSHlewT sevsyene) =
Quflw 2 GeoraLs Lkl Hevri6mey

n (iﬂr3j = i7'ER3
3 3

n (iﬂxfj = i T x16°
3 3

2p5Geu, Adlw 2_CeonaLs LBgIs6Mest
eTevtTensTiHens 512 oy @L.

4. sefloewtr Oarewi(y OFwwiulL 24 G&.S
2 WppeTer @@ bl WM GSYPhmd 65
SLTPETET eif 2_(Hememwirs; wrHmiFmg) eresfled
2_meneruilesr 2 wirid Srewrs.

galblilest 2 wipid 7, = 24 Qlg.15

8n = 4096 stee1@eu n =512 |:

2_(mHemermullest 2 wiyLd h, 616818 LOHMILD Y TEISET
FLoLd
2_(HEneTullesT S6s1|6m6

= gabLil6vT S6vT 66y

lnrzhl=nrzh2
3
1
3 x24 = h,
h. = 8 Q&.15

5. e senraCarersglar Gued e 2 etaf_HD
2 memeremwill QurmSSu  augeus Hed
SmBs @® Hevewsdler el 14
Q&5 wHmid 2w 13 CQF.5 aefled, Fer
Q&reTeraTENOIS HTERTS.

giiey:

Sienr&ECananslest gyyib r =7 Glg.15 =
2_(HeweTulles gy Tib

2_memenmullest 2 wird, i = 6 Q&.15

ungFrsSHlet sesiieney
= 2_(mHemeTuilest Sevi|emey +
OT&ECHMENSH6TT SH6v1 |66

=nr’h + % - = [h+§r)

—2X7X7X(6+§x7j 22 x 7 x 32

7 3
=1642.67 Q&.15°
unsSrsdes Qansiererey 1642.67 Qg.15°
6. mrger etewrp  GQumpfluflwed  wwewTeuT
ef 2 meeruiler  Q@BUDWL  FabUseT

e erereurm| rSlfl eeaTem 2 Heurssleurmir.
wrglflufler Berd 12 Q&5 wHmW ef b 3
Q.15 oG, aIarmp sawblear e wrew
2 Q.S QmS@GLTATTEd BTSET 2 (HeursHu

wrfufler serjemeneus srewrs.
s

8
2_(mewen: 2 2
el L1b d 3 Q& S, |
SLTLD r— Q& LS 12 em !

o WL h1 =12-(2+2)=80&.18
SaldL]: 3
SYIID, 7 = 5 O&.15, 2w 7, =2 Q.15
wrdlflullesr sevremey
= 2 (pewenuilest Sevi e + 2 FaldbLilevt
SHEVI 616

=7tr2hl+2l mr h,
3

= 12 [h1+2lh2]

2,338+ 2, x 2]
7 2 2 3

_2 9 e

=5 /([ ]
99| 26

= 22|22 =33 %2
JZal.4

=66 5.015..5

BTSN 2 (HeunsSlw wrdlfufles sesriene) =
66 5.6\g..5
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7. 12 Q&iS gprperer eif SIlesflus Csmerd
emesuULB 8 QslS Syrepeter et
2_(pewerwuns rHoLuBEing. 2 meneTullesr
2 WD STewwTss.

gieu:

Canrengglest oy yid 1, = 12 Gl&.15

2_(hemenullest b 7, = 8 Clg.1f

2 _(HEn6ullesT S6s1 . 6me

= Ganengdlevt sev1o|eney

N
(98]

3
4 3
3
4x12x12x%x12

Ix8x8
=36 Ql&..5

. 2 mewenullest 2wy = 36 Gl&..5

el b 14 Q&.5, 2wyd 8§ Q&5 2 emLw
owm Slewio CriaLs eIt
2 erefL_pm Careriors 2 @mwrHOLUILHEDS.
Carergdler Geueflali b 10 Q&5 eresfled,

2 eralll L Sngs srevwrs.

SalbL],

Sirey:

Fablllest IL_L1b d = 14 Q&.15

b = 7 Q&.18, 2w 7 = 80l&.15

2 aefL_pm Carengdlesr Cleusilail L Lb

=10 Q&.15, R =5 Q&.15,

o el L1bd="?

2 _aefL_pm Carengdlesr sevriane) = gndLiles
&H6VT 6116

4 (R = Ly
3 3
i1t(53—r3)= lnX7X7><8
3 3
1253 = TXTx8
4
125-7 = 98
Po= 27
,,.3 — 33
r =73
Carengdlesr 2 emellLb = 2(r) = 2(3)
= 6 Glg.15

}

9. 484 Q.S amHmerajeter @M LI&HFabLileT
euwgd 105 Q&8 eafled, sawlar ser
S|6TEMEUT SHITETTS.

Sirey:
galLlesr 2 wipd = 1056115
ammene| = 484 Glg..5

—  2mr =484
oox 22 =484
= AT 058
222

.. SaldLI6YT Hevi |66 = % nr*h

22
X

% < 77 % 77 % 105
652190 Q.57
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N
yerrefilieuiid 58105 & LD

5 1DSWICILIGDISH 6T

1. 24,26, 33, 37,29, 31 gdlweudnlet
wrpurLHis Cl&(meaus STewTs.

Sieu:
X d=x-% &
24 —6 36
26 -4 16
33 3 9
37 7 49
29 -1 1
31 1 1
180 2d=0 112
grngfl = 5 = 2 _ 180 3
n 6

S L elevssid
2
R % — 1866 = 4.32
n

LT (H&6l&(1p

o x100%=% % 100% = 14.4 %

2. 8 wremTauirseaT @ Brafled af_HILI LTFmZ
WRUUsHE aHiSSHS OsmaTEpn ST
Siereyser  (Bl_misefled)  Ulereu@mommy
QsrssuuL(eTengl. 38, 40, 47, 44, 46, 43,
49, 53. @ggrailer wrHUTL{H& CsHamaus
SIS,
giey:

OCar@sasiul L aleursems eaml euflensulled
s1paIs. 38, 40, 43, 44, 46, 47, 49, 53

X d RIYK d
38 —7 49
40 -5 25
43 -2 4
44 -1 1
46 1 1
47 2 4
49 4 16
53 8 64
360 2d=0 164
gynafl = x = Zx _ 360 =45
n 8

S aflevssd

2
o= |2 - %:«/zo, —4.527
n

LT (H&6l&(1p
4,527
4

= Z % 100% = x 100% = 10.07 %

3. @@ BrewTuL epaTm (P HewTL-LILHEIDG!.

sfluns S revr(p FENEVS6T 6060

GODBSULED @O L Siv0sl SOS5058!

Brewi(® SHEME0G6IT HevL_LILgHs e

BSHSaHmals STewnTs.

S={HHH, HHT, HTH, THH, TTT, TTH, THT,
HTT}

n(S) =38

A = gflwns 2 seme0 HlevL_s@LW Hlapas
6T60TS5.

A = {HHT, HTH, THH}

n(Ad) =3 = P(4) = %

B = @eonBhsULFD (5 L, HenL_&@Ld
BaLp&FS eT6v18.

B={HHT HTH, THH, TTT, TTH, THT, HTT}

7
n(B)=17=P(B)= ¢
C= 3055058 2 606 SlenL_&@Ld
BlapES eTetis.
C= {HHH, HHT,THH}

n(cv=3:»P(C)=§

; P(BmC)=§

2
P(ABAC) = 2

P(AnB) = %
P(AAC) = % :
P(AUBUC) = P(4) + P(B) + P(C) — P(ANB) —
P(BNC) — P(ANC) + P(ANBNC)
3.7 .3 3 2 2 2
=2+ + +
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4. A, B, C ereviuen esCzed ewerm) Blspsdlser.

Cueid B e Lugharer Blepssea A-er
Blawpgamalll Cure QwLEiIsTsauw, C
e Lugnarer Klepsse 4-g afl (y)sifrmj
LEISTSa|D 2 arerer. Coew P(ANB) = —,
1 1
P(BNC)=—,P(AC)= —, P(ALBLC)= — ,
(BNC)= 5> PANC) = o, PAUBUC) = T

P(A~BNC) = LS eresfled, P(A), P(B) wHmid
P(C) -5 srevrs.

P(B)=2 P(A) ----(1)
P(C)=3 P(A) etev15. "m(2)

_1 _ 1 _1
PUNB) = =, PBAC) = 4, PUNC)= .
PMU&XDzﬁrPMm&%W:%

— P(AUBUC) = P(4) + P(B) + P(C) — P(AnB)
_ P( BAC) = P(4C) + [
P(AnBNC)
9

:IB=PM)+ym®+3HA)

:>i:6P(A)— 4+6+3) 1
10 24

9
=2 —ep)-3 + L
10 2% 15

6Py =~ + 13 L

10 924 15
— 6P(d) = 216-16+130
240
30 _33 11
240 24 8
11 1 11
=>PA)=— X —=; P4A)= —
“) 8 6 “) 48
11 11
=PB)=2%x — =—
()= F(B) 48 24
11 11
2D)=>PC)=3%x — =—
) © 48 16

*k %k
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OIra allITHBHIaT - eriiyed 2023
eu@Liy: 10 sewflgLd
&6V 3jermey : 15 Bldl_1b + 3 wewsl w6 uesTgeT : 100
Siflejenr:

1) siemensg ellesmsasend sfluns &l udleund) o_erenan seiLiGemen FfUMTS S ClamatareayLb.
SFaLindlailed GempullmLitle emns sewranesiliunemfiib 2 L emgwins Qgfalssawb.

2) Beold 36060g SH(HLIL enwullenest L HIGL 6WPSIISHESD 3iiq&5CaMHieusNESL LweTLIhSS
Gauem(Hld. LIL_EIZ6T uenFeugn@ clLeSled LwaTL(HGSe L.

eiluy: i) Smarsg eflamsseps@w el weflssayw. 14x1=14
ii) Gasr@&ssuuL_(heter wrHm efllwLsafled Waaw giyemLw elmLmwus CsibozsHSSS
GIULOLear el uilmearyw Carsg eripgayw.
1. A={a,b,p}, B=1{2,3}, C={p, q, 1, s} eresfled n[AUB)*B] sy eurg:
3 8 <) 20 @12 /) 16
2.  n(A)=p, nB) = q aafled A -ulleflBBg B -5@ FlenL_s@w Qwrsg e-pasaflear aentenflsamawurearg

30 <) 1 @H2ri—1 ) 2P

3. Fi=1LF,=3wimw F,=F, _,+F,, etens ‘.E O&suuger, Fs operg:
3D 3 &) S @8 /) 11
4. t, ty, t; ... TRTUZI R Fal_HF QASTT euflewes ereufled, tg, t)y, tig, ... TATLG:
) @@ CUmHEBEGHS QBT auflens ) 6 TS QT auflens
@) @@ L (S CaTLi euflenawwedev, CLHSEGHS ST auflengu|eoe0
) (1 Hledls QG euflens
5. -3 Ty -27 eTETLIG):
y 3y
9y 9y’ 21y —42y+21 Ty =2y +1)
) — Ay A ) —- 2 7
)3 <) (21y=21) & 3y’ ) y?
6. @@ BmUL FLSTUMLIGET QIETLLLD 5 .
1) CrisCan@ &) euLL 1D @) ureuemeTuILD ) QiFlLTeuenenuLd
AB B
7. DE % eresfled AABC wmmis AEDF erliQumpg) eugOlaurssenauwins gjenowjib?
o) [B=[E <) |A=|D 8 [B=[D m) [A =[F
8. aLLsdlar Osr@CarHw IisaT YT CFEIGSSTS Sjenown L Lb:
S|) mwwLd <) Qsryeief 8) wrgeled ) BT6UST
9. X-9FH&E CFRIGIHTE 2 ater CHTSCHTL 1.6 FTileay:
) 1 <) 0 @) ) —1
10.  sind = cos0 ereufled 2tan’0 + sin’0 — 1 -evr WLy
3 3 2 2
2 -z = ) — =
31) 5 ) 2 ) 3 ) 3
11.  gymbd 5 Q.5 wHmibd Frywrw 13 G&.15 2 amLw CriaL L& sabLiler 2 wyb:
3) 12 Q&8 <) 10 Qg8 @) 13 Qe.8 /) 5 Q&5
12. swwrer afl_Lib wHMID 2. WKL 2.LW @F 2 mHeeT, I Saldl LOMID oW, Csrergler sHer
Sisraysafler alldlgib:
s)1:2:3 <)2:1:3 @1:3:2 m)3:1:2
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13.

14.

GIui L sreyl yereflseflar sn@ged wHmis syrefl syfluene wenmGu 407 wHmd 11 erefled,
graju Leteflaefler srewtewflaenaswmeg:

o) 37 =) 4477 8) 396 ) 418

S EIHlev TS ZIF6T (2, b, ....., Z) -eBHESI R TS FwaumiiLiy wenpuiled Cxie) CeuLLBIHDF!.
SIBS TSI X -6 Whwgw awssisafle) paiprs YoLusperer Blspsse:

12 1 a2 3
D 73 <b) 13 ) % )

26

GMILL: eremauCuggid 10 aflerrssens@ allomweflss. allarr aen 28-8@ s_Lrwwrs el weflssab.

15.
16.
17.

18.

19.
20.

21.

22.

23.
24.

25.
26.

27.

28.

10x2=20
B xA={(-2,3),(-2,4),(0, 3), (0,4), (3, 3),(3,4)} etexled A wmmid B gy Hluwieumenms srevwis.
fof (k) =35, f(k) =2k — 1 etetlev k -6 ol 1emLId snewsis.
x+ 6, x + 12 womud x + 15 eteviuest e CQLBSEGHS QOSMLiT euflensullesr Clgm_f&Swinest epesimi
2_MILILSET 6T6vTl60 X-63T oSl IenLIS SHTeswis.
x+2 | X —x—6

C12)?
Kesreumd @ mHUIgé FLOESTLITL 1 68T ppevmiseTlep-Beremoemwis srewis. 2x> —x — 1 =0
uL5led AD ereviuig) ZBAC -ullest @mawblepLliquwin@d. AB = 10 Glg.15, AC = 14 Q&5 wnmyw BC
= 6 Ql&.15 et6vled, BD wpmid DC -g8 snesiask:
A

&i(H&(G5.

6 cm
QR Lhewer Xy sensdled (—6, —4) etevim Leiefluiled 2 etengy. (5, 11) etedim Leiefulled ep(h LIM6d LjL iq.
oeusSLILIL (D6Teng). Lhewen Wlad @muSlw grrw Lwewisgt uned ihbsd el@mwySng e,
LmemeVL! LIh&GeuSn@&s Caemeuwwimest Limensullest FLOGITLIMNL 60L& SHTeutTs.
12y = — (P+3)x+12, 12x-T7y = 16 g dlw Cri&Carsen emmnistsneim oamn @sg) eresled, 'P' -ulle
wSlLIeMLIS SHTesTs.

secd sin@

— te . . .
sind  cosp oLl eeiLems Blem L1856, LD.

Hegrenens Oarewi(h 7 S rEpw, 24 15 2 WHpL 2L W QU Faldl QlqelsH Fnl ML
2 (HeunssLILBSDgI. ClFaiaus alqeais SEsneler seob 4 L5 616860, IS LD SHTews.

B Canemmissiles g rmser eflldlgwn 4 : 7 eefled euniles seor SyeneyseileT el srewrs.
Qar&sLILL L Sra|l LsTelsensd efFa wpmib efFas Clapemeais srews.

63, 89, 98, 125, 79, 108, 117, 68.

A vpnid B opflw @ eflewtesriiugnriaet [T -ulled Careugnanss srgsHmLLeiser. Qeugeied
A Gaib0shsslL@eusnanes Blapssey 0.5. A wpnibd B @@meumw Caibls®ssiu@eugsnane
Blawpssey 0.3 sefled, B CsinolshsasliL@eugnanes Hapgsea) 0.8 e HlemLlsseab.

p? x q' x r* x $*=3,15,000 etetrmeunmy emLowjibd 6168l6d p, q, I LHMID S SpHweupBlesr LI semens
SHTETTTS.
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GPILIY: TemauCueyd 10 aflerrss ems @ allenweflésalb. aflerr et 4 2-8@ sL_LTwwrs aflsLweflssa)b.

29.

30.

31.
32.

33.

34.

35.
36.

37.

38.

39.

40.

41.

42.

10x5=50
f: A — B etesip enjunesg f(x) = z_ 1, erevt eusmTwniSsLILGEDG. @EiE A = {2, 4, 6, 10, 12},
B=1{0,1,2,4,5,0} =5 @mé@w Cung eniy f -2 Weteumd (penm&eied @nlésea]b.
(1) eufleng Camgaeiesr sewrd (ii) L euenewwr (iii) SUSEGM UL D (1V) euewrLLLD
@ ogmallaister aT(DoHEHHE 1 (P60 49 euenr CIFTL_TES WSS 5560606551 euPEISLILIL (H6ToTg).
Oendledlerr el qun@ (pevienigns 2 eten af(Hsaller sgalessnsalar gl (g Clgramsawnerg
RQengledls af1gn@L Letengns 2 sren af(haaler ssalovssrisailea gl (Hd Caramas@Gs Fowb
e168led lFhSedlesr aTL (H& s56al6055558 SHTEwTTs.
5+55+555+ ... 61681 QBT euflengullent (PFHed N 2 MLiIL|S6eM6wT Fn (DGO SHTEwTs.
Saanemid epein) widlselled Siemwhs eHEIsmL Crilwed FwaLT B QT EGLLGameT &i&Hs.

3y

x+20=7 +10=2z+5=110 - (y+z)
529 b7

A= (1 ) 8} P B=1|1 2 | etetflo0 (AB)T =BTAT 6'T6'6.'I'IJ6'6)Q')3‘ Elﬂurﬁ]’é;&mﬁ)_
5 -1

P ST @ew_Oleuslulled 'a’ 5L L wpmud| 't LT 2 wirpsiten Breswi(n Srevtigs 2 6enewt. i
ewviseet 2 FSulledlmibg s1HCTwemen Grewwagiqe oilq 8@ euenTwiL(b CarasT Fhdle@GLw

ab
a+b
Ganever @(hEwoleuL g CanmEens e1(pd) BlemLlssab.
(8, 6), (5, 11), (-5, 12) womid (4, 3) Hw Yerefaener (pewemaemas Clemewi BIMHaTSHHeu

LTLI68)LIS SHT650T5.

Leefuflest 2_wirionevtg B LT sTetTLIEnS HlemLiG&6 L.

Tx = 3y = =12, 2y = x + 3 ydw CriaCar@ser shdlegn Letal eufl ClFsieugin X-oi&686E
Benemnesigionest CniT&EGHIL 1q.68T FLOETTLIML L& SHT6wTs.

Q@ seomsamT allensssdler 2 FulledmHhg eHC TS LssEIsiled 2 oo Grewi( sLiLedseT 30°
wHnibd 60° @n&ss Cateamgdled LMfssLLOSlames. seomaar allarsasdler 2 wrw 'h' 1S. @
SLILISVS6IT LOHMILD HEVEISHENT eSSBS 68 3)iq L1LIGS %@z_lmsu 07 CrT&GaM1q.60 jemLodleimest
6168160, @rewt(H HLILIVSEHEE QevLLiLIL L ClgTeneve, N 5. o651 HlemLS &6 Ld.

i 2 mHememuilest gyTid wHMID 2 wrEiseiler elflsn 5 @ 7 oy @Ww. ser euswerurLiy 5500 &.01&.15
6163160, 2_(HEmaTuTlesT YLD LHMILS 2 UIFLD ST6ETTTS.

D6 Ferig GO WL aflipralng@ 150 BUTS6T SEIGEUSDE QR(H FalTID HEOWLEIDTT. dnl_MTSHSHlewr
SlqliL@Gd) 2 meven augailein CupL@Gd) gnbL eugele)d 2 6Tengl. meT SEIGusSNE 4 &.15
Slglin@gdl urtiyw 40 &.15 smpnib CaemauliLGEng). FaL_Tr5Hle 2 (Henetullesr 2 wirbd 8 LS eTeled
SnlbLI60T 2_WITLD &T6u0Ts.

Brewi(h Ernevt LaewLs6T (pewpwins Cr CrrsSHled 2 HL L LiLSlemest.

(1) @rew(® usemLs6iaibd Cr(ps LI HenL_&s

(1) (& LI saMeT CILIHESBHLIVETT LIS 6TEsTEuTTS HlewL_5d

(ii1) (& LI sMNET Fn(DG60 LIS cT6wTERTIS SlevL_&d

(iv) s wéllyseiler anzed 1 e mHss

A={xeW/x<3),B=xeN/1 <x<5)wpm C = {3, 5, 7) etefled A x (BUC) = (AxB) U (AxC)
CTVTLIENSE FHlLIMTSHS6LD.
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GOILL: Smarsg allamssens@ allwLweflssa)b. 2x8=16

43. =) 4 Q8.5 gueTeT euLl L LD euenThgl, SiFe enwwSSHedlmhg 11 ClF.15 Clgreneuailepiemer e
yeefenwd @GNsal, SLiyetefulledmhg eul L s8N Qrewi( CstCar(hsem euenrs.

(S1606081)

<) Sigliussd BC = 8 Qg5 LA = 60° wpmin LA -6t @ gwbleuqwinesigy BC -g D eresim
yetefufled BD = 6 Q.15 eresimeunmy siladmg steled, (p&sGanewiio ABC suemrs.

44. o) eaifafler QeueaiCeun eme seMed 6 UL L RS UMTHSTET. L L euenessrulled 2 eTereumml,
eealbleunm el L Sdlesr el L SFn@w, g6 anpetalh@n 2 e Cammus CETLiLsE
(1 UETLILLD euenTuwa|b. Jigenen LeL(hsd) el L onesig) 6 Q&5 o8 Qme@w Cung
QUL LS8 HDDeTeneus SHIeusTs.

el L1b (X) Q&.18 1 2 3 -4 5
apmerey (y) &5 3.1 6..2 9.3 12.4 15.5
(Si60605))
Q) V=x"—5x— 6 -1 euOTLILLD uemTTHSI, iFenertlt LweiL(BSS x° — 5x — 14 = 0 651D
FLOBTLMNL_6OL_5 &T&HHea L. |:|
* kK
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